SAMPLE TEST PAPER (STP)

For RESOFAST by Resonance Hyderabad I N D EX

Target: JEE(Main + Advanced)

S.No. | Contests Target page no.
1 How to prepare for the Resonance Forward Admission & Scholarship Test (Resofast) ResoFAST 2
2 General instructions for the Examination Hall ResoFAST 3
3 Syllabus for ResoFAST ResoFAST 4
: Sample Test Paper-1: For class Xth appearing / passed students (moving from ] i
class-Xth to class-Xlth). For the students applying for course X| JEE(Main + Advanced)
Sample Test Paper-1: Answer key & Hints & Solutions: For class Xth appearing /

5 passed students (moving from class-Xth to class-XIth). For the students applying JEE(Main + Advanced) 19
for course X|

: Sample Test Paper-2: For class Xlth appearing / passed students (moving from -
class-Xlth to class-XlIth). For the students applying for course X]| JEE(Main + Advanced)
Sample Test Paper-2 Answer key & Hints & Solutions: For class Xlth appearing /

7 passed students (moving from class-Xlth to class-Xllth). For the students applying JEE(Main + Advanced) 31
for course X||
Sample Test Paper-3 : For class Xllth appearing / passed students (moving from .

8 . JEE(Main + Advanced) 36
class-Xllthto class-XllIth). For the students applying for course X|| +
Sample Test Paper-3 Answer key & Hints & Solutions: For class Xllth appearing /

9 passed students (moving from class-Xlithto class-XIlIth). For the students applying JEE(Main + Advanced) 45
for course X|| +

10 | Sample ORS Answer Sheet for Forward Admission & Scholarship Test (Resofast) ResoFAST 50

The sample test papers are only for reference and guidance. The sample papers given in the booklet are actually the papers of previous
year's Resofast conducted by Resonance for its various courses.

Note : Resonance reserves the right to change the pattern of selection test ( ResoFAST). Pervious year papers do not guarantee that the
papers for this year selection test will be on the same pattern. However, the syllabus of the test paper will be equivalent to the syllabus of
qualifying school/board examination and as given on page no. 4.
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About ResoFAST:

ResoFAST (Resonance Forward Admission and Scholarship test) is a knowledge and aptitude test which is
conducted by Resonance Hyderabad centre in order to reach out, spot, reward & nurture talented students
from across telugu states and aid them in fulfilling their career aspirations.

For an aspiring student ResoFAST would provide bench marking along with a real world feel of competitive
spirit. It helps the student to showcase his/her talent in competitive exam pattern which will boost his/her
confidence to perform well in future competitive examinations & make way for a bright career ahead.

Every year ResoFAST filters the best talent through rigorous testing and has set examples of transforming the
top performers into top rankers in different competitive examinations. ResoFAST from Resonance Hyderabad
Centre welcomes all the students with a more refined structure and far more merit Scholarships and cash
prizes than ever. So take your first step towards a better future, Take ResoFAST now to explore, prove and
reward your talent!

Who can attend ResoFAST?

Students currently Studying 10th Class (Moving to 11th Class) will be eligible to write ResoFAST exam.

How ResoFAST will help you ?

= Student will get a comprehensive report, covering all domains in terms of subjects and aptitude,
along with areas requiring improvement & percentile score.

= ResoFAST will evaluate your Analytical Skills & guide you further to improve upon.

= ResoFAST will get evaluation of your 1Q specifically for NTSE, KVPY, various Olympiads, NEET, JEE Main
& JEE Advanced.

<« Get general evaluation of your Analytical Skills required for success in various other careers & life.
<« Have a clear & personalized picture of your subject preparation concept wise.
<« Get an insight of where you could have been & what your scope of improvement is.
< Know what you can do to get desired & deserved performance in each
of your target exam
+ Know your subject wise relative standing at the state Level.
« Qualify for a Resonance Hyderabad Classroom / Integrated School Program or Live Online Classroom

Program

Examination Dates:

5th' 12th' 19th & 26th
December 2021

2" January 2022

FORWARD ADMISSION & SCHOLARSHIP TEST

Only for class X
BY RESONANCE HYDERABAD Studying Students
20 CRORE WORTH 15 LAKHS Y, 500+
MERIT SCHOLARSHIPS* CASH REWARDS TOTAL PRIZES
v Up to 100% Merit Scholarship v Cash Rewards v Online / offline mode test option
v Know your potential in v Live chat with [IT/NIT/Medical
competitive exam pattern students of Resonance
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ResoFAST STAGE 1 PROCESS:

This exam will be conducted both in Online Mode (Home

based test by using own device (PC/Laptop/Mobile) and

offline mode at selective centres. This exam will be

conducted on 5th, 12th,19th, 26th December 2021and

2nd January 2022.

= Online Exam dates and timings : 5th, 12th , 19th, 26th
December 2021and 2nd January 2022. Students can
give the exam anytime during the login window (10:00
AM - 7:00 PM)

<« Offline Exam dates and timings : 5th, 12th , 19th,
26th December 2021and 2nd January 2022. Exam will
be conducted in two time slots and student will have
the flexibility to choose time slot as per availability.

Morning Slot : 10am- 1pm and Evening Slot : 2:30 pm - 5:

30 pm

Last Date to apply : 3 days before the exam both for

online and offline mode.

REWARDS FOR STAGE 1:

« Selective students will be offered scholarship UPTO
Rs.55,000 in the coaching fee in respective
Resonance Classroom/Online Courses for Academic
Session 2022-23 as per the below mentioned chart

= Students who score 250+ Marks in stage 1 will get
Rs.60,000 scholarship in the tuition fee and also get
eligibility to write Stage 2 Exam which will provide
Cash rewards and additional merit scholarship on
coaching fee

< Digital participation certificate will be given to every
student.

= Top three students from every school will get
trophies and physical certificates

How to apply for ResoFAST?

Students who want to apply for ResoFAST can
login to www.resonancehyderabad.com and
apply by paying registration fee.

= Rs. 300/- per student - Payable Online using
our secure payment gateway using Internet
Banking, Debit/Credit card or any other online
payment service you can also register by
visiting any of Resonance Centres in Hyderabad.
« Registration Cost is "FREE" for the Students
from JNV, KV, ARMY & Government Schools.

< You can also contact with ResoFAST Co-
ordination Cell for Registration Assistance on
9121219858 (9 AM to 7 PM)

ResoFAST Stage 1 Merit
Scholarship Chart

S.No. Stzg:‘:l:éggre MeritASnfgz:‘a;rship
for 300 Marks
1 Upto 100 -
2 100 to 130 15,000
3 131-150 20,000
4 151 to 180 25,000
5 181 to 200 35,000
6 201 to 220 40,000
7 221-230 45,000
8 231 to 240 50,000
9 240 to 250 55,000
10 250+ marks 60000+ eligibility

to stage 2

ResoFAST STAGE 2 PROCESS: ResoFAST Stage2 additional Merit Scholarship

Students who are appearing for ResoFAST Chart as per Stage 2 Scores

Stage 2 will have to write an exam which
will be conducted in Offline / CBT mode at
Resonance Hyderabad campuses. Followed
by that students will also have to attend an
interactive session with Reso faculty and
academic team of Resonance. Based on
score in this Stage 2 student will get
additional Merit scholarship in coaching fee
and top 500 students will get Cash rewards
as mentioned below

S.No

—t

© o0 N o a » W DN

ResoFAST Stage2 Score for Additional Merit
100 Marks Scholarship
Less than 30 0
30 10000
40 15000
50 20000
60 30000
70 40000
80 55000
90 65000
100 77000




CASH REWARDS FOR TOP 500 STUDENTS: ResoFAST Stage 2 - Cash Rewards-Top

Top 500 Students of ResoFAST Stage 2 500 Students - Total 15 Lakhs Cash Rewards
will get rewarded with cash prizes as
per the chart mentioned below. Top

Ranker of ResoFAST Stage 2 will get 1
Lakh Cash Reward and total cash L 1 1 LY
rewards worth Rs.15 Lakhs will be given

S.No Rank No of winners Cash Reward(Rs)

2 4
to 500 students. 2 to 5 50000
3 6to 10 5 25000
4 11 to 20 10 12500
CONDITIONS FOR PRIZE:
5 21 to 50 30 7500

1. The Cash Reward will be given only to
those who will take admission in 6 50 to 100 50 3500
Resonance Hyderabad in session 2022-23.

2. No Award/Prize Money shall be handed
over in person to any of student's 8 200 to 500 300 1250

7 100 to 200 100 1750

relative/guardian or his/her
representative in any case.

3. A student has to produce required
documents to claim the Prize Money (as
required by Resonance).

4. Students using unfair means to enhance
the performance shall be disqualified
from ResoFAST & future Editions of the
event. The refund of participation fee
etc. shall not be applicable in this case.

5. Tie Breaker Rule: If Students secure
equal aggregate marks then higher rank
will be given by comparing subject scores
in priority of Maths, MAT, Physics, and
Chemistry & Biology. If all subject scores
are also equal then lower age student will
be given higher rank.

6. Mode of Prize: Only by RTGS directly in
Parents bank account.

7. ResoFAST Stage-1 is for Scholarships
Only.

8. ResoFAST Stage-2 is for Scholarship and
Cash Prize Only.
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How to prepare for the Resonance’s Forward Admission & Scholarship Test ( ResoFAST )

® For Class-X appearing students (Class-X to Class-XI Moving):

Study thoroughly the books of Science (Physics & Chemistry) and Maths of Classes IX & X. (NCERT &
Respective Board)

For Class-XI appearing students (Class-XI to Class-XIl Moving):
1. Study thoroughly the books of Physics, Chemistry and Maths of Class XI (Respective Board).

Refer to the following books (only Class-XI syllabus) to increase the level of competence:

For Physics : Concepts of Physics by H.C. Verma Vol. | & II, NCERT Books

For Chemistry : NCERT Books(XI & XII), A text book of Physical Chemistry (8" Edition), Shishir
Mittal, Disha Publications, Concise Inorganic Chemistry, J.D. Lee, Wiley-India Edition, Vogel's
Qualitative Analysis for the JEE (7" Edition), G. Svehla & Shishir Mittal, Pearson Education,
Organic Chemistry: Clayden, Greeves, Warren and Wothers, Oxford University, A guide book
to Mechanism In Organic Chemistry (6" Edition), Peter Sykes, Pearson Education

For Maths : Higher Algebra By Hall & Knight; Co-ordinate Geometry By S.L. Loney ; Plane
Trigonometry By S.L. Loney, Problem book in high school by A.l.Prilepko

For Class-XIl appearing wstudents (Class-XIl to Class-XIll Moving):

1. Study thoroughly the books of Physics, Chemistry and Maths of Classes XI & Xl (Respective
Board).

Refer to the following books (Class-XI & Class-XII syllabus) to increase the level of competence:
For Physics: Concepts of Physics by H.C. Verma Vol-| & I

For Chemistry: Physical Chemistry By R.K. Gupta, Organic Chemistry By Morrison& Boyd,
Organic Chemistry By I. L. Finar, Inorganic Chemistry By J.D. Lee, Objective Chemistry By  Dr.
P. Bahadur

For Maths: Higher Algebra By Hall & Knight; Co-ordinate Geometry By S.L. Loney; Plane
Trigonometry By S.L. Loney, Differential Calculus By G.N. Berman; Integral Calculus By Shanti
Narayan; Vector Algebra By Shanti Narayan ; A Das Gupta (subjective).
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GENERAL INSTRUCTIONS IN THE EXAMINATION HALL
(udenm w97 @ foag |y AR 9n)

1. This booklet is your Question Paper. (I8 gRd®I ATUHT -9 &)
2. The Question Paper Code is printed on the top right corner of this sheet. (IF—43 ®IS 39 U & HW I B A

DU B3 B)
3. Blank papers, clip boards, log tables, slide rule, calculators, mobile or any other electronic gadgets in any form are

not allowed to be used. (ATell BTG, fFeU 16, TYTUR AR, IFASS e, hodeley, AlGZ AT A (B gelae1-1H
IYHIT & B ff SU H STATT B 3 T R)

4. Write your Name & Application Form Number in the space provided in the bottom of this booklet. (88 g3 P A
& T Raq w9 # YT M T MAe BIH G&AT AT 1)

5. Before answering the paper, fill up the required details in the blank space provided in the Objective Response Sheet.
(Ue-UF B BT W Usel,ORS-¥e # &y " Red wIHi # gg I fJarvll &l W)

6. Do not forget to mention your paper code and Application Form Number neatly and clearly in the blank space

provided in the Objective Response Sheet (ORS) / Answer Sheet. (STR—gRd&T ¥ & T Ra o 9 U gea—u=
HT IS T YT KA B HE T HY § WA A7 4o

7. No rough sheets will be provided by the invigilators. All the rough work is to be done in the blank space provided in the question
paper. (FRIET® & RT @5 B Jic &1 &1 SIRAN | X% & Te9-03 # U T TWiell ®IF § & 1 8)
8. No query related to question paper of any type is to be put to the invigilator.

(FRIeTd o Te-—u9 9 gHd B ISR & dig g9 A1 W)

Question Paper Pattern & Marking Scheme (¥2—93 &1 Ur%Y U4 3i®+ AroiT)

9. Marks distribution of questions is as follows. (Ue=i & UTQi®! &1 faaxo f1 UBR | 2 1)
FOR COURSE: CLASS XI(Currently studying X class) Duration: 3hrs
Marks to be awarded
S.No Part (Subject) Nature of Questions Noiof
e ) Questio | Correct | Wrong | Total
ns
1to 50 PART-l (Maths) Single Choice Questions (SCQ) (daa T fawea w ) 50 3 0 150
51 to 65 PART-II (Physics) Single Choice Questions (SCQ) (daa & famea | ) 15 3 0 45
66 to 80 PART-Ill (Chemistry) Single Choice Questions (SCQ) (#aa tw e ad) 15 3 0 45
81to 100 | PART-IV (Mental Ability) | Single Choice Questions (SCQ) (Fa & v ag) 20 3 0 60

Total 100 300

FOR COURSE: CLASS XlI(Currently studying Xl class)  Duration: 3hrs
Marks to be awarded

S.No. Subject Nature of Questions (_:L :s(t)ifo Correct Wrong Total
ns
1to 40 PART-I (Maths) Single Choice Questions (SCQ)(®ad ta famea %) 40 3 0 120
41 to 60 PART-II (Physics) Single Choice Questions (SCQ) (37 & famsa |g) 20 3 0 60
61 to 80 PART-IIl (Chemistry) Single Choice Questions (SCQ) (®aa wa famea aLl) 20 3 0 60
81 to 100 PART-IV (Mental Ability) | Single Choice Questions (SCQ) (@da v& fdwea |8) 20 3 0 60

Total 100 300

FOR COURSE: CLASS XII +(Currently studying term) Duration:
Marks to be awarded

S.No. Subject Nature of Questions No- o.f
Questio Correct Wrong Total
ns
1to 40 PART-l (Maths) Single Choice Questions (SCQ) (Had t& fawed AY) 40 3 0 120
41 to 70 PART-Il (Physics) Single Choice Questions (SCQ) (B7a1 To fawea T&) 30 3 0 90
71 to 100 PART-IIl (Chemistry) Single Choice Questions (SCQ) (%aa & fawed |) 30 3 0 90
Total 100 300
Name : Application Form Number :
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RESOFAST SYLLABUS

CLASS Xl(Currently studying X class)

» MATHEMATICS : (FROM CLASS - IX)
NUMBER SYSTEM, POLYNOMIALS, COORDINATE GEOMETRY, LINES AND ANGLES,
CONGRUENT TRIANGLES, HERON'S FORMULA, LINEAR EQUATION IN TWO VARIABLES,
QUADRILATERALS, AREA OF PARALLELOGRAMS, TRIANGLES, CIRCLES, SURFACE AREA AND
VOLUME, STATISTICS, PROBABILITY.

> PHYSICS : (FROM CLASS - IX)
MOTION, FORCE AND NEWTON'S LAWS, GRAVITATION, FLUID, WORK, ENERGY AND POWER,
WAVE MOTION AND SOUND.

» CHEMISTRY: (FROM CLASS - IX)
MATTER IN OUR SURROUNDINGS, IS MATTER AROUND US PURE, ATOMS AND MOLECULES,
STRUCTURE OF ATOM.

> MENTAL ABILITY
NUMBER-SERIES, ALPHABET-SERIES, MISSING TERM IN FIGURES, CODING-DECODING,
DIRECTION, SENSE TEST, SEATING ARRANGEMENT, PUZZLE TEST, SYLLOGISM, CALENDAR
TEST, DICE TEST.

CLASS XlI(Currently studying Xl class)

> MATHEMATICS (FROM CLASS - X)
REAL NUMBERS, POLYNOMIALS, PAIR OF LINEAR EQUATIONS IN TWO VARIABLES,
TRIGONOMETRY, TRIANGLES, STATISTICS, QUADRATIC EQUATIONS, ARITHMETIC
PROGRESSIONS, CO-ORDINATE GEOMETRY, HEIGHTS & DISTANCES, CIRCLES, AREAS
RELATED TO CIRCLES, PROBABILITY

> PHYSICS: (FROM CLASS - X)
ELECTRICITY, MAGNETIC EFFECT OF CURRENT AND EMI, LIGHT

» CHEMISTRY : (FROM CLASS - X)
CHEMICAL REACTIONS AND EQUATIONS, ACIDS, BASES AND SALTS, METALS AND NON-
METALS, CARBON AND ITS COMPOUNDS, PERIODIC CLASSIFICATION OF ELEMENTS

> MENTAL ABILITY:
NUMBER-SERIES, ALPHABET-SERIES, MISSING TERM IN FIGURES, CODING-DECODING,
DIRECTION SENSE TEST, SEATING ARRANGEMENT, PUZZLE TEST, SYLLOGISM, CALENDAR
TEST, DICE TEST

Our Hyderabad Centres :
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SAMPLE TEST PAPER

CLASS XllI(Currently studying Xll class or Long Term)

CLASS - X (CHEMISTRY)

Basic : Cooling by evaporation. Absorption of heat. All things
accupy space, possess mass. Definition of matter ; Elementary idea
about bonding.

Solid, liquid and gas : characteristics-shape, volume, density;
change of state - melting, freezing, evaporation, condensation,
sublimation.

Elements, compounds and mixtures :Heterogeneous and
homogeneous mixtures; Colloids and suspension.

Mole concept : Equivalence - that x grams of A is chemically not
equal to x grams of B ; Partical nature, basic units : atoms and
molecules ; Law of constant proportions ; Atomic and molecular
masses;Relationship of mole to mass of the particles and numbers
; Valency ; Chemical formulae of common compounds.

Atomic structure : Atoms are made up of smaller particles :
electrons, protons, and neutrons. These smaller particles are
present in all the atoms but their numbers vary in different atoms.
Isotopes and isobars.

Gradations in properties : Mendeleev periodic table.

Acids, bases and salts : General properties, examples and uses.
Types of chemical reactions : Combination, decomposition,
displacement, double displacement, precipitation, neutralisation,
oxidation and reduction in terms of gain and loss of oxygen and
hydrogen.

Extractive metallurgy : Properties of common metals ; Brief
discussion of basic metallurgical processes.

Compounds of Carbon : Carbon compounds ; Elementary idea
about bonding ; Saturated hydrocarbons, alcohols, carboxylic acids
(no preparation, only properties).Soap - cleansing action of soap.

CLASS - X (MATHEMATICS)

Number Systems :

Natural Numbers, Integers, Rational number on the number line.
Even - odd integers, prime number, composite numbers, twin
primes, divisibility tests, Co-prime numbers, LCM and HCF of
numbers.

Representation of terminating/non-terminating recurring decimals,
on the number line through successive magnification. Rational
numbers as recurring/terminating decimals. Ratio and proportions.

Polynomials :

Polynomial in one variable and its Degree. Constant, Linear,
quadratic, cubic polynomials; monomials, binomials, trinomials,
Factors and multiplex. Zeros/roots of a polynomial/equation.
Remainder theorem, Factor Theorem. Factorisation of quadratic
and cubic polynomials

Standard form of a quadratic equation ax2 + bx + ¢ = 0, (a # 0).
Relation between roots and coefficient of quadratic and relation
between discriminant and nature of roots.

Linear Equation :

Linear equation in one variable and two variable and their graphs.
Pair of linear equations in two variables and their solution and
inconsistency

Arithmetic Progressions (AP) :
Finding the n* term and sum of first n terms.

Trigonometry :

Trigonometric ratios of an acute angle of a right-angled triangle,
Relationships between the ratios.

Trigonometric ratios of complementary angles and trigonometric
identities. Problems based on heights and distances.

Coordinate Geometry :

The cartesian plane, coordinates of a point, plotting points in the
plane, distance between two points and section formula (internal).
Area of triangle. Properties of triangle and quadrilateral. (Square,
Rectangle rhombus, parallelogram).

Geometry :

Lines :

Properties of parallel and perpendicular lines.

Triangle :

Area of a triangle, Properties of triangle, similarity and congruency
of triangles.

Medians, Altitudes, Angle bisectors and related centres.
Geometrical representation of quadratic polynomials.

Circle :

Properties of circle, Tangent, Normal and chords.

Mensuration :

Area of triangle using Heron’s formula and its application in finding
the area of a quadrilateral.

Area of circle ; Surface areas and volumes of cubes, cuboids,
spheres (including hemispheres) and right circular cylinders/cones
and their combinations.

Statistics :
Mean, median, mode of ungrouped and grouped data.

Probability :
Classical definition of probability, problems on single events.

Logarithm & exponents :
Logarithms and exponents and their properties.

Interest :
Problem based on simple interest, compound interest and
discounts.

Mental Ability :
Problem based on data interpretation, family relations, Logical
reasoning.

Direct & Indirect variations :
Ratios & proportions, Unitary method, Work and time problems.

CLASS - X (PHYSICS)

Mechanics : Uniform and non-uniform motion along a straight line
; Concept of distance and displacement, Speed and velocity,
accelaration and relation ship between these ; Distance-time and
velcocity - time graphs.

Newton’s Law of motion ; Relationship between mass, momentum,
force and accelaration ; work done by a force ; Law of conservation
of energy.

Law of gravitation ; acceleration due to gravity.
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SAMPLE TEST PAPER

Electricity and magnetism : Ohm's law ; Series and parallel
combination of resistances ; Heating effect of current.

Magnetic field near a current carrying straight wire, along the axis
of a circular coil and inside a solenoid ; Force on current carrying
conductor ; Fleming'’s left hand rule ; Working of electric motor ;
Induced potential difference and current

Electric generator : Principle and working ; Comparision of AC and
DC ; Domestic electric circuits.

Optics : Rectilinear propagation of light ; Basic idea of concave
mirror and convex lens ; Laws of refraction ; Dispersion.

CLASS - XI (CHEMISTRY)

Some Basic Concepts of Chemistry : Particulate nature of matter,
laws of chemical combination, Dalton’s atomic theory : concept of
elements, atoms and molecules.

Atomic and molecular masses. Mole concept and molar mass ;
percentage composition and empirical and molecular formula ;
chemical reactions, stoichiometry and calculations based on
stoichiometry.

Structure of Atom : Discovery of electron, proton and neutron ;
atomic humber, isotopes and isobars.

Thompson’s model and its limitations, Rutherford’s model and its
limitations, concept of shells and sub-shells, dual nature of matter
and light, de Broglie’s relationship, Heisenberg uncertainty
principle, concept of orbitals, quantum numbers, shapes of s, p, and
d orbitals, rules for filling electrons in orbitals - Aufbau principle,
Pauli exclusion principle and Hund’s rule, electronic configuration of
atoms, stability of half filled and completely filleld orbitals.
Classification of Elements and Periodicity in Properties :
Significance of classification, brief history of the development of
periodic table, trends in properties of elements - atomic radii, ionic
radii, inert gas radii, ionization enthalpy, electron gain enthalpy,
electronegativity, valence.

Chemical Bonding and Molecular Structure :

Valence electrons, ionic bond, covalent bond, bond parameters,
Lewis structure, polar character of covalent bond, covalent
character of ionic bond, valence bond theory, resonance, geometry
of covalent molecules, VSEPR theory, concept of hybridization
involving s, p and d orbitals and shapes of some simple molecules,
molecular orbital theory of homonuclear diatomic molecules
(qualitative idea only), hydrogen bond.

States of Matter : Gases and Liquids :

Three states of matter, intermolecular interactions, type of bonding,
melting and boiling points, role of gas laws in elucidating the
concept of the molecule, Boyle’s law, Charles’ law, Gay Lussac’s
law, Avogadro’s law, ideal behavior, empirical derivation of gas
equation, Avogadro’s number ideal gas equation, deviation from
ideal behaviour, Liquefaction of gases, critical temperature.

Liquid State - Vapour pressure, viscosity and surface tension
(qualitative idea only, no mathematical derivations)
Thermodynamics :

Concepts of system, types of systems, surroundings, work, heat,
energy, extensive and intensive properties, state functions.

First law of thermodynamics - internal energy and enthalpy, heat
capacity and specific heat, measurement of AU and AH, Hess’s law
of constant heat summation, enthalpy of bond dissociation,
combustion, formation, atomization sublimation, phase transition,
ionization, and dilution.

Introduction of entropy as a state function, free energy change for
spontaneous and non-spontaneous process, equilibrium.

Equilibrium : Equilibrium in physical and chemical processes,
dynamic nature of equilibrium, law of mass action, equilibrium
constant, factors affecting equilibrium - Le Chatelier's principle ;
ionic equilibrium - ionization of acids and bases, strong and weak
electrolytes, degree of ionization concept of pH. Hydrolysis of Salts
(elementary idea), buffer solutions, solubility product, common ion
effect (with illustrative examples).

Redox Reactions : Concept of oxidation and reduction, redox
reactions,
oxidation number, balancing redox reactions, applications of redox
reaction.

Hydrogen : Position of hydrogen in periodic table, occurrence,
isotopes, preparation, properties and uses of hydrogen ; hydrides -
ionic, covalent and interstitial ; physical and chemical properties of
water, heavy water ; hydrogen peroxide - preparation, reactions
and structure ; hydrogen as a fuel.

s-Block Elements (Alkali and Alkaline Earth Metals) :

Group 1 and Group 2 elements :

General introduction, electronic configuration, occurrence,
anomalous properties of the first element of each group, diagonal
relationship, trends in the variation of properties (such as ionization
enthalpy, atomic and ionic radii), trends in chemical reactivity with
oxygen, water, hydrogen and halogens ; uses.

Preparation and properties of some important compounds
Sodium carbonate, sodium chloride, sodium hydroxide and sodium
hydrogen carbonate

Ca0, CaCQ,, and industrial use of lime and limestone, Ca.

General Introduction to p-Block Elements :

Group 13 elements : General introduction, electronic configuration,
occurrence, variation of properties, oxidation states, trends in
chemical reactivity, anomalous properties of first element of the
group ;

Boron - physical and chemical properties, some important
compounds ; borax, boric acids, boron hydrides. Aluminium : uses,
reactions with acids and alkalies.

Group 14 elements ; General introduction, electronic configuration,
occurrence, variation of properties, oxidation states, trends in
chemical reactivity, anomalous behaviour of first element. Carbon -
catenation, allotropic forms, physical and chemical propeties ; uses
of some important compounds : oxides.

Important compounds of silicon and a few uses : silicon
tetrachloride, silicones, silicates and zeolites.

Principles of qualitative analysis : Determinantion of one anion
and one cation in a given salt

Cations - Pb2+, Cu?, As%, Al*, Fe3, Mn%, Ni2+, Zn?, Co%, Ca%,
Sr2+’ Ba2+’ M92+’

Anions -  (Note : Insoluble salts excluded)

Organic chemistry - Some Basic Principles and Techniques
General introduction, methods of purification, qualitative and
guantitative analysis, classification and IUPAC nomenclature of
organic compounds.

Electronic displacements in a covalent bond : free radicals,
carbocations, carbanions ; electrophiles and nucleophiles, types of
organic reactions

Classification of Hydrocarbons Alkanes Nomenclature,
isomerism, conformations (ethane only), physical propeties,
chemical reactions including free radical mechanism of
halogenation, combustion and pyrolysis.

Alkenes : Nomenclatures, structure of double bond (ethene),
geometrical isomerism, physical properties, methods of preparation
; chemical reactions : addition of hydrogen, halogen, water,
hydrogen halides (Markovnikov’s addition and peroxide effect),
ozonolysis, oxidation, mechanism of electrophilic addition.
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Alkynes : Nomenclature, structure of triple bond (ethyne), physical
properties, methods of preparation, chemical reactions : acidic
character of alkynes, addition reaction of - hydrogen, halogens,
hydrogen halides and water.

Aromatic hydrocarbons : Introduction, IUPAC nomenclature ;
Benzene resonance, aromaticity ; chemical properties
mechanism of electrophilic substitution - nitration sulphonation,
halogenation, Friedel Craft's alkylation and acylation ; directive
influence of functional group in mono-substituted benzene ;
carcinogenicity and toxicity.

CLASS - XI (MATHEMATICS)

Functions :

Sets and their representations. Empty, finite and infinite sets,
Subsets, Union and intersection of sets, Venn diagrams.

Pictorial representation of a function domain, co-domain and range
of a function domain and range of constant, identity, polynomial,
rational, modulus, signum and greatest integer functions with their
graphs. Sum, difference, product and quotients of functions.
Trigonometric Functions :

Measuring angles in radians and in degrees and conversion from
one measure to another. Signs of trigonometric functions and
sketch of their graphs. Addition and subtraction formulae, formulae
involving multiple and sub-multiple angles. General solution of
trigonometric equations.

Complex Number

Algebra of complex numbers, addition, multiplication, conjugation,
polar representation, properties of modulus and principal argument,
triangle inequality, cube roots of unity, geometric interpretations.

Quadratic equations :
Quadratic equations with real coefficients, formation of quadratic
equations with given roots, symmetric functions of roots.

Sequence & Series :

Arithmetic, geometric and harmonic progressions, arithmetic,
geometric and harmonic means, sums of finite arithmetic and
geometric progressions, infinite geometric series, sums of squares
and cubes of the first n natural numbers.

Logarithm & exponents :
Logarithms and exponents and their properties. Exponential and
logarithmic series.

Binomial Theorem :
Binomial theorem for a positive integral index, properties of binomial
coefficients. Binomial theorem for any index.

Permutations and combinations :

Problem based on fundamental counting principle, Arrangement of
alike and different objects, Circular permutation, Combination,
formation of groups.

Straight Line :

Cartesian coordinates, distance between two points, section
formulae, shift of origin. Equation of a straight line in various forms,
angle between two lines, distance of a point from a line; Lines
through the point of intersection of two given lines equation of the
bisector of the angle between two lines, concurrency of lines;
Centroid, orthocentre, incentre and circumcentre of a triangle.

Conic Sections :

Equation of a circle in various forms, equations of tangent, normal
and chord. Parametric equations of a circle, intersection of a circle
with a straight line or a circle, equation of a through the points of
intersection of two circles and those of a circle and a straight line.

Equations of a parabola, ellipse and hyperbola in standard form,
their foci, directrices and eccentricity, parametric equations,
equations of tangent and normal locus problems.

Mental Ability :
Problem based on data interpretation, family relations & Logical
reasoning.

CLASS - XI (PHYSICS)

General : Units and dimensions, dimensional analysis; least count,
significant figures; Methods of measurement and error analysis for
physical quantities pertaining to the following experiments:
Experiments based on using Vernier calipers and screw gauge
(micrometer), Determination of g using simple pendulum, Young’s
modulus by Searle’s method.

Mechanics : Kinematics in one and two dimensions (Cartesian
coordinates only), projectiles; Uniform Circular motion; Relative
velocity.

Newton’s laws of motion; Inertial and uniformly accelerated frames
of reference; Static and dynamic friction; Kinetic and potential
energy; Work and power; Conservation of linear momentum and
mechanical energy.

Systems of particles; Centre of mass and its motion; Impulse;
Elastic and inelastic collisions.

Law of gravitation; Gravitational potential and field; Acceleration
due to gravity; Motion of planets and satellites in circular orbits;
Escape velocity.

Rigid body, moment of inertia, parallel and perpendicular axes
theorems, moment of inertia of uniform bodies with simple
geometrical shapes; Angular momentum; Torque; Conservation of
angular momentum; Dynamics of rigid bodies with fixed axis of
rotation; Rolling without slipping of rings, cylinders and spheres;
Equilibrium of rigid bodies; Collision of point masses with rigid
bodies.

Linear and angular simple harmonic motions.

Hooke’s law, Young's modulus.

Pressure in a fluid; Pascal’s law; Buoyancy; Surface energy and
surface tension, capillary rise; Viscosity (Poiseuille’s equation
excluded), Stoke’s law; Terminal velocity, Streamline flow, equation
of continuity, Bernoulli’'s theorem and its applications.

Waves : Wave motion (plane waves only), longitudinal and
transverse waves, superposition of waves; Progressive and
stationary waves; Vibration of strings and air columns;Resonance;
Beats; Speed of sound in gases; Doppler effect (in sound).

Thermal physics : Thermal expansion of solids, liquids and gases;
Calorimetry, latent heat; Heat conduction in one dimension;
Elementary concepts of convection and radiation; Newton’s law of
cooling; ldeal gas laws; Specific heats (Cv and Cp for monoatomic
and diatomic gases); Isothermal and adiabatic processes, bulk
modulus of gases; Equivalence of heat and work; First law of
thermodynamics and its applications (only for ideal gases);
Blackbody radiation: absorptive and emissive powers; Kirchhoff's
law; Wien’s displacement law, Stefan’s law.

CLASS - XIl (CHEMISTRY)

Physical Chemistry
General topics : Concept of atoms and molecules; Dalton’s atomic

theory; Mole concept; Chemical formulae; Balanced chemical
equations; Calculations (based on mole concept) involving common
oxidation-reduction, neutralisation, and displacement reactions;
Concentration in terms of mole fraction, molarity, molality and
normality.
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Gaseous and liquid states : Absolute scale of temperature, ideal
gas equation; Deviation from ideality, van der Waals equation;
Kinetic theory of gases, average, root mean square and most
probable velocities and their relation with temperature; Law of
partial pressures; Vapour pressure; Diffusion of gases.

Atomic structure and chemical bonding : Bohr model, spectrum
of hydrogen atom, quantum numbers; Wave-particle duality, de
Broglie hypothesis; Uncertainty principle; Qualitative quantum
mechanical picture of hydrogen atom, shapes of s, p and d orbitals;
Electronic configurations of elements (up to atomic number 36);
Aufbau principle; Pauli’s exclusion principle and Hund’s rule; Orbital
overlap and covalent bond; Hybridisation involving s, p and d
orbitals only; Orbital energy diagrams for homonuclear diatomic
species; Hydrogen bond; Polarity in molecules, dipole moment
(qualitative aspects only); VSEPR model and shapes of molecules
(linear, angular, triangular, square planar, pyramidal, square
pyramidal, trigonal bipyramidal, tetrahedral and octahedral).

Energetics : First law of thermodynamics; Internal energy, work
and heat, pressure-volume work; Enthalpy, Hess’s law; Heat of
reaction, fusion and vapourization; Second law of thermodynamics;
Entropy; Free energy; Criterion of spontaneity.

Chemical equilibrium : Law of mass action; Equilibrium constant,
Le Chatelier’s principle

(effect of concentration, temperature and pressure); Significance of
AG and AGo in chemical equilibrium; Solubility product, common ion
effect, pH and buffer solutions; Acids and bases (Bronsted and
Lewis concepts); Hydrolysis of salts.

Electrochemistry : Electrochemical cells and cell reactions;
Standard electrode potentials; Nernst equation and its relation to
DG; Electrochemical series, emf of galvanic cells; Faraday’s laws of
electrolysis; Electrolytic conductance, specific, equivalent and
molar conductivity, Kohlrausch’s law; Concentration cells.

Chemical kinetics : Rates of chemical reactions; Order of
reactions; Rate constant; First order reactions; Temperature
dependence of rate constant (Arrhenius equation).

Solid state : Classification of solids, crystalline state, seven crystal
systems (cell parameters a, b, ¢, ), close packed structure of solids
(cubic), packing in fcc, bcec and hep lattices; Nearest neighbours,
ionic radii, simple ionic compounds, point defects.

Solutions : Raoult’s law,; Molecular weight determination from
lowering of vapour pressure, elevation of boiling point and
depression of freezing point.

Surface chemistry : Elementary concepts of adsorption (excluding
adsorption isotherms); Colloids: types, methods of preparation and
general properties; Elementary ideas of emulsions, surfactants and
micelles (only definitions and examples).

Nuclear chemistry Radioactivity: isotopes and isobars;
Properties of rays; Kinetics of radioactive decay (decay series
excluded), carbon dating; Stability of nuclei with respect to proton-
neutron ratio; Brief discussion on fission and fusion reactions.

Inorganic Chemistry

Isolation/preparation and properties of the following non-
metals : Boron, silicon, nitrogen, phosphorus, oxygen, sulphur and
halogens; Properties of allotropes of carbon

(only diamond and graphite), phosphorus and sulphur.

Preparation and properties of the following compounds :
Oxides, peroxides, hydroxides, carbonates, bicarbonates, chlorides
and sulphates of sodium, potassium, magnesium and calcium;
Boron: diborane, boric acid and borax; Aluminium: alumina,
aluminium chloride and alums; Carbon: oxides and oxyacid
(carbonic acid); Silicon: silicones, silicates and silicon carbide;
Nitrogen: oxides, oxyacids and ammonia; Phosphorus: oxides,
oxyacids (phosphorus acid, phosphoric acid) and phosphine;
Oxygen: ozone and hydrogen peroxide; Sulphur: hydrogen
sulphide, oxides, sulphurous acid, sulphuric acid and sodium
thiosulphate; Halogens: hydrohalic acids, oxides and oxyacids of
chlorine, bleaching powder; Xenon fluorides.

Transition elements (3d series) Definition, general
characteristics, oxidation states and their stabilities, colour
(excluding the details of electronic transitions) and calculation of
spin  (only magnetic moment), Coordination compounds:
nomenclature of mononuclear coordination compounds, cis-trans
and ionisation isomerisms, hybridization and geometries of
mononuclear coordination compounds (linear, tetrahedral, square
planar and octahedral).

Preparation and properties of the following compounds :
Oxides and chlorides of tin and lead; Oxides, chlorides and
sulphates of Fe?, Cu?>* and Zn?; Potassium permanganate,
potassium dichromate, silver oxide, silver nitrate, silver
thiosulphate.

Ores and minerals : Commonly occurring ores and minerals of
iron, copper, tin, lead, magnesium, aluminium, zinc and silver.

Extractive metallurgy : Chemical principles and reactions only
(industrial details excluded); Carbon reduction method (iron and
tin); Self reduction method (copper and lead); Electrolytic reduction
method (magnesium and aluminium); Cyanide process (silver and
gold).

Principles of qualitative analysis : Groups | to V (only Ag*, Hg*,
Cu?+, Pb?>, Bi*, Fe*, Cr¥, Al*, Ca*, Ba*, Zn%, Mn? and Mg?");
Nitrate, halides (excluding fluoride), sulphate and sulphide.

Organic Chemistry

Concepts : Hybridisation of carbon; Sigma and pi-bonds; Shapes of
simple organic molecules; Structural and geometrical isomerism; Optical
isomerism of compounds containing up to two asymmetric centres, (R,S
and E,Z nomenclature excluded); IUPAC nomenclature of simple organic
compounds (only hydrocarbons, mono-functional and bi-functional
compounds); Conformations of ethane and butane (Newman
projections); Resonance and hyperconjugation; Keto-enol tautomerism;
Determination of empirical and molecular formulae of simple compounds
(only combustion method); Hydrogen bonds: definition and their effects on
physical properties of alcohols and carboxylic acids; Inductive and
resonance effects on acidity and basicity of organic acids and bases;
Polarity and inductive effects in alkyl halides; Reactive intermediates
produced during homolytic and heterolytic bond cleavage; Formation,
structure and stability of carbocations, carbanions and free radicals.
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Preparation, properties and reactions of alkanes : Homologous
series, physical properties of alkanes (melting points, boiling points
and density); Combustion and halogenation of alkanes; Preparation
of alkanes by Wurtz reaction and decarboxylation reactions.

Preparation, properties and reactions of alkenes and alkynes :
Physical properties of alkenes and alkynes (boiling points, density and
dipole moments); Acidity of alkynes; Acid catalysed hydration of alkenes
and alkynes (excluding the stereochemistry of addition and elimination);
Reactions of alkenes with KMnO, and ozone; Reduction of alkenes and
alkynes; Preparation of alkenes and alkynes by elimination reactions;
Electrophilic addition reactions of alkenes with X,, HX, HOX and H,0

(X=halogen); Addition reactions of alkynes; Metal acetylides.
Reactions of Benzene : Structure and aromaticity; Electrophilic
substitution reactions: halogenation, nitration, sulphonation,
Friedel-Crafts alkylation and acylation; Effect of ortho, meta and
para directing groups in monosubstituted benzenes.

Phenols : Acidity, electrophilic substitution reactions (halogenation,
nitration and sulphonation); Reimer-Tieman reaction, Kolbe
reaction.

Characteristic reactions of the following (including those
mentioned above):

Alkyl halides: rearrangement reactions of alkyl carbocation,
Grignard reactions, nucleophilic substitution reactions;

Alcohols: esterification, dehydration and oxidation, reaction with
sodium, phosphorus halides, ZnCl2/concentrated HCI, conversion
of alcohols into aldehydes and ketones; Ethers:Preparation by
Williamson's  Synthesis; Aldehydes and Ketones: oxidation,
reduction, oxime and hydrazone formation; aldol condensation,
Perkin reaction; Cannizzaro reaction; haloform reaction and
nucleophilic addition reactions (Grignard addition); Carboxylic
acids: formation of esters, acid chlorides and amides, ester
hydrolysis; Amines: basicity of substituted anilines and aliphatic
amines, preparation from nitro compounds, reaction with nitrous
acid, azo coupling reaction of diazonium salts of aromatic amines,
Sandmeyer and related reactions of diazonium salts; carbylamine
reaction; Haloarenes: nucleophilic aromatic substitution in
haloarenes and substituted haloarenes (excluding Benzyne
mechanism and Cine substitution).

Carbohydrates: Classification; mono- and di-saccharides (glucose
and sucrose); Oxidation, reduction, glycoside formation and
hydrolysis of sucrose.

Amino acids and peptides : General structure (only primary
structure for peptides) and physical properties.

Properties and uses of some important polymers : Natural

rubber, cellulose, nylon, teflon and PVC.

Practical organic chemistry : Detection of elements (N, S,
halogens); Detection and identification of the following functional
groups: hydroxyl (alcoholic and phenolic), carbonyl (aldehyde and
ketone), carboxyl, amino and nitro; Chemical methods of separation
of mono-functional organic compounds from binary mixtures.

CLASS - XIl (MATHEMATICS)

Complex Number and Quadratic equations :

Algebra of complex numbers, addition, multiplication, conjugation,
polar representation, properties of modulus and principal argument,
triangle inequality, cube roots of unity, geometric interpretations.
Quadratic equations with real coefficients, formation of quadratic
equations with given roots, symmetric functions of roots.

Sequence & Series :

Arithmetic, geometric and harmonic progressions, arithmetic,
geometric and harmonic means, sums of finite arithmetic and
geometric progressions, infinite geometric series, sums of squares
and cubes of the first n natural numbers.

Logarithms and their properties. Permutations and combinations,
Binomial theorem for a positive integral index, properties of binomial
coefficients.

Binomial theorem for any index, exponential and logarithmic series.
Matrices & Determinants :

Matrices as a rectangular array of real numbers, equality of
matrices, addition, multiplication by a scalar and product of
matrices, transpose of a matrix, determinant of a square matrix of
order up to three, inverse of a square matrix of order up to three,
properties of these maitrix operations, diagonal, symmetric and
skew- symmetric matrices and their properties, solutions of
simultaneous linear equation in two or three variables.

Probability :

Addition and multiplication rules of probability, conditional
probability, baye’s theorem, independence of events, computation
of probability of events using permutations and combinations.

Straight Line :

Cartesian coordinates, distance between two points, section
formulae, shift of origin. Equation of a straight line in various forms,
angle between two lines, distance of a point from a line; Lines
through the point of intersection of two given lines equation of the
bisector of the angle between two lines, concurrency of lines;
Centroid, orthocentre, incentre and circumcentre of a triangle.

Conic Section :

Equation of a circle in various forms, equations of tangent, normal
and chord. Parametric equations of a circle, intersection of a circle
with a straight line or a circle, equation of a through the points of
intersection of two circles and those of a circle and a straight line.
Equations of a parabola, ellipse and hyperbola in standard form,
their foci, directrices and eccentricity, parametric equations,
equations of tangent and normal locus problems.

Three dimensions :
Direction cosines and direction ratios, equation of a straight line in
space, equation of a plane, distance of a point from a plane

Vectors :

Addition of vectors, scalar multiplication, dot and cross products,
scalar triple products and their geometrical interpretations. Position
vector of a point dividing a line segment in a given ratio. Projection
of a vector on a line.

Function :

Real valued functions of a real variable, into, onto and one-to-one
functions, sum, difference, product and quotient of two functions,
composite functions, absolute value, polynomial, rational,
trigonometric, exponential and logarithmic functions. Even and odd
functions, inverse of a function, composite function.

Limit, Continuity & Derivability :

Limit and continuity of a function, limit and continuity of the sum,
difference, product and quotient of two functions, L'Hospital rule of
evaluation of limits of functions even and odd functions, inverse of
a function, continuity of composite function. intermediate value
property of continuous functions.

Differentiation :
Derivative of a function, derivative of the sum, difference, product
and quotient of two functions, chain rule, derivatives of polynomial,
rational, trigonometric, inverse trigonometric, exponential and
logarithmic functions. Derivatives of implicit functions, derivatives
up to order two.

Tangent & Normal :
Geometrical interpretation of the derivative, tangents and normal.
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Maxima & Minima :

Increasing and decreasing functions, maximum and minimum
values of a function, rolle’s theorem and Lagrange’s Mean value
theorem.

Integral calculus :

Integration as the inverse process of differentiation, indefinite
integrals of standard functions, integration by parts, integration by
the methods of substitution and partial fractions.

Definite integrals and their properties, fundamental theorem of
integral calculus. Application of definite integrals to the
determination of areas involving simple curves.

Formation of ordinary differential equations, solution of
homogeneous differential equations, separation of variables
method, linear first order differential equations.

Trigonometry :

Trigonomettric functions, their periodicity and graphs addition and
subtraction formulae, formulae involving multiple and sub-multiple
angles, general solution of trigonometric equations.

Relations between sides and angles of a triangle, sine rule, cosine
rule, half-angle formula and the area of a triangle, inverse
trigonometric functions (principal value only).

CLASS - XIl (PHYSICS)

General : Units and dimensions, dimensional analysis; least count,
significant figures; Methods of measurement and error analysis for
physical quantities pertaining to the following experiments:
Experiments based on using Vernier calipers and screw gauge
(micrometer), Determination of g using simple pendulum, Young's
modulus by Searle’s method, Specific heat of a liquid using
calorimeter, focal length of a concave mirror and a convex lens
using u-v method, Speed of sound using resonance column,
Verification of Ohm’s law using voltmeter and ammeter, and specific
resistance of the material of a wire using meter bridge and post
office box.

Mechanics : Kinematics in one and two dimensions (Cartesian
coordinates only), Projectile Motion; Uniform Circular Motion;
Relative Velocity.

Newton’s laws of motion; Inertial and uniformly accelerated frames
of reference; Static and dynamic friction; Kinetic and potential
energy; Work and power; Conservation of linear momentum and
mechanical energy.

Systems of particles; Centre of mass and its motion; Impulse;
Elastic and inelastic collisions.

Law of gravitation; Gravitational potential and field; Acceleration
due to gravity; Motion of planets and satellites in circular orbits;
Escape velocity.

Rigid body, moment of inertia, parallel and perpendicular axes
theorems, moment of inertia of uniform bodies with simple
geometrical shapes; Angular momentum; Torque; Conservation of
angular momentum; Dynamics of rigid bodies with fixed axis of
rotation; Rolling without slipping of rings, cylinders and spheres;
Equilibrium of rigid bodies; Collision of point masses with rigid
bodies.

Linear and angular simple harmonic motions.

Hooke’s law, Young’s modulus.

Pressure in a fluid; Pascal’'s law; Buoyancy; Surface energy and
surface tension, capillary rise; Viscosity (Poiseuille’s equation
excluded), Stoke’s law; Terminal velocity, Streamline flow, equation
of continuity, Bernoulli’s theorem and its applications.

Waves : Wave motion (plane waves only), longitudinal and
transverse waves, superposition of waves; Progressive and
stationary waves; Vibration of strings and air columns;Resonance;
Beats; Speed of sound in gases; Doppler effect (in sound).

Thermal physics : Thermal expansion of solids, liquids and gases;
Calorimetry, latent heat; Heat conduction in one dimension;
Elementary concepts of convection and radiation; Newton’s law of
cooling; Ideal gas laws; Specific heats (Cv and Cp for monoatomic
and diatomic gases); Isothermal and adiabatic processes, bulk
modulus of gases; Equivalence of heat and work; First law of
thermodynamics and its applications (only for ideal gases);
Blackbody radiation: absorptive and emissive powers; Kirchhoff's
law; Wien’s displacement law, Stefan’s law.

Electricity and magnetism : Coulomb’s law; Electric field and
potential; Electrical potential energy of a system of point charges
and of electrical dipoles in a uniform electrostatic field; Electric field
lines; Flux of electric field; Gauss’s law and its application in simple
cases, such as, to find field due to infinitely long straight wire,
uniformly charged infinite plane sheet and uniformly charged thin
spherical shell.

Capacitance; Parallel plate capacitor with and without dielectrics;
Capacitors in series and parallel; Energy stored in a capacitor.

Electric current; Ohm’s law; Series and parallel arrangements of
resistances and cells; Kirchhoff's laws and simple applications;
Heating effect of current.

Biot—Savart’s law and Ampere’s law; Magnetic field near a current-
carrying straight wire, along the axis of a circular coil and inside a
long straight solenoid; Force on a moving charge and on a current-
carrying wire in a uniform magnetic field.

Magnetic moment of a current loop; Effect of a uniform magnetic
field on a current loop; Moving coil galvano- meter, voltmeter,
ammeter and their conversions.

Electromagnetic induction: Faraday's law, Lenz's law; Self and
mutual inductance; RC, LR and LC circuits with d.c. and a.c.
sources.

Optics: Rectilinear propagation of light; Reflection and refraction at
plane and spherical surfaces; Total internal reflection; Deviation and
dispersion of light by a prism; Thin lenses; Combinations of mirrors
and thin lenses; Magnification.

Wave nature of light: Huygen’s principle, interference limited to
Young'’s double-slit experiment.

Modern physics : Atomic nucleus; Alpha, beta and gamma
radiations; Law of radioactive decay; Decay constant; Half-life and
mean life; Binding energy and its calculation; Fission and fusion
processes; Energy calculation in these processes.

Photoelectric effect; Bohr's theory of hydrogen-like atoms;
Characteristic and continuous X-rays, Moseley’'s law; de Broglie
wavelength of matter waves.
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SAMPLE TEST PAPER

(For Class-X Appearing / Passed Students)

Course: CLASS Xl(Currently studying X class)

Q.No. Subject Nature of Questions | No. of Questions | Marks| Negative | Total
PART-I
1to 50 MATHEMATICS 50 3 0 150
PART-II
51to 65 PHYSICS 15 3 0 45
PART-III ahe
66 to 80 CHEMISTRY 15 3 0 45
PART-IV
81 to 100 MENTAL ABILITY 20 3 0 60
Total 100 Total 300
1 1 1
PART - | (MATHEMATICS) 4T - | (7Tfora) 4. The value of {ﬁ}” [x_] {ﬁ]“b is :
c y a ° b
SECTION : (Maximum Marks : 150) 4 u *
. This section contains FIFTY questions 1 1 1

. Each question has FOUR options (A), (B), (C) and (D). X2 Yoo (%€ \ea ( x2 @b
ONLY ONE of these four option is correct | 1= 1% @1 A B —
. For each question, darken the bubble corresponding to the X X X
correct option in the ORS
. Marking scheme : (A) x (B)
+3 If only the bubble corresponding to the correct option
is darkened
0 If none of the bubble is darkened
e TAGSH UAN U |

1
X
(C)-1 (D)1

5. Find the measure of an angle, if seven times its
. ) complement is 102 less than three times its supplement.
o Y% uw A AR f@med (A), (B), (C) T (D) Bl AR TH I D TGRS B0 T 3 O S B GRE DT B
faepel § & dad @ e w8 2| 7 7on & 10° Afw ¥, BT BT A Brm—
o TS UL A, WEl v & FGY gAgel B 31 AR TH. (A) 40° (B) 25°
BT BN | (C) 30¢ (D) 15¢
. B+ AT

6. In the diagram if AABC and APQR are equilateral. The

+3 IR R T Rdes & IFFHT gagel DI Frell fbam o |
0 I ®1g ) gorgen wraT 7 b 8 )

If 97(n72)2 is a real number, then the number of
integral values of n is :

e \J9—(n-2)° ve adifas ¥ 8, 99 nF QUie

AT B AT BT
(A) 3 (B) 5
(C) 7 (D) Infinitely many 3= 8

fa-—b=3anda®+b?=29thenab="
af¥a-b=33Ra2+b2=290d9ab="
(A)9 (B) 18
(C) 20 (D) 10

Point (0, =7) lies :

(A) on the x-axis

(C) on the y-axis
fa=g (0,-7) Rerd & —
(A) x-318T IR

(C) y-318 R

(B) in the second quadrant
(D) in the fourth quadrant

(B) e agarer &
(D) =g =g |

£CXY equals
f v R § afe AABC iR APQR w1g, e &, @@
ZCXY a_T&R 2|

R Q
A

(A) 35° (B) 40°
(C) 45° (D) 50°

The perimeter of a triangular field is 144 m and the ratio of
the sides is 3 : 4 : 5. The area of the field is—

el rgomeR T &1 gRA™ 144 Hicx @ T ST@ Yarsi
@ e B U 3:4:58 | A BYEeR Wd &1 &
B —

(A) 519 m?
(C) 599 m?

(B) 864 m2
(D) None 378 | ®Ig w8
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01 SAMPLE TEST PAPER

Solution of equation [3x—2=2./3 +4 is:
HIBROT [3x —2 = 23 +4 P &l &I —

A 23 - 1) (B) 21— +/3)
() 1++/3 (D) 2(1 ++/3 )

ABCD is a trapezium in which AB || CD. If Z/ADC = 2/ABC,
AD =acm and CD = b cm, then the length (in cm) of AB is:
ABCD U& 9o agyw (fWfegw) 2 fe AB || CD |
af§ Z/ADC = 2/ABC, AD = a ¥4l J211 CD = b 941 a1 AB
3 a1 (W A) B

(A)E+2b (B)a+b
2

) 2a+b D)a+2 b
3 3

E is the midpoint of diagonal BD of a parallelogram ABCD.
If the point E is joined to a point F on DA such that DF=%

DA, then the ratio of the area of ADEF to the area of
quadrilateral ABEF is :
R agyd & el BD &1 wen g ER 1 IR g E

H fdg F9 o f& DA WR SuRerd 2, Wil oidm & waf
DF=%DA 8, 99 ADEF 3R 7gysl ABEF & &Fhall &

uTd BT |
(A)1:3 (B)1: 4
(C)1:5 (D)2:5

The lengths of two parallel chords of a circle 1 cm apart on
the same side of the centre are respectively 10 cm and 8
cm. The distance of the longer chord from the centre of the
circle is :

IR PN @A T R A @ & R A1 9A T W
Rera wwraR ol @ #eg @t 8 s 107+  qars 9.
A TS S B JI D D F A B —

(A) 4cm (B) 5cm

(C)7cm (D) 12 cm.

2
The value of {‘g‘/ﬁ_ sé] is -
V"4
2
[Q/ﬁ_ /G%J H1 A T —

The curved surface area of a cylinder of length 14 meters
is 220 m2. The volume of the cylinder will be :

TH dod el aw g 14 $ie), f9e awaR 9r #1
T %A 220 m2 8, @ Io9 FT I 8RN —

(A) 290 m? (B) 285 m?®

(C)270 m? (D) 275 m®

Marks of 10 students were as follows: 25, 30, 15, 22, 20, 12,
26, 20, 25 and x. If the mean of the marks is 21. Find x.

10 faemeff @ /& /1 9@ T : 25, 30, 15, 22, 20, 12, 26,
20, 25 31X x, Afe 3idi &1 °7eg 21 31 @ x BT 919 BT—
(A) 25 (B) 20

(C) 22 (D) 15

15.

16.

17.

18.

19.

20.

21.

22.

A bag contains 20 balls of different colours. The probability
of drawing a black ball is 4/5 then number of black balls in
the bag is :

TF Il # faft= T B Fa 20 AR E | S F Fred i
T & mfydar 4/5 2 o1 o # fbae @ren A ¥ —
(A) 14 (B) 15

(C) 16 (D) 20

Which of the following is the smallest 14 57 493;

25°100°86'5
14 57 49 3 § q 91991 999 oiar = & —

25'100°86°5

() 14 ®) 57
25 100

c) 22 o) 3
86 5

The degree of the algebraic expression 4y? — 3y + 15x%y is :
XU M ISR HoIH 4y2 - By + 15x2y Bl Bife R ER1—
(A)O (B)8 (€2 (D)3

The point (4, —6) belongs to

(A) first quadrant (B) second quadrant

(C) third quadrant (D) fourth quadrant

g (4, -6) =1 & & Fwafera 8 —
(A) werF Tgate (B) fe<ia =garter
(C) gefta aguifer (D) =agef aqafa

If x51 + 51 is divided by (x + 1) the remainder is :

afe x°1 4 51 @1 (x + 1) @ RAwifsa fFar oy, d9 9w
BT |

(A)O (B) 1 (C) 49 (D) 50

In the figure, AB = BC = CD = DE = EF = FG = GA, then
/DAE is equal to :

fau v = A, AB=BC = CD =DE = EF =FG = GA, T4
ZDAE &R B |

E
o
B F D
(A) 24° (B) 25°
(©) 27° () 180°

7
Two equilateral triangles are congruent when :
(A) their angles are equal
(B) their sides are equal
(C) their sides are proportional
(D) their areas are proportional
<1 wHaTE, Brgel warres g i
(A) STP PITT IR B |
(B) S9dT YN ST FN |
(C) S®I oIy 3rguIfaes & |
(D) 39% BT IS & |

The sides of a triangle are 7 cm, 9 cm and 14 cm. Find its area
afg fHe Brys & Yo 7 cm, 9cm @I 14 em 8, @1 By
T aFHA BN—

(A) 1245 cm? (B) 145 cm?
(C) 165 cm? (D) None of these
T 9 BIg A
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01  SAMPLE TEST PAPER

Sum of twice of a number and the number itself is 42. Find
the number.

P 9w 9 S9S A $T AN 42 2 @ 98 TEA1 BN |
(A) 24 (B) 42 (C) 28 (D) 14

The four angles of a quadrilateral are in the ratio 3: 5:7 : 9.
The angles separately are :

TEh TGS S TR BN FHT U 3:5:7: 98 A Agy
@ TR PN BT AH BT —

(A) 369, 722, 1089%,144° (B) 209, 402, 60¢, 180°

(C) 452, 758, 1052,135¢2 (D) 502, 709, 100°, 140°

In figure, ABCD is a parallelogram and BC is produced to
point Q such that AD = CQ. If AQ intersect DC at P, then
ar(ABPC)

fau R = 4, Igys ABCD U& |AR =gy & a Jull
BC & fi5 Q@@ 9 USHR dgr Il & f& AD = CQ.
afe AQ, DC 1 fog P W ufd=ss &r a9 B34S (ABPC)
BT SFHel B —

A

vz}
Y

Q

) %ar(ADPO) (B) ar(ADPQ)

(C) %ar(ADPO) (D) %ar(ADPQ)

A piece of wire in the form of a rectangle with dimensions 12 m
by 10 m is bent to form a circle. Find the diameter of the circle :
(A)35m (B)7m (C)20m (D) 14 m

TH 1291 x 10 9. & ATATGR AR Bl AGH U g 11
ST & S99 g9 Dl T R’ BN ?

(A)3.54L (B)7HIl. (C)20#. (D)144m

1 1 1
The product of [1+—J(1+—)[1+ ] is :
n n-1 n-2
1 1 1
T — || 1+ — || 1+ BT YUAB BT
n n-1 n-2

n n+1 n+1
(A) (B) (C) (D) n (n+1)
n+1 n-2 n

The total surface area of a cube is 384 cm? then its volume
is-

Th O BT TYU ST &% 384 cm? B, AT SHBT AT
BN —

(A) 512 cm?®
(C) 300 cm®

(B) 440 cm?®
(D) 438 cm®

1 1
If the mean of y and — is M, then the mean of y® and =5 is:

y y

1 1
Iy qAT — FT AT M TG YA BT AT BT
y y

2
(A) MM
2

(B) M (4VB -3)

(C) M? (D) 2M (4M? =3)

30.

31.

32.

33.

35.

36.

37.

38.

In an experiment, a coin is tossed 500 times. If the head
turns up 280 times, then the probability of getting (i) a head
(i) a tail is -
T TIE § T Rigd B 500 IR ST W | AR TS
(Ue) 280 AR ATdl ® @I f+=1 @ wifdaa s1d HINTT (i) 2
(U<) 3 & (i) o1 (Fad) o B —
(A 14 11 (g) 11 12y 12 10 py 9 11

25’25 20’20  25'25 25’25
The value of x which satisfies the equation 3*® =1 is :
XH1AM I 5 T 3% =1 P WY P T —
(A) 1 (B)2 (€3 (D)4

If x=2+ 22/3 4 21/3, then what is the value of xXS—6x2 + 6x ?
afe x=2+22/31 213 gra X8 — 6x2 + 6x BT AF T BT ?
(A) 6 (B) 12 (C) 4 (D)2

Solution of the equation x — 2y = 2 is/are :

THIHRT x -2y =2 BT & —

(A)x=4,y=1 B)yx=2,y=0

(C)x=6,y=2 (D) All of these SURIET 41

The bisectors of angles of a parallelogram makes a figure
which is

(A) Rectangle (B) Circle

(C) Pentagon (D) Octagon

el TR IgYS & DI B FAGHSID Sl AP TR
g 98 B

(A) s (B) I

(C) Tay<i (D) srey

In the given figure, PQR is an equilateral triangle and QRST
is a square. Then /PSR =

f&¥ M A % PQR U @¥E1g B3s gd QRST a7 &
/PSR &1 A 81—

P
Q R
T S
(A) 60° (B) 45°
(C) 30° (D) 152

In a AXYZ, LM || YZ and bisectors YN and ZN of 2Y & £Z
respectively meet at N on LM. Then YL + ZM =

ST AXYZ H, LM || YZ SR YN TN ZN, £Y 3R /Z & HH:
FHGITSTS LM TR N R fed 8| @@ YL + ZM =

(A)YZ (B) XY

(C) Xz (D) LM

The perimeter of a triangular field is 540 m and its sides are
in the ratio 25 : 17 : 12. Find the area of the triangle.
afe &l PeTeR € &1 uREY 540 m g Tl SED

YT & HE BT SUId 25 : 17 : 12 8| A1 Bremar wq
HT1 &FABA BN —

(A) 900 m?
(C) 9000 m?

(B) 1900 m?2
(D) 9600 m?

A linear equation in two variables has maximum :
(A) only one solution  (B) two solution
(C) infinite solution (D) None of these

TV W el U Rgw FHEw § srfdeaq faas sa B
(A) I TP BA (B) q1 &
(C) 3= Bl (D) 39 ¥ &g &I
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el

In the parallelogram, the value of “X” is :

e T | TgYS H X BT HM B -

80°
TN 150°

(A) 30° (B) 50°

(C) 700 (D) 80°

ABCD is a parallelogram. ADEC is drawn such that BE = 1/3
AE. Sum of the areas of AADE and ABEC is :

NS ABCD U& |A=R agie 1 ADEC &1 <&l 9
UHR 1 ol 2 f& BE = 1/3 AE 811 @ AADE @21 ABEC
F eAmel BT AT fHaeT B9 —

D

A F E B

(A) % area of parallelogram ABCD
(B) % area of parallelogram ABCD
2
(C) 3 area of ADEC
(D) % area of ADEC
(A) ISt ABCD & &5%e I %fqm

(B) ISl ABCD & &r3hel Pl %W

(C) ADEC @1 % arT

(D) ADEC &1 % AT

The diameters of two circles are 7 cm and 14 cm. Find the
diameter of the circle which has area equal to the combined
of two circles.

A g B A 7 AL TAT 14 WA B A S g9 B @A
A i RTFa §9%a 89 aFl g9 @ &md @ A
D IR |

(A) 745 cm (B) 14+/5 cm

(C)21+/5 cm (D) 1045 cm

Which of the following is a polynomial :

=1 % & B 9gue & —

A+ 2x+3 B+ 2x + 3

C)x+ 2 443 (D) x*2 + 2 x+ 3
X

The ratio between the volume of a sphere and the volume
of the circumscribing right cylinder is-

foosdt Tt @ SMIAE TN §9O U goH B 3T @

SERICII
(A)2:1 (B)1:1
(©2:3 (D)1:7

44,

45,

46.

47.

48.

49.

Kk Kk ok
Ak K
D e ek
The mean of x4, Xp ------------- Xs0 Is M if every xi, i = 1, 2,----
X:
----- , 50 is replaced by 5—(') then the mean is :
T S — Xso BT AT M 8 IS UAF X, i =1, 2,

50 BT ;(Ti) I uforenfud far sirar 7, o1 Aeg @nn—

A M B)M+_1
50 50
50

€) .22 D)M

(C) v (D)

Probability of choosing a vowel from the English alphabet

IS .
ST JOfHTAT | TR UT BR B Ui 1 2 ?

21
Q= ® >
(C) % (D) None of the above
SR A H BIg 8l
If x = 4 is a root of the polynomial f(x)=6x>-11x? + kx — 20,

then find the value of k.

e TgUS f(x) = 6x° — 1133 + kx — 20 &1 T qd x=% 2
al k &1 A BT —

(A) 18 (B) 19

(C)20 (D) 21

If a sphere is inscribed in a cube, then the ratio of the
volume of the cube to the volume of the sphere will be :

Ife U@ el TF U9 F i 8, A1 O & MIAT BT Al
H IMIAT U T —

(A)d:n (B)y6:m

(C)2:=x (D)n:6

The marks obtained by 17 students in a mathematics test
(out of 100) are given below :

91, 82, 100, 100, 96, 65, 82, 76, 79, 90, 46, 64, 72, 68, 66,
48, 49. The range of the data is :

TR & Ue o # 17 [enfl g1 (100 7 Q) ura g
SR E RN

91, 82, 100, 100, 96, 65, 82, 76, 79, 90, 46, 64, 72, 68, 66,
48, 49. 39 JffFe] B URAR & —

(A) 46 (B) 54 (C) 90 (D) 100

In figure ABCD is a cyclic quadrilateral and #DBC = 70°,
ZCAB =30° then ZBCD = -----------

o 4 ABCD U =shIg agysl 2 3R £DBC=70°,2CAB =
30° 8, @ £BCD = —--------

D

(A)40°  (B)80°®  (C)100° (D) 60°
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The surface area of a sphere of radius 5 cm is five times
the area of the curved surface of a cone of radius 4 cm. Find
the volume of the cone (taking = = 22/7)

59H g arat vE Mol B g aawd 4 |AL e
qrel TP W@ B 9% YO &Fhd B UE AT 2 | 2| B
AT FId BIVY | (n = 22/7 «AITSQ)

(A) 55.29 cm® (B) 50.29 cm?®

(C) 60.29 cm?® (D) 72.29 cm?®

PART - Il (PHYSICS) w1 - Il (ffae fasm)

SECTION: (Maximum Marks : 45)

This section contains FIFTEEN questions
Each question has FOUR options (A), (B), (C) and (D).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
+3 If only the bubble corresponding to the correct option
is darkened

0 If none of the bubble is darkened
SH @S 4 68 U 2|
TP 939 H IR fawe (A), (B), (C) @2rm (D) €1 39 R
fowedl ¥ ¥ dad @ fAHed |8 B |
TS YA H, 98l ey @ AU gagel B Sl IR, T
H Pl BN |
B AT ¢
+3 s R\ fAed & STg%U goigel DI Blell fhal &g |

0 Ift &3 N geagan drenm 7 a1 81|

51.

52.

53.

—— Hyderabad Centre —

The numerical ratio of displacement to the distance
covered is always

(A) Less than one

(B) Equal to one

(C) Equal to or less than one

(D) Equal to or greater than one

9 f5d T e va 8 & U &1 Afd A
T BT B

(A) TH | FH

(B) &

(C)To & WRTER AAAT TH A BH

(D) T & ERTER AT TH A 3Afod

A body of mass 2 kg moving on a horizontal surface with
an initial velocity of 4 m/sec comes to rest after 2 sec. If
one wants to keep this body moving on the same surface
with a velocity of 4 m/sec, the force required is

4F/F 97 9 &fow gag ) Afoefiie ve 2 fe @ fivs
2 d%vs B TeEq ReR & W 2| Ife 39 fvs & s
Afas a8 W49/ & 9 | TedmE 99 9 B o
AT T B
(A) 8N (™)
(C) Zero (3r™)

(B) 4 N ()
(D) 2N (ge9)

Two sphere of mass mand M are situated in air and the
gravitational force between them is F. The space around
the masses is now filled with a liquid of specific gravity 3.
The gravitational force will now be

g1 et 9@ gewe wAe: m gt M g, ag # Rera
AT S5 He [ReAIHYY 91 F 8 | ARG A1 a3 =l &
G AT DI SMURS ¥ 3 a7l &9 9 W o7 9 A
@G 9 B SR
(A)F (B) F/3

(C)F/9  (D)3F

54.

55.

56.

57.

58.

59.

60.

Density of ice is o and that of water is & . What will be

the decrease in volume when a mass M of ice melts
T I UTE p 9 9 B g9 o 8| 9B B M FFAH

& fUge™ R s9¢ aad § $H B8R

M o-p
"~ ®) =~

1 1 11 1
p O M|p o
A particle moves under the effect of a force F = Cx from
x=0to x = x, . The work done in the process is
T FHT F=Cx a8 IEF x=0 ¥ x=x, I5
fazenfog g1a1 8 | 39 wfban # fan = erf 8rm
L a3
B) —Cx
(B) 5 Ci
(D) Zero I

(A) Cx}
(©) Cx,

What will be the wave velocity, if the radar gives 54 waves
per min and wavelength of the given wave is 10 m

TH YER 54 T gfa fade Scafvta oxar & don 39 @
@ aeed 10 m B | &1 O &1 A BT

(A) 4 m/sec (B) 6 m/sec

(C) 9 m/sec (D) 5 m/sec

A bullet fired into a fixed target loses half of its velocity
after penetrating 3 cm. How much further it will penetrate
before coming to rest assuming that it faces constant
resistance to motion?

UH ReR @& oR SRl AT WIell 3 WH) 99+ g oAl
YT AT W <Al B, A1 I8 AR & AT B dds T
T &1 fgd fRg giar B, fRrmrasen § o 9 usd U
fpa 41 ofR T H

(A)1.5cm (C)1.0 em

(C)3.0cm (D) 2.0 cm

If a bullet of mass 5 gm moving with velocity 100 m/sec,
penetrates the wooden block upto 6 cm. Then the average
force imposed by the bullet on the block is

U& 5 UM GAAE $ Miell, 100 m/sec & 99 4, Th
THS! B YD H 6cm TP §F ATH T T WA FRT
Ted W IRINT iad 9 B

(A) 8300 N (B) 417 N

(C)830 N (D) Zero

The radii of two planets are respectively R; and R, and

their densities are respectively p; and p, . The ratio of

the accelerations due to gravity at their surfaces is
1 U8 3 oI wAr R, 92T R, 91 S O

WAL p, AT p, B SAD! GAS W YOG RO BT
U BRM

(A) g g, =20 22
81 -82 R12 R22

(C) g : 8 =Ripy: Ryp

(B) g1:8,=RR,: pips

(D) g,:8=Rp: Ryp,

A log of wood of mass 120 Kg floats in water. The weight
that can be put on the raft to make it just sink, should be
(density of wood = 600 Kg/nt)

120 kg SOA™ & THS! & @iid Bl aEl 7 g @ o1y

T WX I O P+ dlel ¥R B G149 &1 81 AM_Y
(TSI BT ged = 600 kg/nT° gS)
(A)80 Kg (B)50 Kg (C)60Kg (D)30Kg
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01

A body of mass mkgis lifted by a man to a height of one metre 66.

SAMPLE TEST PAPER

in 30 sec. Another man lifts the same mass to the same height
in 60 sec. The work done by them are in the ratio

g m fFu1 ggdM drell 9 Bl U SMeHl 1 HIeR BT
SATS dF I H 30 AHUS Ml B | T ASH I
g @l Sl SAE aF So # 60 YHvs @ B 59
Iefidl & g1 5y Y B @1 U 8

(AY1:2  (B)y1:1  (C)2:1 (D)4:1

A man sets his watch by a whistle that is 2 km away. How
much will his watch be in error. (speed of sound in air

330 m/seC) 67.

(A) 3 seconds fast (B) 3 seconds slow
(C) 6 seconds fast (d) 6 seconds slow

e A 2 fharier g7 Rea At &) @af gaex oo
TS et 8| SHa ) § fhawr <19 W (891 7 eafy
BT 97 330 H/FPvE)

(A) 3 J®Us O (B) 3 Y@ve g

(C) 6 dBvs U (D) 6 dPUvs F

A car moving with a velocity of 10 m/s can be stopped by
the application of a constant force F in a distance of 20 m.
If the velocity of the car is 30 m/s, it can be stopped by this
force in

e 9d 96 F o agud 910 H/d & 97 9 e g3
FR BT 20 M BT g A AdT o FHal 2 @A SR BT a7
30/¥ B, A1 39 9@ $ §RT 5H faha- g8 # A&
FHAT B

20
B ==m

(By2om (C)eom (D) 180 m

A cricket ball of mass 250 g collides with a bat with velocity
10 m/s and returns with the same velocity within
0.01 second. The force acted on bat is

(A)25 N (B)50N (C)250 N (D)500 N

TP 250 U TEEH @1 1§ gocl 9 10 H/JAHvS & 99

¥ THIE & der 0.01 v § WHN 97 § Qo ey 69.

21 7T §RT 9ol W ARG g1 B
(A)25 N (B)50N (C)250 N (D)500 N
Two identical solid copper spheres of radius R placed in

contact with each other. The gravitational attracton
between them is proportional to

& WM SH9E & 3 Wl & TIdl @1 B RE, 9%
WRER 96 H W@ 98 A (G0 AU BT |
(A) R? (BYR-*  (C)R*

PART - lll (CHEMISTRY) 51 - Il (Rema= fism)

SECTION: (Maximum Marks : 45)

This section contains FIFTEEN questions
Each question has FOUR options (A), (B), (C) and (D).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
+3 If only the bubble corresponding to the correct option
is darkened

0 If none of the bubble is darkened

39 TS H UEE U 21

TS ¥ ¥ IR @ (A), (B), (C) 7 (D) €1 57 AR 1.

fiwedl # 9 dad @ fAwey T £ |

TP UL H, 98 APy & gy gagal &l 3l AR, U9
H Frem N |

JHT Fror

+3 e R Ae! fddbey B gy goigel Bl BbleTl {1 S |

0 I iz ¥ gagAT Bre A BT 71 |

68.

(D) R 70.

of a substance remains constant when it

changes from one state to another at its boiling point.

(A) Volume (B) Pressure

(C) Temperature (D) Density

ugref &1 R T 2 W9 98 WUNd W Uh
ARy W SR TR H ST B

(A) srIa= (B) &®

(C) argH™ (D) T/ a

Which of the following will show the Tyndall effect?
(A) Sodium chloride solution

(B) Calcium chloride solution

(C) Sodium carbonate solution

(D) Starch solution

=1 4 9 o femso w9 genar & —

(A) HifsTq FaRES faawq
(B) Bfeerom FaiRis® faaa=
(C) \ifsaw @rEive faeras

(D) wTd faerg=

A person adds 1.71 gram of sugar (C15H55041) in order

to sweeten his tea. The number of carbon atoms added are
(mol. mass of sugar = 342)

U6 IMEHl AT B Wel d¥A @ fAy 1.71 9 IEeaR
(C12Ho001 1) FreTar 8 | fAeTTY 7Y @ree uRHAToeil &1 |
& | (FBR BT AR = 342)

(A) 3.6 x 1022 (B) 7.2 x 1021
(C) 0.05 (D) 6.6 x 1022
What is the characteristic valence shell electron

configuration of 11th group metals?

11N o= & ergait @1 e WSk @9 geEet
SFf¥fa=ma g ?
(A) ns2 np6
(C) nd® ns?

(B) (n — 1)d? ns?
(D) (n = 1)d10 nsT

Which of the following conditions makes the clothes dry up
the fastest ?

(A) Winter season, night time, coastal area

(B) Rainy season, day time, non coastal area

(C) Rainy season, night time, at the top of a hill

(D) Winter season, day time, at the top of a hill
frfoiea RufoRT ¥ & SR HUST &1 a8 o g@nh 87
(A) 91 &1 Hram, I & w9, 9 83

(B) a1Rwr &1 #rew, 9 @& vy, IR adi &=

(C) a1R=r &1 drH , Y & wHY, TERI & A W

(D) ¥t »1 dw, o @ wHg, TR B A W

To separate the various coloured pigments present in a
substance which method is used ?

(A) Crystallisation

(B) Chromatography

(C) Centrifugation

(D) Evaporation
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ot fsror & SufRerd fafi= T s@gal &1 guEaRo
o a2 —

(A) freceiiamvo gRI (B) PHEIITH! &R

(C) IUBHIHIT §IRT (D) 9% T

X g of Ag was dissolved in HNO4 and the solution was

treated with excess of NaCl. When 2.87 g of AgCl was
precipeted the value of X is

X g Ag, HNOg # Hell B | 59 fdeid= &1 NaCl & s &
|1 IUAIRG PR @ 8, A1 2.87 g U AgCl faafid
BT B, A1 X & A B

(A) 1.08 g (B)2.16 ¢

(C)2.70¢ (D)1.62¢g

How many litres of O2 gas at STP or NTP is needed to react
completely with 27 gm of Al ?

27 gm UAMTE & AU QR ORE W WAHT R & oy
STP I NTP W fha efter sifeiio T & anmaegsar 2|
(A) 5.6 lit. (B) 11.2 lit.

(C) 22.4 lit. (D) 16.8 lit.

With increase in temperature the viscosity of -

(A) both gases and liquids increases.

(B) both gases and liquids decreases.

(C) gases increases and liquids decrease.
(D) gases decreases and of liquids increases.

qrg ge™ R —

(A) 59 T N W & 9 2|

(B) 5@ Ten I # AT T S # |

(C) INT Y TICT gl & @I 54 &I gedl 2|
(D) 9 Y TITAT TS B q_AT T9 g B

Which one of the following is not a compound ?
(A) Marble (B) Ozone

(C) Carbondioxide (D) Quicklime

= A4 Q3 Al 481 8§ ?

(A) FTRAR (B) 3N

(C) Brd-TeIgaitaarss (D) fo=m gm =

The molar ratio of Fe™ to Fe™* in a mixture of FeSO,4
and Fe5(SO4)5 having equal number of sulphate ion in

both ferrous and ferric sulphate is

(A)1:2 (B)3:2

(C)2:3 (D) can't be determined

FeSO, T Fey(SOy) & sl fored ove dur BRe

FeBe Sl § FeBe ATE § FHE T= 8, © forg
Fet* dorr Fe**+ &1 AIer U@ A/ R |

(A)1:2 (B)3:2
(C)2:3 (D) FeiiRa 8 foban ST e

An element has atomic number 37. The block and group
of this element are respectively :

78. The force of attraction between molecules is called -
(A) intramolecular force  (B) intermolecular force
(C) extramolecular force (D) none of these

BT @ Fe T dTeT MBI FoI HEAT B —
(A) TT:3MUdTg gl (B) SRS gt
(C) 918a vdla g (D) 37 W BIg &I

79. Pair of substances undergoing sublimation is :
(A) bromine and iodine
(B) dry Ice and nausadar
(C) sodium and borax
(D) naphthalene and blue Vitriol
gerelf &1 g Rt SuTd 8 JE B § -

(A) S19 qen smaS=

(B) I=p 9% AT HAIMIER

(C) AifeT™ T aRaw

(D) FHereld oIt el Heien

80. The molarity of the solution containing 2.8% mass-volume
solution of KOH is

9 faeg &1 JeRar 1 2R S KOH &7 2.8%
(SA—3TIa) Il 8 |

(A) M/10 (B) M/2
(C) /5 (D)1 M

PART - IV (MENTAL ABILITY) 9T - IV (qr<ife @)

SECTION: (Maximum Marks : 60)

This section contains TWENTY questions
Each question has FOUR options (A), (B), (C) and (D).
ONLY ONE of these four option is correct
. For each question, darken the bubble corresponding to the
correct option in the ORS
. Marking scheme :
+3 If only the bubble corresponding to the correct option
is darkened
0 If none of the bubble is darkened
o TAES H G WA B
e TP UH H AR fasa (A), (B), (C) T (D) 21 39 IR
famedl # 9 dad @ fawed | 2
o U U A, GE RFed & IwU goIgel 3l 3. IR TH.
H e B |
o P A
+3 IS 4% |l [dhed & SIgaU gelgel Bl Hlell BT
ST |
0 afe g A gargen Hren 7 fFar &)

Direction (81 to 83) Find the missing term.

e (819 83) : @ Ug T BN |

(A) s and 15t (B) pand 17t 81. 1,2,9,4,256,
(C) s and 2Nd (D) pand 13t (A) 51 (B) 49
T%H T & WA HAH 37 & | §9 dd DT i 9 A (C) 50 (0) 4
S B 82. C4X, FaU, I16R, ?

t th (A) K25P (B) L25P
(A) s TT 13 (B) p @ 17 (C) L250 (D) L27P
(C) s err 2nd (D) p @err 13th
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83. 6 8 ?
9 3 13
10 14 1
(A) 11 (B)9
7 (D)5

84. |f RESCUE is coded as SDTBVD then EROSION would
be :
Jfe RESCUE @ SDTBVD ¥ &' f&ar W d
EROSION &! fbad @ie fear i ?
(A) FSPTIJMO (B) FQPRJNO
(C) DSRPHPM (D) FQPRJPM

Directions : (85) Read the following information and answer
the questions given below it.
Five girls are standing in a cricle facing the centre. Suman
is between Lata and Asha. Mamta is to the right of Lata.

e : (85) fFrforiyd o1 & IR W U8 T Ue & IR
A |
ufg efeal fEe M § 3 @1 ik g v =l T
G, A1 g RN P HG A T | AA], A1 D SR AR 2T |

85. Who s to the left of Asha if Rajani is the fifth girl?

(A) Mamta (B) Suman

(C) Lata (D) Rajani

Ife diedl de! ISl B A AR B IR B 901 22
(A) e (B) g

(C) war (D) IoT=

Directions (86) : In the question below are given two
statements followed by two conclusions numbered I and
II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known
facts. Read the conclusion and then decide which of the
given conclusions logically follows from the two given
statements, disregarding commonly known facts.

86. Statements : Some doctors are fools. Some fools are rich.
Conclusions : 1. Some doctors are rich. II. Some rich are
doctors.

(A) if only conclusion T follows
(B) if only conclusion II follows
(C) if neither conclusion I nor TI follows
(D) if both conclusions Tand 1T follow.

fodfer (86) : @ Y Ty H Q7 P R I A€ A
frspd fad gU B | FoHl & ogER P ey @& 2
P : FO IIde I | FO @ MR 2|
frsp : 1. §B Sfaex R 2| 1L $B FHR SaR 2|
(A) DTt 1oy T 21
(B) dae 11 frepd el 2 |
(C) e A frepd e e 2
(D) 3T fosapd | 2 |

Directions : (87) Read the information carefully given below
and answer the questions that follow.
A total of nine cards consisting of four kings, four queens
and one Joker were there with Sujith, Ajay are Sanjay.
I. Ajay had two cards, Sujith had three cards, and Sanjay
had four cards.
[I. The man with the most cards did not have the joker.
Ill. Everyone has at least one king.

Directions : (87) <2 &t 7§ Wﬁﬁ Edl EJI'FIW T B I)
Tl BT ST AMeIg

87.

88.

89.

Foild, 3TSTy T WOl & U Hod A 0 & e IR
ST, IR AT TAT U S &

|. 3751 & U &1 W &, Goud & A SIR Fold & U TR W B |
II. e Uxt aTet wafddd & U SR & R

.90 & U &9 | H | Th I 2 |
Who had the Joker ?

(A) Ajay (B) Sanjay

(C) Sujith (D) Ajay or Suijith
TR feas g 8 ?

(A) 3™ (B) @91g

(C) guird (DESEER:SIS]

How many leap year and ordinary year are there in the
first 100 years A.D. ?
Felve} 98 & FUH 100 981 H a1 ofiy 99 qorn HERvl

q¥ 9 ?
(A) 25, 75 (B) 23, 77
(C) 24, 76 (D) 26, 74

The number opposite to 3 is

3% fauda g g

(A)2 %

(C)5 (D) 6

Direction (90 to 91) Find the missing term.

fader (90 W 91) : g U W |

90.

91.

92,

93.

94.

25, 30, 36, 44, ?

(A) 50 (B) 43

(C) 51 (D) 47
CFIJ, RUXY, EHKL, PSVW, ?

(A) HILM (B) UXZA
(C) TWZA (D) MOSV

From among the four alternatives given below, which
numbr replaces the question mark ?

¥ T IR el § D 31h kR BT ufoenfid He—

4 7 7
78 39 11@9
6 4 2
(A) 91 (B) 108
(C) 116 (D) 119
In a certain code CONFUSED is written as EMNBEFTV

how will you encode SECLUDED ?
f<ft @IS ¥ CONFUSED @1 EMNBEFTV ¥ &'s f&a1 o

T, SECLUDED &1 fhaw @Ts fhar wiRmm?

(A) MDFTCDCT

(B) KBDRCDCT

(C) RDBKEFEV

(D) KBDREFEV

In question number 85 if Suman and Mamta interchange
their positons, who will be fourth to the left of Rajani ?

(A) Lata (B) Suman

(C) Asha (D) Mamta

wed Gl 85 H AfE gAd 9 991 WER Al Rerfd 954

o O ol @ 9t 8RB wWE W) B 8m?
(A) @t (B) g
(C) 3m=m (D) HHaT
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01 SAMPLE TEST PAPER

Directions (95) : In the question below are given two statements

followed by two conclusions numbered T and 11. You have
to take the given two statements to be true even if they
seem to be at variance from commonly known facts. Read
the conclusion and then decide which of the given
conclusions logically follows from the two given statements,
disregarding commonly known facts.

fader (95) ;- Y R e # T ded 3R 9 9e Q) Ay

95.

96.

97.

98.

99.

—— Hyderabad Centre —

X gQ 2| Pl & IgAR B ey | B

Statements : All fish are tortoise. No tortoise is a crocodile.
Conclusions : 1. No crocodile is a fish. II. No fish is a
crocodile.
(A) if only conclusion T follows
(B) if only conclusion TI follows
(C) if neither conclusion I nor I follows
(D) if both conclusions T and 1T follow.
FHd : afl Aoferdl gl T | P HY;M TRAW L 2|
Py : L B ATRT Ao AEl 2 | 1L B ASell
TRATS el 2 |
A) Saat 1Ty T 2|
B) ®aat 11 fa=py @l 21

)BIs A forspd T T8 2
D) T fosps W 2 |

In question no. 87 Who can have three queens ?

e 9T 87 H, fhds o dF I 8 el § ?
A) Ajay (3151)
B) Sanjay (|%1Y)

C) Sujith (giid)

(
(
(
(D) Sanjay or Sujith (d51d a1 Foild)

)
)
)
)

If it was Saturday on 17th November, 1962 what will be
the day on 22nd November, 1964 ?

G 17 9% 1962 Pl AR 2 TN 22 FawR 1964 1 2|
(A) Monday (@1FaR)
(C) Wednesday (§9dR) (D) Sunday (fdam)

(B) Tuesday (WiTeTaR)

Which alphabet is opposite D ?
D& fausid dI=4r JfeR Brm ?

(i)
WE  (B®C (©F (DA

|f MOON is coded as 19 and RED is coded as 9, how
would you code SISA in the same code language?

gfe MOON &1 19 3% RED &I 9 for@r Sy o SISA &1
g1 fer@n s |
(A) 15 (B) 16

*, %k &,k &
* *
***f*?}'
) Gl
100. There are nine chairs in a row, each numbered 1 to 9 from
left to right. Six friends are sitting on these chairs Megha,
Sapna and Riya are neither sitting at chair 1 nor at chair
numbered 9. Beena and Megha does not have anybody
sitting adjacent to them. There is only one empty chair
between Megha and Riya. Charu is adjacent to both Jiya
and Riya. Sapna is sitting at the seat numbered 2.
Megha is sitting on which of the following chairs?
TH AR H A A T S I W S 1 9B W
ARIT 2| 6 A 39 FAA W IS Y 2| AW, FUA
AR Rar 1 ok 9 A W & 21§91 3R Fen B gy H
BTy T8l 901 3| 79T 3R RAT & 49 ¥ Pad e Al 3 |
=, Siran AR Rar I+ @ e ¥ 93T B WU 2 90
aqrell HE W T
T B FAT BT 3D 1 DY
(A) 4 (B)5
€7 (D)8
ANSWER KEY TO SAMPLE TEST PAPER-1
1. (C) 2. (D) s (C) 4. (D) 5. (B)
6. (B 7. (B) 8 (D) 9. (B) 10. (C)
1. (A) 12. (D) 13. (D) 14. (D) 15. (C)
16. (A) 17. (D) 18. (D) 19. (D) 20. (D)
21. (B) 22. (A) 23. (D) 24. (C) 25. (B)
26. (D) 27. (B) 28. (A) 29. (B) 30. (A)
3. (B) 32. (D) 33. (D) 34. (A) 35 (D)
36. (D) 37. (C) 38. (C) 39. (C) 40. (B)
41. (A) 42. (A) 43. (C) 44. (A) 45. (B)
46. (B) 47. (B) 48. (B) 49. (B) 50. (B)
51. (C) 52. (B) 53. (A) 54. (C) 55. (B)
56. (C) 57. (B) 58. (B) 59. (D) 60. (A)
61. (B) 62. (D) 63. (D) 64. (A) 65 (A
66. (C) 67. (D) 8. (A) 69. (D) 70. (D)
7. (B) 72. (B) 73. (D) 74. (B) 75. (B)
76. (B) 77. (A) 78. (B) 79. (B) 80. (B)
81. (B) 82. (C) 83. (A) 84. (B) 85 (D)
86. (C) 87. (D) 88. (C) 89. (B) 90. (C)
91. (C) 92. (B) 93. (D) 94. (C) 95 (D)
9%. (B) 97. (D) 98. (B) 99. (B) 100. (C)
HINTS & SOLUTIONS TO SAMPLE TEST PAPER-1
1. 9-(n-2)°
Forn=5,4,3,2,1,0, -1
9-(n-2)? is a real number
So, number of integral values of nis 7.
1 1 1
a  [X]R[xC)Ex)®
x© x4 xP

bec .ca &P .alb-clblc-a)rc(a-b)
=W Ka(x)® =) as
ab-ac +bc—ab+ac—bc
(x abo

Ko = (x)° = 1.
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6 11.
R Q
’ ‘?
65° AL NONT75°
B P B
Z1 = /3 =60° OA? = (5)2 + OM?
/2 =180 — (65 + 60) = 55 OB?— (4)% + (OM + 1)?
/4 =180 — (75 + 60) = 45
/5 =180 — (55 + 45) = 80 .. OA =OB = radius (f3r=am)
£5= /6 =80° 2 2
ZCXY =180 — (80 + 60) = 40°. 25+ OM* =16 + OM* + 1 + 20M
7. Let the sides of the triangle be 3x,4x & 5x. 2.0M=8
3X + 4X + 5x + 144 OM=4cm.
12x = 144 i .
x=12 3
S1=8x=3x12=36 12. %‘27—‘!62}
So=4x=4x12=48 L
S3=5x=5x 12 =60 - 2 |
[RPPRE 2 277 1ro77e
s=S1+5,+5 _144 _5 @7)" [_] - (27)6{—] —2x (27)%| -
2 2 24 24 24
By Heron's formula -
- (s)(s—a)s—b)(s—c) - V72x36x24x12 , (27j2 2 39, 39-36 3
=3+ | — - = —— - - —
_V12x6x12x3x12x2x12 _ 144 x 6 = 864 cm? 4)2 4 4 4
D b 13. h=14m
c C.S.A. =220 m?
9. Ny 2nrh = 220
, r= 220
. _ ey
A z o 2x 14
Draw CE || AD
AECD is ||om r:m zém
EC=AD=a,AE=DC=b 4 2
ZAEC = ~ADC = 2x V = nr*h
/AEC = #EBC + /BCE 22 5 5 14 = 11 x 25 = 975 m?
/BCE =2x—x =7x§x§x =11 x = m
=X. 4
BE=EC=a 15. N -2 =n=16
.. AB=AE+EB=a+b 20 5
10. 16. 14 57 493
D c 25'100'86’5
L.C.M. of 25, 100, 86, 5 = 4300
F 14 2408 57 2451
2 SO, —_— = — = — =
25 4300 100 4300
A B 49 2450 3 2580
arAFD!E = 2 arAAFE because height are same base are in 86 4300 5 4300
theratio 1 :2 14
Let arA AFE = x unit So — s the smallest
arAFDE = 2x unit
In AABD, AE is median Y
.. arAADE= arAABE 18 Q.
arAADE = arAAFE + arAFDE = 3x unit ) ) | (+4)
arAABE = arAADE = 3x unit h Q 0| Q %
Area of quadrilateral = arAFDE + arAABE = 5x unit r -) (+,-)
arAFDE X 1 ¥

ar quad AFEB 5x 5

19. Remainder = P (-1)
= (-1)%1 4 51 =—1+51=50
20. Let ZEAD = a. Then ZAFG = a.and also ZACB = a.

Therefore, Z/CBD = 2a (Exterior angle to DABC).
Also, ZCDB = 2a (Since CB = CD)
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Further, Z/FGC = 2a (Exterior angle to AAFG). 1(y*+1) _ o
Since GF = EF, Z/FEG =20 . E[Tj = M=)
Now, #DCE = #ZDEC = B (say), then ZDEF = 3 — 2a.
Note that /DCB = 1802 — (a + B).
Therefore, in ADCB, 180° — (a0 +B) + 200 + 20 = 180 or 31. 3*8=3°=4x—-8=0o0r (x=2)
B=3a. :
Further ZEFD = ZEDF = y (say ) 32. x=2+223,218
Then LEDC =y-2a. oy _52/3 . 51/3
If CD and EF meet at P, then ~FPD = 180° - 5c: =S =a==s e
Now in APFD, 1802 — 5. +y + 200 = 1802 0or y = 3t . cubing both sides,
Therefore, in AEFD 2y = 180° 6o = 180°
ere 02980'2 ot ey or o+ ba (x—2)3 = (223)3 1 (21/3)3 ;. 3223 51/3(22/3 | 51/3)
ora = .
o (x—2)3=2212,6(2%3 213
21. Two equilateral triangles are congruent when their sides are
: 9 g or,  (x—2)3=6(1+22/3 2113
equal
5 o, (x=-2°=6(x-1) .... from (i)
22. A= s(s—a)s-b)s—c) =125
Vs(s—a)s-b)s~c) o, x3-23-3xx2x24+3xx22=6(x—1)
23. Let the number be x 3 >
o, X°—-8-6xc+12x=6x—6
then 2x + x = 42
3x =42 xS —6x2 1+ 12x—6x=8-6
42 X3 = 6X2 + 6x = 2
e ? =14. 35. QRST is a square
1 1 1 N
27, (1+—](1+—](1+ j a a
n n-1 n-2 \
Q 50N R
Method — 1 3\ oo
Put n = 3 we get the value of the expression = 4 a a
from the options, option (B) satisfies it. X
T 2 ]
Method — 2 Let side = a.
(n”J [n—1+1] (n—1) Triangle PQR is equilateral
n n-1){n-2 PQ=PR=QR=a
or (M40 o N (n=1) or, "+T  Aps. Z/PRQ = 60%APQR is equilateral)
n (n=1 (n-2 n-2
In APRS
20, 17 1 =M
2V "y PR =RS
Y +1 Z oM. (i) /PSR = /SPR = x
y (angle opp. toequal sides are also equal)
1 1 =X
Mean of y* & — (ys q— B mwj ZPRS = 60 +90 = 150°
y y X + X + 150° = 1802 (sum of angle of APRS)
1[y3+l]3 1[y5+1]_..(ii)] 2xX=30° = x=1%
3 Al T3
& y 20y 36. ZNYZ=2YNL [Alternate interior angles]
Taking the cubes of (i) ((i) FT T9 F=T W) X
ye+1+3y°(y2+1) —gme
y—a L M L M
Yo +1 32 +1) _ g ¥ Z v z
y3 y But ZNYZ=ZNYL [YN is the bisector of LY ]
ye +1 5 N So, ZYNL=ZNYL
+3 x =
y’ So, LY = LN
ve Similarly ZM = NM
— 8MP —
v =Nl © YL+2ZM=LN+ NM
YL +ZM = LM
= 2M(4M? — 3)
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37. Side are 25x, 17x, 12x
540 = 25x + 17x + 12x
54 x = 540
sides are 250m, 170m, 120 m

,_ 25041704120 _ 540 .

2 2
A= [270(270 - 250)(270 —170)(270 —120)

- J270x20x100x150 - 9000 m?

D C
80
39. ¢
h 150
S
A E B
/A = /C = 80°

ZFEA = 1802 — 1502 = 30°
Zx = 1802 — (80° + 309) = 70°

45. Total number of cases = 26
Total number of favourable cases = 5
Probability (Choosing a vowel) = 5.
26
49. Angles in the same segment are equal.
£CBD = £CAD = 70°
ZBAD = #BAC + ZCAD = 30° + 70°
£BAD =100° (i)
Opposite  angles in a cyclic quadrilateral are
supplementary.
/BCD + #BAD = 180¢
From (i)
«£BCD = 1802 - 100° = 80°

97. -+ 1964 is a leap year.
.. Number of odd days is 2.
Number of odd days in 1963 is 1.
From 17 November 1962 to 17 November 1964, there are
3 odd days. ............... (1)
From 18 to 22 November there are 5 odd days ........ (2)
From (1) and (2)
3 + 5 =238 odd days = 1 odd day.
.. Saturday + 1 odd day = Sunday

99. Sum of position of the alphabet in alphabetical order is

divided by number of different letters

100. Form the question, we get that
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SAMPLE TEST PAPER

(For Class-XI Appearing / Passed Students)

Course: CLASS Xll(currently studying XI)

Marks to be awarded
S.No. Subject Nature of Questions No. of
) Correct | Wrong| Total
Questions
PART-I Single Choice Questions (SCQ)
1to 40 40 3 0 120
to (Maths) (PaaT T fawea @)
PART-II Single Choice Questions (SCQ)
41 to 60 B 20 3 0 60
to (Physics) (PaaT T A @)
PART-III Single Choice Questions (SCQ)
61 to 80 (Chemistry) (3@ < R <) 20 3 0 60
PART-IV Single Choice Questions (SCQ)
81 to 100 (Mental Ability) (3@ < R <) 20 3 0 60
PART- 1 (MATHEMATICS) 4T - | (fOre) 4. If0<0<90and_sin@ __sind _4thenthevalueof  is:
1-cosd 1+cosb
SECTION : (Maximum Marks : 120 . .
( : IR 0<O<00Tr _sind  sind =479 O A 8
This section contains FOURTY questions 1-cos@ 1+cos@
Each question has FOUR options (A), (B), (C) and (D). ONLY (A) 30° (B) 45¢ (C) 602 (D) None of these
OHNE; 0 hese-four opton istcoract 5 The mid point of the base of a triangle is equidistant from
. For each question, darken the bubble corresponding to the ’ I th a This iriamale i - g q
correct option in the ORS ;ﬁ e ve%cies. @ etnangie is . S NE N
. Marking scheme : U Tt STER. PT A& ﬁv_ﬁ
+3 If only the bubble corresponding to the correct option T R R B AP ' -
is darkened (A) equilateral (B) right angled
0 If none of the bubble is darkened (C) isosceles (D) none of these
o A ES H AN UH B | (A) TFETg (B) |HBIOT
e UG U ¥ TR fAdeu (A), (B), (C) 9 (D) &1 397 R (C) wHfgaTg (D) 79 ¥ DIE -T&
faaedt # ﬁ_ B ET:F faea @@t 2| 6. For the distribution
e UASP U ¥, G fdbey & IIIHU gelgt B 3. IR, T Marks Number of students
T P TN | Below 5 10
. s o cow 10 28
+3 Ife 4% WL fAdhed & gy gorgel DI BHlell fbal g | Below 20 57
0 IfE PIE M gaAgen ®ren 9 a1 B | Below 25 66
— - - the sum of the lower limits of the median class and the
1. The traffic lights at three different signals change after modal class is :
48s,72 seconds and 108. If they change at 7 a.m. (A) 15 (B) 25 (C) 30 (D) 35
simultaneously. How many times they will change between ey deq & -
7am. to 7 :30 am. simultaneously ? e Srenffar @ @
T o Reeell & fhes o) IRWT 48 Iavs,72 IHvs N e
ToT 108 Whve W Feaidl 8 | AfY THT TP A1 Jag7 qof 5%?5# 10
gl &l 799 W7 :30 99 dP UH WY fhael R 1014 e
T 2 159 &9 37
A3 B4 (©5 (D)2 204 %7 57
2 If the zero of the polynomial f(x) = k2 — 17X + k + 2 (k = @[&zﬁq o8
. = - +K+2, : )
> 0) are reciprocal of each other, then the value of k is : bl CHICIN & a1 e el 31 @ g
I IgUE 1(x) = k&2 — 17x + k + 2, (k> 0) B T b TR (A) 15 (B)2s  (C)30 (D) 35
D YhY 2, A1 k BT AM BN
" 2 _ — =
(A) 2 (B) — 1 (C)=2 (D) 1 7. If o, B be the roots of x2 — a(x —=1) + b = 0, then value of
# + 1 +_ 2 s
. 8 a®—aa p2-ap a+b
3. In equation 4p+a:15and 6p—a:14thevalueofpand A —ax-1)+b=0d Tt OL,B_&'\L ar 21 .
g would be- ] @ -aa
2 _
W4p+§:156m6p—§:14ﬁ pTRIT q& A Bl - B2 —ap il A
q q
A) 1 B) 0 C)2 D)3
(A)p=3,9=2 (B)p=4,q=2 (A) (B) (C) (D)
(C)p=7,q=6 (D)p=4,9=3
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02 SAMPLE TEST PAPER a x Xow
D e Saked
8. If aj, ap, as, ......... is an arithmetic progression with TP 97 7 207 & 9 9 x drell 8| Ife 10 drefll A &1
& F R S TN ® A g Brel A e W i
common difference 1and » @, =137 , then the value of
;' Ugel ¥ G B SR B x BT AE T
Q2+ a4+ s+ e Ags IS : (A)O (B)5 (C) 10 (D) 40
Ife ay, ap, as, ......... TP FHR Ao B e arderear 1 15. Let by, by, ....big be the first 19 terms of an arithmetic
%8 progression (AP) with by + bg + b2+ byg = 224, The sum of
A, > 8 =137 ¥ T ar+ar+as+ .....am 1 AT 3 frst 19 terms of the AP is -
= et F R ooft & ugd 19 UG by, by, .....b1e® 3R by + bg
(A) 67 (B) 83 (C) 93 (D) 98 + bia+ big = 224 & FAEIGR S0 & UB 19 UGl &1 WA B ;
9.  Coordinates of P and Q are (4, -3) and (-1. 7). The (A) 448 (B) 896 (C) 1064 (D) 1344
abscissa of a point R on the line segment PQ such that 16. LCM of two numbers x and y is 720 and the LCM of
PR _3 - numbers 12x and 5y is also 720. The number y is.
PQ 5 31 |l xRy # @ 9 (LCM) 720 § qeI Fwaisii 12x
fagall PR Q@ fdwm® (4, -3) 3R (-1. 7)1 ft fdg R ARGy BT A W 7208 | ATy R
A) 180 B) 144 C) 120 D) 90
%@TWPQU‘\’ﬁ%%Sﬁ?E:E%ﬁ’rﬁv—ngga @) , ®) ) (©) ()_
PQ 5 17. What is the remainder when the polynomial p(x) =
3. X200 — 2x199 4 x50 2x#9 4 x2 4 x + 1 is divided by (x =1) (x —
) 2)?
(Ay1es - B)175 (C) (B) 1718 UG p(X) = X200 — 2x190 4 x50 — 2x* 4 x24 X + 1 BT (x — 1)
10. Ifff;om thhg top o{atcliff 100 msgiogh, ?zgongtlﬁs otfhdezrets,sion (x=2) Fq YAT Y W R ATFSA YT 2RI 2
of two ships out at sea are 602 an 9, then the distance _
between the ships is approximately. (A)1 (87 (e + (B) Bxe=3
& 100 Hiex Sl ggem & AW | Wz ¥ I TEN b 18. A train travels a distance of 300 Km with a constant speed.
STaTET BT 602 3R 300 L @ wEH @ wey o 1@[ If the speed of the train is increased by 5 Km an hour, the
! journey would have taken 2 hours less. The speed of train
Elill will be -
(A) 173 m (¥1eR) (B) 346 m (¥IcR) T YS! 300 fodl. 3 g8 w o & 97 beeht § Al
©) 200 (@) D) 2003 m () I ardt 5 fH1. ufa aver gg1 &1 9 A1 98 S & a1
J3 3 B H 2GS HH oicl 3| YT B ATl B -
. . . , (A) 20 km/h (B) 30 km/h
11. Inthe flgure given below, PCisa ta.mgent to the circle from (C) 25 km/h (D) 40 km/h
the point P and B is a point on the circle such that PB = CB. ] - o
oot b i
o M R § PA qu B wef Y@ PCR dun 99 W * == *
3
fdg B39 ysR © f& PB =CB. afd ZDPC =20° &I, 4l (A) 3 (8)0 (©) 1 (D) 2
£DCP 1 7 &R 8 — 20. In the figure, PQ = QR = RS = SP = SQ = 6 cm and PT =
RT =14 cm. The length ST is :
Il 7, PQ=QR=RS=SP=SQ=6cma PT=RT =
i i 14cm 2 ISTH JNTs 8
P P
C
(A) 1202 (B) 1402 (C) 1302 (D) 1002 T
12. Four circular cardboard pieces, each of radius 7 cm. are Q
placed in such a way that each piece touches the two other
pieces. The area of the space enclosed by the four pieces R
Is - (A) 4,10 cm (B) (74/3 -2) cm
7 cm. B0 9l IR @GR T B ghS 39 UHR W 8 (©) 10 om (D) 11 om
& UAD TR T $I W B 2| IR ghSI & 49 ol o o
E’;"F ?1113 E!;I ?2? %ETH C N 21. Q‘enr}ggivﬁlf ;12}/ series is 9 and median is 7 then mean of that
(A) 21 cm® (B) 42cm® (C) 84 cm® (D) 168 cm o<t Soft &1 sgotd 9, Mgdr 7 & A1 TR W B —
13. A sphere and a cube have the same volume. The ratio of (A) -6 (B) 6 (C) -5/3 (D) 5/3
the total surface area of the cube to that of the sphere is :
T Tl S g9 &1 3Mgd" Ub G9H 2| U9 TG Mol & 22, Iftheroots of px®+2gx +r=0and gx®—2+/Prx+q=0
A UOT ATl B AT & — are simultaneously real, than
(A)\fé;\f; (B)%Z% T px2+2gx+r=03Rg®-2/pPr x+q=0a 1 TP
|1y aRafad @ a
©) 7 /6 o ¥ Y6 5
A)p=q,r#0 B) 2q =+/pr
14. A bag contains 20 balls out of which x are black. If 10 more Ap=q (B)2q P
black balls are put in the box, the probability of drawing a (C) pr =g (D) 2p = ,}qr

black ball is double of what it was before. The value of x is:
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24.

25.

26.

27.
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02 SAMPLE TEST PAPER

If a,b, ¢ be the 4t 7" and 10* term of an AP respectively
then the sum of the roots of the equation ax? — 2bx +c =0

(-2 B) -2 (© &*a

a a a
(D) can not be determined unless some more information is
given about the AP
g el F9aR 9ol (AP) & 4 9, 7d 3R 109 UG HAM:
ab, T ¢ 2, T FHIHIU ax? —2bx + ¢ =0 Hal Bl A

n-L ® -22 ) £ta
a a a

(D) TR #1d & aR H 3R gaar & a1 fAuifRa &

9 T8 2|

Figure formed by joining points A 35 , B §,§ and
2’2 22

C(2,2) will be :

(A) Isoceles triangle (B) Scalene triangle

(C) Equilateral triangle (D) None of the above

A[§ 5}, B(ﬁ §J AR C2,2) Regall @ frem W wrw

2’2 2'2
SICARSCIEI
(A) Tafgarg Bt (B) s ogonall aren Brys
(C) wHaTg et (D) 34 I BT T

The angles of elevations of the top of the tower from two
points in the same straight line and at a distance of 9 m. and
16 m. from the base of the tower are complementary. The
height of the tower is :

AR & YR § AR UH TR Y@ F 9m. 3R 16 m. 3
T R Rea a1 (g3l 9 99R & S0 9 [E 2|
AR & 518 B :

(A)18m (B)16m (C)10m (D)12m

The tangents at the end points of a diameter of a circle

(A) Intersect at a point

(B) Are parallel to each other

(C) Are perpendicular to each other

(D) Meeting at an angle of 45°

<l qa & e & <ifad AR ) W 7€ wef Y@ @t
(A) Tl fag R afer=ea)

(B) Th—gE & FATRR

(C) Uh—g¥N & of=dd

(D) f&<it o Bivr 45° W gfawd!

ABCD is a rectangle with AD = 10 cm. Semicircles are

drawn on AD and BC if the shaded area is 100 cm?, then
the shortest distance (in cm) between the semi circles is -

ABCD T% 3Mard 8 fSra8 AD = 10 cm ¥ 3k AD @21 BC
W g Wi Ty § | IR srEfed A% 100 cm? & ar
aegdl @ 99 @ wew 9 g (em H) ¥ ?

A D

B C
(A)2.5m (B) 5m
(C)25m+5 (D)25m+25

Let P (4, k) be any point on the line y = 6 — x. If the vertical
segment PQ is rotated about y-axis, the volume of the
resulting cylinder is :

AT P (4, k) ¥&@T y = 6 — x. R Rerd | I} Seahr @ve PQ
Pl y-3eT B UK GARIT ST A1 O 4 Bl SATITA 2RT

29.

30.

31.

32.

33.

34.

(A)32m  (B) 161 ©€) 2“n

In a class of boys and girls, an student is chosen at random.
If the probability that a boy is chosen is % of the probability

that a girl is chosen, the ratio of the number of boys to the
total number of students is the class is :

TP Fel H B dSd 9 {Y dsihdl ¢ | S o o faemeff
B AIgesY YA Sl & | A dASB B g O P Wrfebar

e B I o B SRl B %?r,eﬁa@ﬁaﬁw

BT He & il el o dwen | srgua ' ?

(A)1:3 (B)y2:5 (C)3:5 (D)2:8
Equilateral triangles I, Il, Il and IV are such that the altitude
of triangle | is the side of triangle Il, the altitude of triangle Il
is the side of triangle Ill and the altitue of the triangle is the
side of triangle IV. If the area of triangle | is 2 cm?, then the
area (in cm?) of triangle IV is :

Fqaarg By | L 1 Fer IV IeR B fF B 1@ Sas
Brgt 1| Y qom 2, Byt 11 3t S Byt 1@ 3o 2
Brgst 1 # Fag Bygs v B gon 21 Ay Bes | B
B 2 cm? g, A Y IV BT &3%d (cm? #) 2 :
B @2 ©2 (@ %

2 16 32 64
The H.C.F. of expression (x + 1) (x —1)2and (x+1)? (x —1) is
QASDT (X + 1) (x =1)230R (x+1)2 (x =1) BT HoHo B—

(A) (x+1) (x=1) (B) (x+1)2
(C) (x-1)2 (D) (x+1)? (x=1)?

If oL, B and y are the three zeroes of the polynomial p(x) = x°
—64x — 14, what is the value of o®+ [3°+7°?

e agU p(x) = x*— 64x — 14, B T YIS o, B3Ry &,
Ao+ B+ BT AE R ?

(A) 36 (B) 40 (C)42  (D)64

In a given fraction if the numerator is multiplied by 3 and
denominator is substracted by 3, the fraction becomes %

and if the numerator is increased by 8 and the denominator

doubled the fraction becomes g . The sum of the numerator
5

and the denominator of the given fraction is :

e AU T & ofeT B3 T X W IR W 3Bl
%ﬁw,ﬁﬁr%wm%@uﬁmaﬁsﬁw

ﬁmmawaaﬁgwaﬂﬁmaﬁéhﬁﬁr%iﬁm

2| feT f=1 & &9 iR & &1 A BN

(A) 27 (B)33  (C)37 (D) 42

If cos A + cos? A = 1. Then the value of sin® A + sin*Ais :
gfe cos A + cos? A = 1. @l sin? A + sin* A T H19 gIT:
(A) 1 (B) 1/2 (C) 2 (D)3
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02 SAMPLE TEST PAPER

A ABC is a right angled triangle with £A =90°, AB = b cm,
AC = acm, and BC = c cm. A circle is inscribed in this
triangle. The radius of the circle, in cm, is :

A ABC U&% |HSIUT e & fordd £A = 90°, AB = b ¥4I,
AC = a 31, 92T BC = ¢ ¥ 8| S9& 3Fa & g @ran
T E | g9 @I Broan, ¥ A T

1

(AJ)a+b-c (B)E(a+b—c)
(©) % (a-b+c) (D) J@ 412 +C°

If mean of 5,10,15,P,20,35,40 is 21. Then the value of P will
be -

afg 5,10,15,P,20,35,40 H1 AR AEA 21. B, A P HT 74
BT

(A) 18 (B) 22 (C) 25 (D) 30

If sin 87° and cos 87° are the roots of the equation
x2—bx + ¢ = 0, then the value of b?is :

g sin 87° 3l cos 87°, AHIHRTT X2 - bx+c=0, & A &, T
b2 T A B

(A)c (B)1+2c (C)1-c® (D)1 +c?

The sum of first n positive integers will be -

U n € QNS P AT BT -

(A) Sn = n(”_‘”) (B)Sa=n (MJ
2 2

(C) Sn=n (”_—1J
>

AABC has vertices A (-4, 1), B(2, —1) and C (1, k). The
number of possible values for k such that the triangle is
isoscles is :

A (—4,1)B(2,—1) R C (1, k). &t ABC& oY & k&
g A @1 G SR AABC Ua wEfgarg Brye 8,
= g —

(A)1 (B)3 (C)5 (D) 4

(D) None @IS &l

A ladder rests against a wall at angle o to the horizontal. Its
foot is pulled away from the previous point through a
distance 'a', so that it slides down a distance 'b' on the wall

making an angle [3 with the horizontal then 2 is
b

U6 Wig) fHd AR & WER &9 94 o d I W g | gl
A & et TR @ a Y W ARSI W@ &, a1 el
1 ST Fw b @ w9 Rews o g, @ 9 afw

J B IV gAH B, gaﬂﬂm%‘rm—

A cha—CfJSﬁ (B) Sina—sinp
sinf —sina Cos ff — cosa

(c) cosa=—sinj (D) None F1¢ &
cosff—sina

PART- Il (PHYSICS) 9T Il (o fast)

SECTION: (Maximum Marks : 60)

This section contains TWENTY questions
Each question has FOUR options (A), (B), (C) and (D).
ONLY ONE of these four option is correct

For each question, darken the bubble corresponding to the
correct option in the ORS

. Marking scheme :
+3 If only the bubble corresponding to the correct option
is darkened
0 If none of the bubble is darkened
o sHTESHEW U B
e UIF U ¥ TR e (A), (B), (C) Tm (D) §1 89 IR
el § W Bad Y& b T 2|
o TP U H, el [Fcd & WU gAgel Pl 31 AR TH
H BIAT N |
o 3P IS :
+3 afe Faw GF) fAdey & I gagal BT Pranl &l
Y|
0 Ife o1 N geargenn Frem 7 fHa1 B |
41. In the given circuit, the potential of the point E is
Hod o 7 a5 E @1 fawa grm
P E 1Q
A — D
8V
c
B 50 L
(A) Zero () (B) -8V
(C) —4/3V (D)4/3 vV
42. At acertain place, the horizontal component of earth's
magnetic field is \/5 times the vertical component. The
angle of dip at that place is
fredl =M W g 80 gcd o1 FEER 9cd |
V3 T R, A S e R AR P10 e
(A) 60° (B) 45°  (C) 90° (D) 30°
43. Two plane mirrors are at 45° to each other. If an object is
placed between them, then the number of images will be
S FHIA QYU URER 45° BT PIU G B, D A Th d¥g
G <1 SR 8, o 9 dlel el Uffewl @1 wwer 2l
(A)5 (B)9 Q€7 (D)8
44. When a piece of aluminium wire of finite length is drawn

through a series of dies to reduce its diameter to half its
original value, its resistance will become

(A) Two times (B) Four times

(C) Eight times (D) Sixteen times

e ARA =R & YogAIgE @ AR B diaa SHdT
21 AT HR A1 SIar 8, 1 D1 UfaRig 81 SR

(A) AT (B) R AT (C) 316 AT (D) Hrefe T[T
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SAMPLE TEST PAPER

Two equal bar magnets are kept as shown in the figure.
The direction of resultant magnetic field, indicated by
arrow head at the point P is (approximately)

] TP O TS gEG ATAR W g B | fIg PWR
R g & @ e, 5 AR #1 of Swb g,
BT ()

® 7 © > D) |

If an observer is walking away from the plane mirror with
6m / sec. Then the velocity of the image with respect to
observer will be

et Rer Fade gl & IFH BT YeTd 6 Hiey/JAdvs
B el A UV § R 1 @ 2| 79 Vereh & wIue 390
wfafess @1 991 g

(A) 6 m/sec (B) -6 m/sec

(C) 12 m/sec (D) 3 m/sec

In a neon discharge tube 2.9 x10'® Ne ™ ions move to

A —

the right each second while 1.2x10'® electrons move to

the left per second. Electron charge is 1.6 x107'° C . The
current in the discharge tube

(A) 1 Atowards right (B) 0.66 A towards right
(C) 0.66 A towards left (D) Zero

T R fagsi el § 2.9x10'® Ne™ s afa dave
TR WP I 1.2x10"% goaeq ufd davs s O
FAd B | TIIEA W 3MAT 1.6x107° HeAd B | fagei el
H 9T BT A B

(A) 1 YRR ST @R (B) 0.66 YR IR} 3R
(C) 0.66 TARR Tt *iR (D) T

A long magnet is cut in two parts in such a way that the
ratio of their lengths is 2 : 1. The ratio of pole strengths of
both the section is

(A) Equal (B) In the ratio of 2 : 1

(C) Intheratioof 1:2 (D) In the ratio of 4 : 1

TP o gES Pl &l W H 59 ISR drel o © F
SIS TFISAT BT AU 2: 1 B B | IMI A B ga
e B

(A) SRTIR (B)2:13 argura #
(C)1:2 @ Igurd | (D)4 :1% argurd o

The focal length of a concave mirror is fand the distance

from the object to the principle focus is x. The ratio of the
size of the image to the size of the object is

T g aUUl B BIHE U f B A I Bled
(Principle focus) ¥ a&] @1 3 x © | FRIEH & IMHR
Tl 9] B AR F fAwfy grft

WL gL

! I
r - <C)\/: ©) <

In the figure shown, the total resistance between A and Bis

RATIREH A R B & € 5o uRRY @M

20 c10 10 10 10 10
i yiateyintioy
80 80 40
B 50 Dia 10 10 1o 1o
A) 120 (B)4Q  (C)6Q  (D)8Q

51.

52.

53.

54,

55.

56.

In the case of bar magnet, lines of magnetic induction
(A) Start from the north pole and end at the south pole
(B) Run continuously through the bar and outside

(C) Emerge in circular paths from the middle of the bar
(D) Are produced only at the north pole like rays of light
from a bulb

g gD P AT DG IR0 B gl Y@

(A) ST ga & Faerht & don TfEol ga W wHw B §
(B) Tve TEH & HIaR 3R 98 Fad &l &

(C) 9D &= ¥ Wi U R el 8

(D) STX ¢ | PHad IAMIT 8RNl B, O TDIY ded |
gHTel favol

In a concave mirror experiment, an object is placed at a

distance x; from the focus and the image is formed at a
distance x, from the focus. The focal length of the mirror
would be

e U aad TUU ® BIHd W x; §U W R 9 H
gfaferd Bed d x, T W 907 & @ U0 & Brdd 0
gt

X +X
(A) X, X, (B) A/X,X, (C) #(D) .
2

In hydrogen atom, the electron makes 6.6 x 10'® revolutions
per second around the nucleus in an orbit of radius
0.5 x 107'° m. It is equivalent to a current nearly

BIERIOM WA H Seidgd, AlWe & aRl 3R Ufd davs
6.6 x 10'> THR Ul HRAT & | SHD HeT BT 3541 0.5x107°
H | TS AP B! TEYT YRT R B

(A)1A B)1mA (C)1pA  (D)1.6x 107 A

The magnet can be completely demagnetized by
(A) Breaking the magnet into small pieces

(B) Heating it slightly

(C) Droping it into ice cold water

(D)

X

A) T BT BIXBIC THS A TSR
B) 39 oSl 91 T &vad

C)SH % & TS o H STaax

(D) Sfua &\dl & Us fARid 85 & g

How much water should be filled in a container 21 cmin
height, so that it appears half filled when viewed from the
top of the container (giventhat u =4/3)

(A) 8.0 cm (B) 10.5 cm
(C)12.0 cm (D) None of the above
21 9H S g9 ¥ {59 S8 I U )1 9 fF gdq

S W & W I T el € (R = 4/3)
(A) 8.0 ¥+ (B) 10.5 ¥t

(C) 12.0 3+ (D) SIRRH #§ ¥ BIs A2l

n equal resistors are first connected in series and then
connected in parallel. What is the ratio of the maximum to
the minimum resistance (E)

n T THM YR Ugel HUNH A SIS oI & R FH=iR
A Al ARBTH vd gATH FiRIE B Ut I

©a* (@<
n
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Aray of light is incident at an angle ifrom denser to rare medium.
The reflected and the refracted rays are mutually perpendicular.
The angle of reflection and the angle of refraction are respectively
rand r’, then the critical angle will be

TS Y& &1 foxor qee A1 9 R a9 ©) o1 9
Jmufid Bl 2 | WEkid gd suafia fHel weR awaq
2| WRIGdT T G DI HAY: - qq ¢ B | q9 BIAD
PO (TRH HIT) B

(A) sin”'(sinr)

(C) sin! (tani)

(B) sin”! (tanr')

(D) tan™'(sini)

The reading of the ammeter as per figure shown is
(T-grouping)
o # orfier &1 uts B

20

20 2v
2Q
20
1 3
(A) gA (B) ZA
(©) %A (D)2 A

Abeam of light is converging towards a point I on a screen.
A plane glass plate whose thickness in the direction of the
beam = ¢, refractive index = u, is introduced in the path

of the beam. The convergence point is shifted by (M)

(A) t(l—L] away (B) t(l +LJ away
H H

(C) t(l—i] nearer (D) t(1+iJ nearer
H H

T g e §o ud o R fasg 1w arfiaRa |
& ¥ | U GUdd Bid B GHRR ©ie Rad Jiers ¢
ToIT SUgeID 4 8, DI fBR0T G & U H @ el 2
ar sfren fawg facenfoa & wmem

(A) t(l—lj EYS (B) t[1+ij EN
M H
( 1} ( 1J
C)t|1l——| ™ D) t|1+—| 9™
M M

The magnetism of magnet is due to

(A) The spin motion of electron

(B) Earth

(C) Pressure of big magnet inside the earth
(D) Cosmic rays

TEF § BT BT HRU B
(VESEHEEIRCUIRRIR]

PART- Il (CHEMISTRY) - lll (Y8R faste)

SECTION: (Maximum Marks : 60)

This section contains TWENTY questions
Each question has FOUR options (A), (B), (C) and (D).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
+3 If only the bubble corresponding to the correct option
is darkened

0 If none of the bubble is darkened
U Ee H 99 TRA 2|
9% 939 H AR fadea (A), (B), (C) @2 (D) €1 39 R
fa@medl ¥ ¥ dad T@ fawed 98 2
TS T H, el f9Fed & AR gogal B Il AR TH
H BT MW |
3B IS
+3 I f® W8 Aded & U gaAgel & drenl foa
ST |

0 I 3Is o gaagenm dren = o 21

61.

62.

63.

64.

65.

66.

is a physical change where surface molecules
of a liquid escape.

(A) evaporation (B) condensation

(C) foaming (D) None of these

N TRIST § 79 D FE AR A WS TN 2
(A) are= (B) FEr=H
(C) 3INT g1 (D) % | PIg 7RI

Formalin is 40 % solution of -
(A) methanol (B) methanal
(C) methanoic acid (D) none of these

B Eiel ¥ 40 % AT Bl & —
(A) ASTE BT (B) HIMITA T
(C) ¥AIZH 37T BT (D) 399 | BIg &

Which of the following is a ferrous alloy ?

(A) Solder (B) Invar (C) Brass (D) Magnalium
=1 4 & I e Mg B —

(A) HiesX  (B) $91aR (C)sg (D) {i=ifers®
Methane is insoluble in -

(A) ether (B) water

(C) alcohol (D) carbon tetrachloride

A4 51 A srfdelg BT & —

(A) 2R (B) ST

(C) TebTEdl (D) B CTTHARTES

Which of the following is a correct pair according to
increasing atomic number ?

BT SIS U] HHE B I Y HH H & —
(A) Db, Ta (B) Au, Ag

(C) Mt, Ds (D) Bi, Te

Oxidation is a process which involves :

(A) Addition of oxygen (B) Removal of hydrogen
(C) Loss of electrons (D) All are correct
SHfiTRRoT a7 Ud & o —

(A) SiTRASTH BT T Brar ®
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67.

68.

69.

70.

71.

72.
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02 SAMPLE TEST PAPER

Some substances are given below :

(a) magnesium oxide  (b) carbon dioxide

(c) sulphur dioxide (d) calcium oxide

Which of the above substances, when dissolved in water,
turn blue litmus to red ? Select the correct alternative.

(A) (a) and (b) (B) (b) and (c)

(C) (b) and (d) (D) (a) and (d)

(a) AR THAES  (b) BIE SEIARIES (¢) b
SENFISS (d) DRI HAfgs

SR U T eref § W U A gaAa) foenw @l A
{ I | Al g | FE fAeed g |

(A) (2) 3R (b) (B) (b) 31 (c)

(C) (b) 3R (d) (D) (a) 3R (d)

Most of the jewellery is made up of :

(A) 22 carats gold (B) 18 carats gold
(C) 20 carats gold (D) 24 carats gold
STER W) f5dd 94 8d & ?

(A) 22 @) AT (B) 18 HYe AT

(C) 20 HRe I (D) 24 ®Re |

Graphite is used :

(A) as a lubricant (B) in pencil lead
(C) purification of water (D) (A) & (B) both
UBTFS HT g fHar orar 2 ?

(A) ¥EF & ©U H (B) Uil ofe #

(C) Ut & YfgHIor 4 (D) (A) T (B) T

Which of the following properties does not match to the
elements of halogen family ?

(A) They have seven electrons in their valence shells.
(B) They are diatomic in their molecular form.

(C) They are highly reactive chemically .

(D) They are metallic in nature

1 A @ BITH U1 Bl URAR & dedl & HAM 8 —
(A) S5 FAISNHN & 7 e—8d 2|
(B) 5% orvfa® wu # fgwRAMG 210 2 |
(C) 3 IRIfe wU ¥ §gd waraT fharefhie 2 2|
(D) 4 enfeads U & 2 |
In the reaction PbO + C — Pb + CO
(A) PbO is oxidized.
) C acts as oxidsing agent.

(B
(C) C acts as a reducing agent.
(D)This reaction does not represent redox reaction.

PbO + C — Pb + CO

& T afafear

(A) PO sffafigd grar 21

(B) C & SifefiaRe P a8 BRI Bl 2 |
(C) C U&% IUdAr® R &I HIY $Hdl & |
(D) 7= afferar Refew aifafrar =21 21

Which of the following sentences is not a characteristic of
acid ?

(A) Sour in taste

(B) When they react with base, salt is formed

(C) They have replacable hydrogen

(D) None of these

ot art & | PRe srelt A fadiwar g R ?
(A) @l w@Ig

(B) &R & W1 bl HRSD AT §HII ¢ |

(C) faReru= arY BESINH WA 2 |

(D) T & H18 &I

73.

74.

75.

76.

77.

78.

79.

80.

Which of the following metals is a component of stainless
steel ?

= d | S u1g SIRIE S/ B ueEH B P

(A)Mn  (B)Cr (C) Hg (D) Sn

When ethyl alcohol is heated with conc. H,SO4 the product
formed is:

9 AR Todhled B A% GoRgRd 37 & A1 T
forar war 2 @) S fadr g —

(A)CsHg  (B)CoHq  (C) CsHy (D) CoHe

Choose the correct order of atomic radii of Fluorine and
Neon (in pm) out of the options given below :

W el v fawent 7 9 WA den e[ @ wrEnftas
31 (pm ¥) & & w9 B g —

(A) 72,160 (B) 160, 160

(C) 72,72 (D) 160, 72

The gas produced from thermal decomposition of
NH4)2Cr207 is :

A) oxygen (B) nitric oxide

C) ammonia (D) nitrogen

(
(
(
(NH4)2Cr207 & &89 fadges & S~ 19 8 —
(A) 3ifefoT= (B) TEfe® sifrarse
(C) srfera (P)EIFCISE]

A solution reacts with crushed egg-shells to give a gas that
turns lime water milky. The solution contains —

TS e ove @ fods A a1 Txa U 19 SwH
FIAT & A gA D U B g g1 << 71 g9 formA
# IuRerd 2Iar g —
(A)NaCl  (B) HCI

(C)LiCl (D) KCl

Which of the following will give displacement reaction ?
(A) NaCl solution and copper metal

(B) MgCl, solution and silver metal

(C) FeSO4 solution and silver metal

(D) AgNQO; solution and copper metal

3T A DT fRemue srfifhar @ —
(A) F9F BT TR AR dfar

(B) 9 ERrM &1 €t iR =l

(C) B9 HewT HT I 3R aAf
(D) RreaR AIzge &1 O 3R dfar

Charring of sugar in concentrated sulphuric acid is due to
(A) Oxidation of sugar (B) Reduction of sugar

(C) Hydrolysis of sugar (D) Dehydration of sugar
A AehgRE F AN B TeAdx Bl U8 M & SR & —

(A) A= BT SRR (B) AT 1 3=raA

(C) A= &1 STATTEreH (D) T BT fAStelHoT
Which of the following represents the electronic
configuration of d-block elements ?

9 4 ¥ o991 d-<dfe B soIFee =g P S

(A) (n—1)s? nd™1° (B) (n—=1)d™"%ng2
(C) (n=1)d'"° ng?p* (D) (n=1)p*ns?

Resonance

Educating for better tomorrow

Our Hyderabad Centres :

Madhapur | Kukatpally | Tarnaka | West Maredpally | Dundigal | Medchal
Reach us : +91-9121219858 / www.resonancehyderabad.com




02 SAMPLE TEST PAPER
PART-IV (MENTAL ABILITY) MV (TR Avae)

SECTION: (Maximum Marks : 60)
This section contains TWENTY questions
Each question has FOUR options (A), (B), (C) and (D).
ONLY ONE of these four option is correct

. For each question, darken the bubble corresponding to the
correct option in the ORS

. Marking scheme :
+3 If only the bubble corresponding to the correct option
is darkened

0 If none of the bubble is darkened
. s‘awﬁmw%l
e UG U H TR fF (A), (B), (C) T2 (D) €1 39 IR
fA&edl § 9 $9d (P [dbed T8l 2 |
e UG U A, WAl A & ATHU golgel B AT AR, T
H BT PN |
. ST AT
+3 I R |81 faded & ST gargel B Hren fhan
Gilq |
0 I PIE W goIgen Hranl 7 & 2|

Direction (81 to 83) Find the misin_g term.
fader (Q.819 83) : g UG T B |
81. 7,19,55, 163,

(A)387  (B)329  (C)527  (D)487
82. KTE, SBM, AJU, IRC, ?

(A)KZQ (B)ZRL (C)QZK (D) LYJ

AT
83. B%%%
Vs
(A)125  (B)216  (C)121  (D)225
84. |f SPECIAL is coded as KZHBDOR then ORDINARY

would be ?

If& SPECIAL @7 KZHBDOR ®Ts f&an wran 8, a9
ORDINARY &1 —

(A) ZQBMHCSX (B) XQZOHCQN

(C) XQZMHCQN (D) ZQBHOBQZ

Directions : (85) Five persons are sitting in a row. One of the
two persons at the extreme ends is intelligent and other
one is fair. A fat person is sitting to the right of a weak
person. A tall person is to the left of the fair person and the
weak person is sitting between the intelligent and the fat
person.

fader : (85) uim =t vo Ufts ¥ 39 UeR 9 & & ufe @
aff~m RR1 W) 93 31 il 3 A U giga an gu™
MR 2| U AT A, FAVR fdd & 1Y 3R 907 B
U o Afdd, MR AfFT & IR & dUT HHSIR Afkd,
g ok @e <fed & 7w Yo7 g T

85. Tall person is at which place counting from right ?

(A) First (B) Second (C) Third (D) Fourth
TR Ffdd S F pY WIH W 2|
(A) U8 (B) T (C) R (D) =

Directions (86) : In the question below are given two statements
followed by two conclusions numbered I and II. You have
to take the given two statements to be true even if they
seem to be at variance from commonly known facts. Read
the conclusion and then decide which of the given
conclusions logically follows from the two given
statements, disregarding commonly known facts.

e (se) :

86.

N Y T uw A 8 Hod N S8 9e g ey
W 2| FE B IIER DY T=pY FE OB |

Statements : Some doctors are fools. Some fools are rich.
Conclusions : I. Some doctors are rich. II. Some rich are
doctors.

(A) if only conclusion I follows

(B) if only conclusion II follows

(C) if neither conclusion I nor II follows

(D) if both conclusions I and II follow.

FUT : BB SR W © | {Y W IR 8 |

ey - I g Sfaer 3R & 111 $B 3R SfaeR & |
(A) Baat I fepd T 2| (B) daat 11 ferd w&l 21
(C) ®1g I frpy &l w181 2 | (D) A f=py w&l 3 |

Directions : (87) Read the following information and answer the

question based on it :

In a school, there were five teachers. A and B were
teaching Hindi and English C and B were teaching English
and Geography. D and A were teaching Mathematics and
Hindi. E and B were teaching History and French.

e : (87) =1 Gamiell @1 UgaR SE WX SMIRT YR & SN

87.

88.

89.

SIfoR—

U femery § die arage 9| A den B, 2= iR enish
TGT X2 2, C deN B, 3RS 3R et UGl ¥ | D T A,
Tforg AR B= uel @ 9| E 9o B, 3fie™ iR B!
el B 9|

Who among the teachers was teaching maximum number
of subjects ?

FEUHI H P A b 97 yer a1 o1 ?

(A)A (B)B (G C (D)D

If the day before yesterday was Saturday, what day will fall
on the day after tomorrow ?

(A) Friday (B) Thursday

(C) Wednesday (D) Tuesday

It dI7 Fa1 ¥ U &1 QT TFaR o1, 99 1 9 HeA

P g5 BT foq a4 B ?

(A) TR (B) TR
(C) ggar (D) HITeldR

Which of the following dices is identical to the unfolded
figure as shown here ?

FrefaRed 7 3 SR U B Wie R Qs 1R adia
@ ¥ B8R ?

R

CcC|nw|H|T
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02 SAMPLE TEST PAPER

Direction (90 to 92) Find the missing term.

fader (Q.00 W 92) : @ Us T W |

90.

91.

92.

93.

94.

Directions (95) : In the question below are given two statements

5,8,13,22,37,
(A) 60 (B) 64 (C)68 (D) 66
B-4, D-16, F36, ?

(A) G—49 (B)H-64 (C)J-100 (D) H-81
(A) 72 (B)70  (C)68 (D) 66

If watch is called room, room is called bag, bag is called
rain, rain is called air and airis called water, Which is
used to carry the books ?

(A)room  (B)bag (C) rain (D) air

HI 991 He Y, I DI &GT SR FG@ DI UMl BT I,
@ fHadT ST fhae of 9 & ford far war 21

(A& (B)dem  (C) aut (D) &

In question no. 85 Person to the left of weak person
possesses which of the following characteristics ?
(A) Intelligent (B) Fat

(C) Fair (D) Tall

TS W& 85§ FHGIR Afad & § R e # &
HITET s o1 g B |

(A) g
(C) M=

(B) HireT
(D) =T

followed by two conclusions numbered I and II. You have
to take the given two statements to be true even if they
seem to be at variance from commonly known facts. Read
the conclusion and then decide which of the given
conclusions logically follows from the two given
statements, disregarding commonly known facts.

faer (95) :

95.

96.

—— Hyderabad Centre —

Resonance

I o ™ U # T B iR S 918 31 ey )
BV 2| PUFl B IAGAR I Y HEl B |

Statements : All fish are tortoise. No tortoise is a crocodile.

Conclusions : I. No crocodile is a fish. II. No fish is a crocodile.
(A) if only conclusion I follows

(B) if only conclusion II follows

(C) if neither conclusion I nor II follows

(D) if both conclusions I and II follow.

P - il AEferdl FgN €1 P FYA WRAD T B
S, BT TR 7ol Fal & | [ DTs Auel AR el B |
(A) Baat 1 frepd T 2| (B) ®adt II fA=pd &= B
(C) a5 Wl =y |1 781 2 | (D) I s @&l B |

In question no. 87 Which of the following pairs was
teaching both Geography and Hindi ?

(A) Aand B (B)BandC
(C)Cand A (D) None of these

e W& 87 ¥ N A 9 P g, e a0 il
Sl Y31 W@ ¥ ?

(A) AT B (B)B T C

(C) C WA (D) 34 | P &

*, K K,k Kk
*
b kel
KAk
97. If 18t October is Sunday then 1%t November of the same
year will be :
(A) Monday (B) Tuesday
(C) Wednesday (D) Thursday
Y 1 aaeer H1 IR & o S 9 F 1 FgER B
T
(A) IFAR  (B) AR (C) ggarR (D) TXdR
98. Which alphabet is opposite D ?
D& fauRid = R B ?
o
D
(i) (i)
(A E B)C (CF (D)YA
99. IfE =5 & SAFE = 31, then PINK = ?
If& E = 53R SAFE = 31, @9 PINK = ?
(A) 51 (B) 40 (C) 50 (D) 52
100. In question no. 85 Which of the following persons is
sitting at the centre ?
(A) Intelligent (B) Fat (C) Fair (D) Weak
e T 85 W = I § D fdd Hey #9067 T ® ?
(A)gEa= (B)HIler  (C)TMRT (D) F6IR
ANSWER KEY TO SAMPLE TEST PAPER-2
1. B 2. (A 3. (A 4. (A) 5 (B)
6. (B) 7. (B 8 (C) 9. (C) 10. (C)
1. (B) 12. (B) 13. (B) 14. (B) 15. (C)
16. (B) 17. (D) 18. (C) 19. (D) 20. (C)
21. (A) 22. (C) 23. (C) 24 (D) 25. (D)
26. (B) 27. (A) 28. (A) 29. (B) 30. (C)
31. (A) 32. (C) 33. (C) 34. (A) 35 (B)
36. (B) 37. (B) 38 (A) 39. (C) 40. (A
41. (C) 42. (D) 43. (C) 44. (D) 45. (B)
46. (C) 47. (B) 48. (A) 49. (B) 50. (D)
51. (B) 52. (B) 53. (B) 54. (D) 55. (C)
56. (C) 57. (C) 58. (B) 59. (A) 60. (A
61. (A) 62. (B) 63. (B) 64. (B) 65 (C)
66. (D) 67. (B) €8. (A) 69. (D) 70. (D)
71. (C) 72. (D) 73. (B) 74 (B) 75. (A)
76. (B) 77. (B) 78. (D) 79. (D) 80. (B)
81. (D) 82. (C) 83. (B) 84 (C) 85 (B)
86. (C) 87. (B) 88. (C) 89. (D) 90. (A
91. (B) 92. (B) 93. (C) 94. (A) 95 (D)
96. (D) 97. (C) 98. (B) 99. (C) 100. (B)
HINTS & SOLUTIONS TO SAMPLE TEST PAPER-2
1. LCMof 48,172, 108 is 432
The number of times they will change = 30x60 =416
432
that is 4 times.
2. a x 1_ K+2
a K?
1 = K+2
K2
K2-K-2=0
(K=2)(K+1)=0
K=2,-1
K>0
So, K=2

Educating for better tomorrow

Our Hyderabad Centres :

Madhapur | Kukatpally | Tarnaka | West Maredpally | Dundigal | Medchal
Reach us : +91-9121219858 / www.resonancehyderabad.com




*, ok ok ke ke
e ke ot
02 SAMPLE TEST PAPER \ ,.**;*
3 Let 1 =Q
q 10.
4p + 9 =15 100 m
q
4p + 6Q = 15 (1)
6p- 8 =14 In triangle ABC
. 100 100
6p-8Q=14 ..(2) tan 602= —— = \:6 = —
6 x equation (1) 6 x (4p + 6Q = 15) X X
4 x eq. (2) 4 x (6p - 8Q = 14) . 100 0
0 + 689 =34 - “\:15
:q:l - O=l=2 In triangle ABD
: a angoe= 100 _, 1 _ 100
p=3 —~ p=38qg=2 X+y N3 x+y
a. sing sind  _4 .
1—cos€+1+cosa x+y=100\/§ ..(ii)
= sind(1+cosd) +sing(1-cosé) _ 4 \?Vr; sc;lltvmg iiiand (i}
(1—cos@)(1+cos ) g 100
_ 2sné 4 — 2 _4 y=100v3 - 190 _ 10031 - 200
1-cos®6 sing 3 V3 3
11. .. Letus say ZCPB = x*®
= sinb=— = 0=30° R
5. Here (I8 AO=BD=DC=a
D B
P
c
/BCP = ZCDB = x®
B== D =a ¢C [Alternate segment theorem]
— AB=AC=+22a .. Z/DCP = 1802 - 2(x) [lsosceles triangle]
= 1802 - 2 (209) = 1402 [Given ZDPC = 209
=  so (3¥felY) BC?=4a?= AB? + AC? = 2a° + 2a2
=  AABC is right angle triangle. 12.
= Iy ABC wF a0 By 2 |
6.
Mark | NoofStudent | cf
0-5 10 10 Area = 142 —q x 72
5-10 15 25 =196 — 154 = 42 cm?
10-15 12 37 13. Let each side of cube be ‘@’ units and the radius of sphere
15-20 20 57 T units
20-25 9 66 _4 s @ _4_.a_(4z)"
modal class is 15 — 20 3 P 3 r 3
median cllas.s ST 15 ) Total surface area of the cube  6a°
so lower limits of modal & median class = 2
15 1+ 10 = 95 Surface area of thesphere 4r
= + =
7. o’-ac=-a-b 6 (4r )"’ 6 x
= ___ | = = N
1 1 2
. + + x+10 X
2 14. ATQ 27~ =2| —
a“-aa f-af a+b 20+10 (20)
= — 1b_ 1b+ 2b:0 x+10  x
a-+ a—+ a—+ 30 10
(4,_2) (X, y) (_1,7) 10x+100=30x =x=5
9. P R Q 16. As the LCM of 12x and 5y is 720

so, 720 should be divisible by 5y
x =30 +4(2) = —S8+8 _ or 144 is divisible by y.
3+2 S so, y should be the factor of 144
so, according the option to i.e. 144 is correct
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02 SAMPLE TEST PAPER

18. letinitial speed of train = v

800 _ 300 _,

v vV+5
300 (v+5—v)=2v(v+5)
750 = V2 + 5v

VZ4+5v—750=0
(v+30)(v—25)=0
v = 25, — 30 but speed can’t be negative
v=25
21. Mode = 3 median — 2 mean
22, px®+20x+r=0
D>0
492 -4pr=0
o2z pr (i)
ax2— 24Jprx+q=0
D=0
4pr—4g2 =0
pr= o (i)
By (i) and (ii) g? = pr
23. Llet4"term =x+3d=a (1)
7hterm=x+6d=Db .(2)
10" term=x+9d=c¢c
on solving (1) & (2) we get
x=2a-b
& d- a—(2a-b)
3
10" term =x+9d=C

2a—b+9(wj _C
3

=2a—-b+3a-6a+3b=C

—a+2b=C
2b=a+c
sum of roots of equation ax?—2bx + ¢ =0
sum of roots = 22 = A+C
a a

24. AB=\/@_§J2+(§_%JZ =2

2 2 1
AC= |3 5 I,
3262 -
1 1 2
AC+BC- —— 4+ — _ = _2
V22 2
AC +BC = AB

27.

28.

29,

34.

*, Ok Sk, kL %k
* >
**:*f**
K wrx
h
tan(90 - 6) = —
an( ) 6
cotO:L (i)
16
(i) x (ii)
tanb cotb = h*
9x16
1=_b°
9% 16
h=v9x16 _ 1o

Area of ABCD = AB x AD
shaded region = area(ABCD) — area (2 semicircle)

100 = AB x 10 — (ﬁ_rzxzj

2
100=AB x 10 -7t x 25
100 = 10 x AB - 25=
10 x AB =100 + 25n
AB = 100 + 257

10

AB=10+25n
shortest distance between semicircle
=AB—-2xradius =10+25x—-10=25n

P(4,2)
h

y=6-x

S k=6-4=2
P4, 2)

r=4

h=2

V = rth
=n(4)2 =32n

Let the probability of a girl be x

then the probability of a boy be E X
3
then n + E x=1
3
n=3 2,_2
5 3 5

totalno.of boys
totalno.of students

Probability of boy =

no.of boys
Totalno.of students

=i
5

cos A + cos?A =1

cosA = 1—cos?A = sin?A
sin®A + sin*A

= sin?A + (sin?A)?

sinA + (cosA)?

sin?A + cos®A

=1
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02 SAMPLE TEST PAPER

38. S=1+2+3+.u...
A.P. with firstturna = 1
and lastturn | =n
no. of turn =n

n
sum= — (a+1) =

n+1
sum=n
%)

39. A(-4,1),B(2,-1),(1,K)
the possible condition for a triangle to be tsoscles

AB =AC = V40 = 25+ (K1)
AB-BC = V40 _ fi+(K+1)

AC=BC= 25+ (K—1? = 1+ (K—1)

on solving these, total 5 value of k is possible

E(1+n)
2

40.

el P
B C N D
In AABC
sina= P+Y = b+y=ACsina
AC
=b=ACsina-y (i)
coso. = LS =x=ACcos a ...(ii))
AC
In AEBD
. y .
sinf= 2 = y=ACsin ...(iii)
AC
X+a

cosp = =>a=ACcospB—-AC cosa ...(iv)

From (i) and (iii)
b = AC sina. — AC sinf
b = AC(sina — sinp)
From (ii) and (iv)
a = AC cosp — AC cosa
a = AC (cosp —cos a)
a _ AC(cos g —cosa)
b AC(sina - sin )

a COSa-—cosf
b sing-sina

41. (C) The current in the circuit = s 4
5+1 3
Now VC_VE:ixl = VE:_iV
3 3
BV 1 o
42. B, =3 B,.als0 tand=—L=— =6=30
By 3

44,

46.

49,

52.

53.

55.

56.

57.

e B et el
* ** ****
D e Skl
In stretching of wire R « %
.
6m/sec 6m/sec
(_5 ”””””””””””””””””””” fl—>

(C) Relative velocity of image w.r.r. object
=6—-(—6)=12m/sec

_ )@ | (0)()

Net current I =1, +i_ = ,

4
S
& ] — :/

B —
I

n,) (n)

= i=—Lxe+—xe
t t

=29%x10"8x1.6x107"° +1.2x10¥ x1.6 x107**
= i=0.66 A

i: / s whereu=f+x ... —=—=
O f-u o X

Given u =(f+x,) and v=(f+x,)

The focal length f = —-— = (fHx)F+x5)
u-+v (f+xl)+0"+x2)

On solving, we get f? = x,x, or f=./xx,

i=qv=16x10""%x6.6x10" =10.56 x10™*A = 1A

To see the container half-filled from top, water should be
filled up to height x so that bottom of the  container
should appear to be raised upto height (21-x).

As shown in figure apparent depth k'=(21 — x)

Real depth h =x

Bottom Raised bottom

h 4 x
LHE—=—

= =x=12cm
h 3 21 —-x

=nR and R,;, =R/n = Rﬂ:n2

min
sin { sinr’ 1
pHr =———=rHp =
sinr

sini sinC
. sini sin/  sini .
=sinC =— = = - (as Zi=Zn)
sin@O0 —r) cosr cosi

=>sin C =tani = C =sin '(tani)
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58.

2
(B) Resistance across XY = 3 Q

Total resistance

=2+3=§
3 3

Current through ammeter
2 6 3

"8/3 8 4
59.

-—
| ez T T AX

/ @
—t
(A)  Normal

shift Ax = [1 —lj t
U

and shift takes place in direction of ray.

81. Series:(7x3)—2,(19x3)—2,(65x3)—-2,(163 x3)-2
= 487 (D).
No. is multiplied by 3 and then subtract 2.

82. First letter of each group differ by 8 letters. Second letter of each
group differ by 8 letters. Third letter of each group differ by 8
letters. Therefore, the next choice would be QZK.

84. The letters in the word are reversed and each letter has
preceding letter as code.
ORDINARY - YRANIDRO
1
XQZMHCAQN

90. Difference between the term-
5 8 13 22 37 —
Diff. 3 5 9 15 23
2 4 6 8

91. All the letters of each term are moved three steps forward
to obtain the corresponding letters of the next term

99. Clearly, (U< 8 fh)A=1, B=2..... E=5

SAFE=19+1+6+5=31
PINK =16 + 9+ 14 + 11 =50
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SAMPLE TEST PAPER

(For Class-XIl Appearing / Passed Students)

Course: CLASS XII +(currently studying Xll or Long term)

Marks to be awarded
S.No. Subject Nature of Questions :
) & 2o -o f Correct | Wrong Total
Questions
PART-I Single Choice Questions (SCQ)
1to 40
° (Maths)  |(@aat v& ey @) 40 3 0 120
PART-II Single Choice Questions (SCQ)
41to 70
° (Physics)  |(@act T Rdca @) =8 ? 0 20
PART-lII Single Choice Questions (SCQ)
71 to 100
= (Chemistry) |(®ad T ey T8) 30 3 0 90

PART - | (MATHEMATICS) T - | (\T72rci) 5. 199.008,3) ¢ cqualto
SECTION : (Maximum Marks : 120) log, (log, b)
This section contains FOURTY questions (é) —1Iogab ([B)) ?\llogbaf th
Each question has FOUR options (A), (B), (C) and (D). €)- (D) None of these
ONLY ONE of these four option is correct log, (log, a) TR -
. For each question, darken the bubble corresponding to the log, (log, b)
correct option in the ORS (A) - logab (B) - logsa
. Marking scheme : _ ; Y
+3 If only the bubble corresponding to the correct option is © - (D) & 9 P T
darkened 4.  The number N = logs 79. logys 3 . logs 1 lies between two
8

0 If none of the bubble is darkened

. EHEIE‘EIWW%I

o UAF U A IR fFe (A), (B), (C) T2 (D) B 37 IR
fapcul § ¥ dad TP by L 2 |

successive integers ‘a’ and ‘b’ where

F= N =logs 79. logys 3 . logs 1 3) warm quiiel ‘a’ qAl
8

TP U H, ¥el fdheu & HU gagel B AL IR T
H Pell N |

3B ArS

+3 3 R G8 fAdhed & U gaAgel DI Hiell fbal TN |
0 AR HIE A1 gaAga Franl 7 fBAT B |

If the distance between the focii of an ellipse is equal to the length
of its latus rectum then, the eccentricity of the ellipse is <Teig @1
aifEt & fg B QA AN B TR b aRIeY g, al

o ¢

drefgd A Sehsal 28—

A) J5 +1 (B) J5 -1
2 3
2 2
C) — (D) =
J5 +1 J5 -1

The number of solutions of the equation 2 x% + 9|x] —5=0is:
THNHIV 2 %2+ 9 x| -5 =0Tl & F& 3

(A) 4 (B) 2

€)1 (D)o

v ® 7 Reug B, WEi—
(A)a=1,b=2 (B)a=2
=0

b
(C)a=3,b=4 (D) a b

3
: 1

3 2
The set of values of x for which M >0

(x+1)(x-3)
x3(x =12 (x +4)
(x+1)(x -3)
o, —4]u(-1,0]u (3, o) u {1}
o, —4] U (=1,0) U (3, 0) u{-1}
4,-1]u[0,1)u (3, x)
4,—1] [0, 1)U (3, x)

>0 P 81 Yool & —

The greatest coefficient in the expansion of (5 + 2x)'0 is
(A) 1OC3 5723 (B) 10C3 53 o7

(C) °C55°2° (D) none of these
(5+2x)"° & IR 4 9279 ToNd o—
(
(

A) 1003 57 23 (B) 10(:3 53 27
C) 19Cs5° 25 (D) 39 & &I TEI
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10.

11.

12.

13.

14.

03

The value of 2°C,, + 2"C,_ 1 equals to 15.

SAMPLE TEST PAPER

G, + 2G,_ BT T XN & —

(A)2n+20n+1 (B)2n+20n
(C) 12n+20n+1 (D)2n+1cn_1
2

Distance of 2r_ chord of X2 + y2 + 2x + 4y + 1 = 0 from the

. 16.
centre, is
X+ +2x+4y+1=0 I 23—7577‘1131 B b= A T
(A) 1 (B)2

1
© 2 D) —=
V2

The equation of the locus of the point of intersection of any two 17.
perpendicular tangents to the circle x2 + y2 = 4 is given by :
(A)x2+y2=2 (B) x2+y2=8
(C)x2+y2=16 (D) none of these
FA x2 + y2 =4S foq awEq @l @l & ufees iy
1 fIgue Brm—
(A)x2+y2=2 (B)x2+y2=8
(C)x2+y2=16 (D) 37 ¥ B T
An ellipse with foci (3, 1) and (1, 1) passes through the point
(1, 3) its eccentricity is
g (1, 3) ¥ oA gt T (3, 1) 3R (1, 1) A1 are
g @ Scbadl 8— 18.
V21 ®) 3 -1
©) Ja-2 D) 2-3
The length of the latus rectum of the parabola, y?>-6y+5x= 0
is:
RIS y2 - 6y + 5x = 0 b Ty g Sfar o =g 28—
(A) 1 (B)3 €5 (D)4 19.
If the line x — 1 = 0 is the directrix of the parabola
y2—kx + 8 = 0, then one of the values of k is
I NI y2—kx + 8 =0 P FAAT x -1 =07, A kH
o AM B
(A) 1/8 (B) 8 (C)4 (D) 1/4
How many integers greater than 5000 can be formed with
the digit 7, 6, 5, 4 and 3, using each digit at most once?
3% 7, 6,5, 43R 3] 5000 ¥ 3If¥e fraw qoifes 2rF =
TS A IAd A AH T IR AR—
(A) 72 (B) 144 (C) 84 (D) 192
If 5 parallel straight lines are intersected by 4 parallel 20.

straight lines, then the maximum number of parallelograms
thus formed, is

I 5 TR AR W1, 4 AR TRl XW@RIT gRI ufoeofed
A B, @ 39 TR T TR s B we v

(A) 20 (B) 60

(C) 101 (D) 126

In a railway compartment, 6 seats are vacant on a bench.
In how many ways can 3 passenger sit on them

TP I B H, Uh 99 R 6 A Tell 8 39 Al W dF
I fa a9 ¥ 95 Hed a—

(A) 100 (B) 109
(C) 107 (D) 120

If the eccentricity of the hyperbola x> — y2 sec?a =5 is \f§

times the eccentricity of the ellipse x2sec?a + y2 = 25, then
the value of o is :

I} IfIRae™d % - y? sec? o = 5 B Jwdl, SHA
X2sec?a +y? = 25 o Schvall B \f3 T B, W o BT AN B
(A)n6  (B)w4  (C)w/3 (D) w2

Equation of the hyperbola with foci (0, + \f1_0) and passing

through (2, 3) is :
g (2,3) A o1 dd Jfdwaed e i

(0,iJ1_o) 2, BT GNP -

2 2
Y oy B) X ¥
8 18 8
y? y?

5

Y

If (2, 0) is the vertex & y — axis the directrix of a parabola,
then its focus is:

Ife Raerg o1 MY (2, 0) 3R fTar y-g&1 8, @ s
aifr 3
(A) (2,0
(C) (4,0)

Given figure shows a circle with centre at O, ZAOB = 309,
and OA = 6 cm, then area of the shaded region is

AW fF A& gd & o< O7 T2 ZAOB =309, @
OA = 6cm g, d1 SIUIfhd & &1 g3%d o—

(A) 3n—9 cmy (B) 3n cmy
(C) 9 —3xcm;y (D) 83n +9 cmy
fa=b-b?+b®—b*+..... o, |b|] < 1, then ‘b’ is equal to
a a
() 2 (B) 2
1-a 1+a
(C) a _l (D) None of these
a
AT a=b-b2+b3—b*+........ o, |b| <1, dr bl A 8—
a a
(A) — (B) —
1-a 1+a
©) a1 (D) 7 & B 7
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03  SAMPLE TEST PAPER

1 1

The sum to infinity of the series — + +
1+2 1+2+3

(A)2 (B) 5/2

(C)3 (D) none of these

1+ 1 + ! +......0 TGl @1 ATHSA B—
1 142 1+2+3

(A) 2 B) 5/2

(C)3 (D) T ¥ BIg Ll

Let W denote the words in the english dictionary. Define the
relation Rby : R = {(x, y) € W x W | the words x and y have
at least one letter in common}. Then R is-

(A) reflexive, symmetric and not transitive

(B) reflexive, symmetric and transitive

(C) reflexive, not symmetric and transitive

(D) not reflexive, symmetric and transitive

AMIG W 3TIST 268 DY & TRl Pl YKIRId Bl & | 09
Y 39 UBR URMING 8 R={(x,y) e Wx W | ¥ x
AR yH A P9 Y B P 3R SHIMS B} d9 RE —

(A) T, TAMAT 3R AHMS T8

(B) Wged TElE R THHS

(C) g WA T8l 3R WhMHD

(D) W e FEMAd 3R WS

If p & g are the roots of the equation, x2 + px + q = 0 then:
I FHET 2 +px+q=0% Jd pTd q 2, I

Ap=1 (Byp=1oraro

Cyp=-2 (D)p=-20rA1 0

The solution set of X2 —4| + (X + 2)°+ y/x® +3x +2 =0is

THEOT 2 — 4] + (x + 22 + YX*+3x+2=0 &1 &A

G B
(A)x e (—o0,—2]u[-1,0) (B)xe{-2,2}
(C)x e {-2} D)yxe{-2,-1,2}

The equation, n* =-2x?+6x -9 has :

(A) no solution (B) one solution
(C) two solutions (D) infinite solutions
FHIBIT n* = -2x2 + 6x - 9

(A) &1 B A8 2 | (B) &1 U& B B 1
(C) DA TABI (D) & 3= B B |

Consider an A.P. ajy, ay, ....an,.... and the G.P. by, b,...,

9
bn,... such that a; =by =1, ag = by and Z a, =369, then

r=1
HET FHRR S0 A ay, ag, ....an,.... 921 JONRR S0 H by,
bg,..., bn,... ELEREDR % .ﬁ’; a;=by = 1, @ = bo Sﬁ_\r
9

D a =369

r=1

Q\B Il

be = 27 (B) by =27
bs = 81

(
( (D) bg =82

Let U ={1,2,3,4,5,6,7,8,9} and A = {1,2,3,4}, B = {3,4,5,6},
C=1{5,6,7,8} then (AUB)~C'is

(A) {1,2,3,9} (B) {1,2,3,4}

(C){1,2,3,4, 9} (D) none of these

AT U ={1,2,3,4,5,6,7,8,9} 7T A={1,2,3,4}, B={3,4,5,6},
C=1{56,7828 d (AUB) ~C' &

(A) {1,2,3,9} (B) {1,2,3,4}

(C){1,2,3,4, 9} (D) T ¥ BIE &

28.

29,

30.

31.

32.

33.

34.

35.

The sides of a triangle are as 3: 7: 8. Then R : r is:
PRt 1 Yo 3:7:8%8, 99 R:ra—

(A)2:7 (B)7:2

(C)3:7 (D)7:3

T
For an isosceles triangle ABC, with A = E riirs =

WW@H@%ABC,WWA=%,WQ =

(A) 2 -1 (B) V2 +1
©) 2 (D) 242

The number of lines that can be drawn through the point
(4,— 5) and at distance 12 from the point (-2, 3) is
(A)O (B) 1 (C)2 (D) infinite

45 (4,- 5) W oA aTell TaH a5 (-2, 3) ¥ 12 P18 g
I aTel Y VRl P HEr a—

The number of solutions of the equation, sin x = *_ is

FHHNT sin x = X B Toll B G B

10
(A)3 (B)6 ©7 (D) 10
Value of 4sin9° sin21° sin39° sin51° sin69° sin81° is
sin54°
equal to
4sin9° sin21° sin39° sin51° siN69° sSiN81° 7 g 3
sin54°
(A) L (B) L (C) 1 (D) 1
16 32 8 4
2
lfcoto=_1 , then the value of ﬂ is
V3 2-sin’0
w1 ®) 2
5 5
© 3 (D) None of these
5
2
A coto= L & @ 1208 O gy 3
J3 2—sin’0
w1 ®) 2
S 5
©) g (D) T & T D

If sin o sin B —cos acos B + 1 =0, then the value of 1 + cot
atanBis
I sinasinp—cosocosB+1=0% @ 1+cotatanp
BT A B

(A) O (B) 1/2 (C)2 (D) -1

IfA, B, C e Qthen _ A s
B+C

A) always rational
rational when B =0
rational when C =0

rational when B + C =0

AAA,\
==

B
Cc
D
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PART - Il (PHYSICS) 9T - Il (fte fasm)

03 SAMPLE TEST PAPER
IR A, B,CeQd Ay
+C

Number of values of x satisfying M >2is *
X_
(A) O (B)1
(C) 2 (D) infinite .
wﬁm@ﬂﬁwmmmwaﬁm .
X_
G .
(A) O (B)1
(C) 2 (D) 3= .

Let ABCD is a rhombus. lts diagonals AC and BD intersect
at the point M and satisfy BD = 2AC. If the coordinates of D
and M are (1, 1) and (2, —1) respectively, the coordinates of

SECTION: (Maximum Marks : 90)

This section contains THIRTY questions
Each question has FOUR options (A), (B), (C) and (D).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
+3 If only the bubble corresponding to the correct option is
darkened

0 If none of the bubble is darkened
T @S q N U 2
UAd U ¥ =R fddeu (A), (B), (C) 921 (D) &1 ¥ =R
el 7 A Paa (b Aped T 3|
TP e ¥, el [APed & IwU gaigel Bl 31 3R T4
H Hre I |
3T AT
+3 IS % |81 Ahey & ™Y gagal DI Hlall (AT
VY |

0 Ifs ®IE W gogen Fren 9 fHa1 81

A are

ABCD v& ¥ agyw & fwa fawot AC vd BD fag M ™R M.
Prcdd § T BD = 2AC. Ifa Ddn M & fadena e
(1, 1) (2,-1) 8, @ A Fdens 2—
(A) (-3,-1/2) (B) (1, -3/2)
(C) (3/2,-1) (D) (1/2, -3)
Let AL be the median of the triangle with vertices A(2, 2),
B(6, —1) and C(7, 3). The equation of the line passing 42,
through (2, —4) and perpendicular to AL is
(A)3x+y—-2=0 (B)2x+y=0
(C)9x—-2y-26=0 (D) none of these
HHIfS 2Nl A2, 2), B(6, —1) 91 G(7, 3) | &4 arel Bt
B Aeaer AL R, @ fag (2, —4) | oA drell qe1 AL &
A YT BT FHIGRT & —
(A)3x+y—-2=0 (B)2x+y=0
(C)9x—2y—26=0 (D)5 ¥ PIE 78
Ifa e {ﬂ 2n} then the value of \‘[1 + sina — \/1 _sina
5
is equal to :
3
aﬁae |:7ﬂ:,2ﬂ::|gf(_‘h i1+sinq—1ﬂ—sin(1
1 A A 43,
(A) 2cos d (B) 2sin d
2 2
(C) -2 < (D) —2 si @
—2cos— —2sin—
2 2

The number of solutions of sin 2x + cos 4x = 2 in the interval
(0, 2m) is
ORI (0, 21) H FHIBRUT sin 2x + Cos 4x = 2 B Ball B
F= -

(A)O (B) 2 ©)3 (D) 4

A particle starts motion from rest with constant acceleration.
If displacement of particle in nth second is three times the
displacement in (n — 1)th second then find out value of n.

TH FHU fRMEERr 9 g @R 9 I uRe™ aRar 2
T nth HAHvS § F7 F1 fARRATA (n — 1)th FHvS § FU
1 faRemus &1 A9 A1 B, A n B A ST PN

(A) 1 sec (B) 2 sec

(C) 3 sec (D) 4 sec

In the figure below, block A has mass ma = 25 kg and block
B has mass mg = 10 kg. Both blocks move with constant
acceleration a = 2m/s? to the right due to an external force
applied on lower block, and the coefficient of static friction
between the two blocks is ps = 0.8. The frictional force
acting between the blocks is

A gefid fom # sfd A &1 S mjy = 25 kg TAT ©Ald
B &1 &M mg = 10 kg 2, Fael < R RIfUa 918y
9 & BRU M &b U0 @R a = 2m/s® F TRT AR
M #Rd B, dA Sl il D HH WiAe Gyl UMD
1= 0.8 8| =Bl & 7ed BRIV T gl B |

=]

A —>a
(A) 20 N (B)50 N
(C)78N (D) 196 N

In projectile motion of a particle under gravity on an inclined
plane (Assuming ground surface to be horizontal)

(A) Horizontal velocity is constant

(B) Vertical velocity is constant

(C) Velocity parallel to inclined plane is constant

(D) Velocity perpendicular to inclined plane is constant

T4 T W [od B A<Id JAR A H (SR Gas B
&forer wnfeR))

(A) &fst a1 frad

(B) Seafer 71 foRrd &

(C) 71d do & wAFaR 47 fad @

(D) Fd Il ® oad a7 fad §
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03  SAMPLE TEST PAPER

A constant force is applied perpendicular to rod as shown.
If the rod is having a resistance 10Q but rails zero
resistance then maximum speed (in m/s) of rod is : (rails are
very long and frictionless and magnetic field is 10 tesla)
RATER B8 & o aq (& Mad 9o ARG fdar s
2| Afe B8 H1 AR 10Q 8 «fdb 9eRAT B ufcRiy I
2| T4 B P A¥HdH At (Hey/Advs H) A HINTY |
(TR 95 o= 9 uYUEE § Td gR@E &5 10 Tl
z)

X X X X X X
30Q 10N
X x X X X X m
X X X X X X
(A)4 (B)2
(C)6 (D) None of these (379 I @1 &)

Which of the following is correct statement about an
isothermal change in a substance?

(A) volume cannot change  (B) volume must change
(C) volume may change (D) pressure must change

5 uerel 1 FHAT IR & aR A 9 7 9 P 91 9"
37

(A) I+ uRafida =& 8 d&ar

(B) 3maa= uRkafdd g

(C) smaa= afkafia & a&ar 8

(D) g9 uRafda grm

If Q, E, T and W denote respectively the heat added,change
in internal energy, change in temprature and the work done
in a closed cycle process, then which is wrong :

Ife T = Mad (Ts6) fshar 7 Q, E,T 3R W SHAMER,
STelt T 1, RS Hoil 7 uRadd, arg # gRdas iRk
g 1 B g 81, A PIET BUA TAd B —
(A)T=0 (ByQ=w

(C)E=0 (bya=o0

A particle is executing S.H.M. from mean position at 10cm
distance, acceleration is 20cm/sec? then value of angular
frequency will be

A 3MEd M PR B DU Pl Aed RIA | 10em B g4
TR RO 20cm/sec? B Al SH& BTN MIRT BT 719 BT

(A) \f§ rad/sec
(C) 10 rad/sec

(B) 4 rad/sec
(D) 15 rad/sec

Eatx=4mis
X=4m WE g

(B) =1V/m
(D) —2V/m

As more and more negative electric charge is being brought
to an isolated solid conducting sphere, inside the sphere
(A\) the electric field intensity and potential increases.

(B) the electric field intensity stays constant and the
potential increases.

50.

51.

52.

53.

54.

(C) the electric field intensity stays constant and the
potential decreases.

(D) the electric field intensity increases and the potential
decreases.

TS I SIF areT® el IR SR—3 3R 31f8d FeumeTd
3T AT Il B, Al el & oT_% —

(A) fogga &= @) digran den g qedr 2|

(B) faega &= @1 digan fa = @ den fava edn 2
(C) faera &= & <fean g W&t B Jen fawg wear 2|
(D) frega &3 &1 gan sedl 2 den fava =ed 3|

If the energy of a capacitor of capacitance 2uF is 0.16 joule,
then its potential difference will be

afe 2uF aiRar & |RT o Hoit 0.16 joule B A SHBT
fawarar grm—

(A) 800 V (B) 400 V

(C) 16 x 10*V (D) 16 x 1074V

A capacitor of capacitance 10uF is charged to a potential of
100 V. Now connecting it in parallel with an uncharged
capacitor, the resultant potential difference becomes 40
volt. The capacitance of this capacitor is

10pF TRTT & |emR= @7 100 V T mafdra fear mm &1
U IFEMARE WenRel o s9e I9rdk HY H§ Siisd W
gRum fa9ar=iR 40 volt B ST 8, 39 |aIiRaA &1 a1l
HT A B—
(A) 2.5pF
(C) 10uF

(B) 5uF
(D) 15pF

If the capacity of a spherical conductor is 1 picofarad, then
its diameter, would be :

Ife T Mol areid &) giiRar 1 Ue—ds 2, a1 saa
T B —

(A) 1.8 x 1023 m
(C)1.8 x 10°m

(B) 18 x 10°m
(D) 18 x 10" m

The moment of inertia of a solid sphere of mass M and
radius R about a tangential axis is

M %919 9 R 3501 &1 7% S Mol &1 390 g8 61 et
FAT g3 318 D AU TScd MYl HT A B ¢ |

(A) 2 yR? (B) 2Rz
3 5

© 2MR2 0) 7 MR2
3 5

A conical pendulum consists of a simple pendulum moving
in a horizontal circle as shown. C is the pivot, O the centre
of the circle in which the pendulum bob moves and o the

constant angular velocity of the bob. If L is the angular
momentum about point C, then

(A) L is constant
B) only direction of L is constant

(B)
(C) only magnitude of L is constant
(D) none of the above.

C
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03 SAMPLE TEST PAPER

o A <E SR U YHEIBR dledd H Wl diersd aifdst
TWRGAW T CYA TIOTH g0 & &5 ¢ o9 W ddd
@1 99 AT T 91 9 @ T e Td 021 IR C B

m—wm@n%[,aa—
(A)
(B)
©) L @1 dae uRemw fagg 8
(D) SR H BIg &I |

A constant torque actingon a uniform circular wheel
changes its angular momentum from A, to 4A, in 4 sec. the
magnitude of this torque is :

UF 4ad e e HHSU qRTER Uiy B B Ha
4 secH A, ¥ 4A, 6 URaffd w=ar 21 59 domget &
gRATT B :

(A) 4A, (B) Ao (C)3A./4 (D) 12A,

The equation of motion of a projectile is y = 12 x — 3/4 X2,
Given that g = 10 ms™. What is the range of the projectile?
TErRT T BT FHIARUT y = 12 x —3/4 x2 & TqAT g = 10 ms™2
2 @ wer @ W et

(A) 36m (B)30.6m (C)16m (D) 12.4m

A boy starts running from rest with constant acceleration. If
he covers a distance of S; in the first 10 seconds and S, in
the next 10 seconds, then choose the correct option.

UF dedh fRmERen 9 FAgd @R gRT 1fd yR™ &
21 IfY 98 Ugel 10 sec § S T TUT 37Tt 10 sec H S, §
T a1 B A1 T8l fdbed &1 T By

(A) Sz = S (B) S, = 2S;4

(C) S =38, (D) S2 = 4S;4
Energy dissipates in LCR circuit in :

(A) L only (B) C only

(C) R only (D) all of these
LCR uRuy # il 1+ 8l % -

(A) Baa L # (B) daat C#

(C) ®aat RH (D) SR Tl W

The centre of mass of a body :

(A) Lies always at the geometrical centre

(B) Lies always inside the body

(C) Lies always outside the body

(D) Lies within or outside the body

I B GITE DS

A) e A dg W Red giar 81
B) E¥eN 9% B <R Bl ¥
C) AN a%] & 9TexX &Il ¥

) %] P 3F_R AT FER BT B |

the figure a part of circuit is shown :

) current will flow from A to B

) current may flow from A to B

) current will flow from B to A

) the direction of current will depend on r.
AP r B
o )

20V L ~WW oV

getaT T o U ufRkuer &1 9T B
(A) &RT A B 91 3R yarfed grl |
(B) IRT A ¥ B 9 3R yarfed & |l B
(C) gRT B A &) 3% yarfed 2rfY |
(D)

(
(D
In
(A
(B
(C
(D

D) g% Uarg &1 faen r ® AR ol |

61.

62.

63.

64.

65.

66.

When the separation between two charges is decreased,
the electric potential energy of the charges

(A) increases

(B) decreases

(C) may increase or decrease

(D) remains the same

9 S ANY & A D N ") SR @ @ idE @

agd Rerferst Foil —
A) gl B B) Tl B |
(C)9g a1 ue |ahdl 21 (D) fgd & 21

A wire is wound on a long rod of material of relative
permeability p, = 4000 to make a solenoid. If the current
through the wire is 5 A and number of turns per unit length
is 1000 per metre, then the magnetic field inside the
solenoid is :

TP GR B U ol B Tad] UG Freerd TR
= 4000 ® TR <Uc o gR-fere a-1g ol & afg ar |

yqifed ORT 5 A ® T1 Ui Hiexr =g § BRI 6 9w

1000 & dl URAMADT & =R RSB &3 FId PRI —

(A) 25.12mT (B)12.56 mT

(C)1256 T (D)25.12T

A uniform magnetic field exists in region given by

B=3i+4]+5k. Arod of length 5 m is placed along y —axis

is moved along x— axis with constant speed 1 m/sec. Then
induced e.m.f. in the rod will be:
(A) zero (B)25v
(C)20v (D)15v
¥l I § U T gD &3 B, B =3i + 4]+ 5k &N
Uefd oxd 81 y-3iE @ ey & 57 Wl Bs @
x-feem § 1 /9 & a9 ord 9 7099 9= 21 @ B

wRuRa fa a1 9 &1 99 28—

(A) T (B)25v

(C)20v (D)15v

If the normal force is doubled, the co-efficient of friction is :
(A) halved (B) doubled

(C) tripled (D) not changed

gfe siffer g1 g1 B WY a1 TN o B

(A) e (B) T

(C) AT (D) sruRafcla

A rigid body moves a distance of 10 m along a straight line
under the action of a force of 5 N. If the work done by this
force on the body is 25 joules, the angle which the force
makes with the direction of motion of the body is

% g 9] 5N I & 31fi9 T WXl N1 B Iy 10 m
N TI B 2| A 39 99 g 9%g WR A ™ R
25 5[ & <1 9] B T B IR B AT gA gRT AR
TR BT B —

(A) 00 (B) 302

(C) 60° (D) 90°

If the frequency of light in a photoelectric experiment is
doubled then maximum kinetic energy of photoelectron

(A) be doubled

(B) be halved

(C) become more than double

(D) become less than double

Ife geprer faga v TN F gHTer 7 SRy B g aN
Tl Picgede oI AfRHad Tt Sl
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03  SAMPLE TEST PAPER

A particle of mass M at rest decays into two particles of
masses my and Mo having non zero velocities. The ratio of

the de Broglie wavelengths of the particles, A ¢/Ao is

M A BT ReR &Y my @ my, GAM & &1 ghsl |
faq & S € d1 g 9 Y™ AR Bl FON B
Sr—arell aRed 1 g FAfd aq/n,

m m
i (B) 2
2 m1

) /&
m1

Let Fgp, Fon and Fqn denote the magnitudes of the nuclear
force by a proton on a proton, by a proton on a neutron and
by a neutron on a neutron respectively. When the
separation is 1 fm,

Fep, Fon 3R Fpy PR UEH-UIRH, URH—ggH 3R
IEA—gSH & 72 & WO g B gRAT B A 1 fm
BH T W -

(A) Fop> Fpn = Fn (B) Fop= Fpn = Fin

(C) Fop> Fon > Fan (D) Fop< Fon = Fan

A free neutron decays into a proton, an electron and :

(A) A neutrino (B) An antineutrino

(C) An a-particle (D) A B-particle

Udh Jad <IgiA faafed gax T UIeH, & geldgid 3R
e gear 2 ¢

PART - lll (CHEMISTRY) 9T - lll Rmg+ fsm)

Atomic masses (W] 9R) : [H=1,D =2, Li=7 C =12,

N=14, O = 16, F = 19, Na = 23, Mg = 24,
Al=27,Si=28,P=31,S=32,Cl=35.5, K=39, Ca =40,
Cr = 52, Mn = 55 Fe = 56, Cu = 635,
Zn = 65, As = 75, Br = 80, Ag = 108, | = 127, Ba = 137,
Hg = 200, Pb = 207]

SECTION: (Maximum Marks : 90)

This section contains THIRTY questions
Each question has FOUR options (A), (B), (C) and (D).
ONLY ONE of these four option is correct
For each question, darken the bubble corresponding to the
correct option in the ORS
Marking scheme :
+3 If only the bubble corresponding to the correct option is
darkened

0 If none of the bubble is darkened
9 @ 4 99 U B
9% 7T § IR fAdew (A), (B), (C) @2 (D) €1 39 IR
famedi # & B TP Ahed T 2|
TS Yo H, A8 fAFed & gy gagel B 3 IR TH.
A HTAT W |
3P IS :
+3 S Ry | fadhed & IFHU gelgel DI Hlell fHAT TY |

(A) T I A (B) v T I A 0 IR P N gegel P 4 BT A |
(C) U o-® H (D) U& p-&Hu1 H
70. Initially interference is observed with the entire 71. A solution is prepared by urea and water. If mole fraction of
experimental set up inside a chamber filled with air, Now water is 0.8 in the solution. Find the ratio of mass of urea &
the chamber is evacuated. With the same source of light water
used, a careful observer will find that ' RreraT I RergT &
(A) The interference pattern is almost absent as it is very q‘ﬁm 9 STel &N T R i o
ek diffused P! A = 0.88 T IRAT 9 O & FHAM B (U
(B) There is no change in the interference pattern T DI |
(C) The fringe width is slightly decreased 5 6
(D) The fringe width is slightly increased (A) = (B) —
TR H ISR a1g W WX TY BE D e} UG el 6 5
& A UfEa BT 21 o dE @1 faaifad fem S 2 1 4
T UHRT F WG B UYEd Fd g¢ U Jerdh Ui § o (C)? (D)T
(A) BT GRS T SrguRerd &1 & fe 7' 95 . . o
R fal 72.  Which of the following statements about chemisorption is
B & ] ! not applicable?
(B) =ftrvor wfereu # g gRad- el &l 8 | (A) It involves chemical forces between adsorbent and
(C) fibsT dIere T Tl & | absorbate
5 e R Sed! (B) It is irreversible in nature
(D) Bt =irs =21 (C) It involves high heat of adsorption
(D) It does not require activation energy
TS ARy & ded § e A A I $U an
& B8 7
(A) 3rfEreny® qen il & da RG99 o T © |
(B) T8 URfa # rgahAvig &l & |
(C) TE AfeNor P Iz ST 3@ 2 |
(D) SH¥ Afhgor Sl B sMahHar 8l el & |
73. Number of 3 centre-2-electron bond in B;H.

B.Hs #, 3 B5-2-gclaeid &= &1 Il sy ?
(A) 1

(B) 2
(C)3
(D)4
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03  SAMPLE TEST PAPER

Two gas samples are separated by a conducting frictionless
piston as shown in the figure :

If the piston is in equilibrium in the position shown. Then
which of the following statement is incorrect :

P. B B
gas A X“ z ;:’V‘* gas B
T H T
«— [ —> «—3(—>
(A)Ta=Ts (B) Pa =Pg
(C) ng = 3na

(D) Total K.E. of Gas A = 3x Total K.E. of gas B
o A <9l SgER 1 I A B Aol gyuRMEd e
(conducting frictionless piston) &RT Yo® R B AR
TN T RIT AT g § 8 @ = 3 @
BT B TTeAd & —
(A)Ta=Ts
(C) Ng = 3nA
(D) A H Ha T Holl = 3x T Bl Fol ol FHotl

In the closest packing of atoms,

(A) the size of tetrahedral void is greater than that of
octahedral void

(B) the size of tetrahedral void is smaller than that of
octahedral void

(C) the size of tetrahedral void is equal to that of octahedral
void

(D) the size of tetrahedral void may be greater or smaller or
equal to that of octahedral void depending upon the size of
atoms. _ _

AN & Ffds dgad 4,

(A) TIHDIT fog &1 ATHR ICHADT Fx B JoI A
AfH 2 |

(B) TS B8 $T JMHR JICHADY g BT ol 3
P B

(C) Tgsharhd s &1 IR ICHAD B8 & RER 2|
(D) Tgha® g fow o1 IMFR ICHaADT o ¥ Bier A
1 AT WA B WA © | YT AYSN B APR W R e

2|

lonic compounds have -

(A) low melting and high boiling points.
(B) high melting and low boiling points.
(C) low melting and low boiling points.
(D) high melting and high boiling points.
amafe NS e 7 —

(A) 91 TTeTT® @ Sea WS

(B) S Tod® 9 4 TS

(C) =1 e 9 79 TS

(D) S=a TA-® 9 ITd FaATDH

(B) P =Pg

For the combustion reaction at 298 K

298 K W <&+ Jfdfepar & forg

2Ag (s) + %Oz (9) = 2Ag20(s)

Which of the following relation will be true ?
ffoled #§ & @9 Ga 98 2 ?
(A) AH = AE (B) AH > AE

(C) AH < AE

(D) AH and AE bear no relationship with each other
AH TN AE U& TR & A1 $IS A6y ol & 2

78.

79.

80.

81.

Acidic strength of oxyacids and hydrides :
(A) Increases down the group

(B) Decreases down the group

(C) Decreases in a period

(D) Increases in a period

JifaIeral 9 Beggel @l 3Tt |y :
(A) T F 0 TN W 931 B

(B) T # St M WX HedT ® 1

(C) T arad ¥ Hedl 2|

(D) T Aad # qedl B |

Fluorine has the highest electronegativity among the ns?
np° group on the Pauling scale, but the electron affinity of
fluorine is less than that of chlorine because :

(A) the atomic number of fluorine is less than that of
chlorine.

(B) fluorine being the first member of the family behaves in
an unusual manner.

(C) chlorine can accommodate an electron better than
fluorine by utilising its vacant 3d—orbital.

(D) small size, high electron density and an increased electron
repulsion makes additon of an electron to fluorine less
favourable than that in the case of chlorine in isolated stage.
GiferT A9SHH & AR ns? np® T H TARE TaH TG
fagrarol 21 afed 7R & seleR 9y, @ |
¥ Bl 8, HIfS

(A) FANI HT TRATY] 1S AR & $HH BT B |

(B) FlRI9 @ &1 Ugell A<y 2, S9feid A 3Tl dER
FAT B |

(C) FeIRIF R 3d-F&d o SYINT FaH I 3B T8
BRP [P Solagd W@ qhdl 2 |

(D) BT MHR ITd Soide [ T-cd AR Forae = Afadyor J
gfg & RO fAAfa sEwen § FdRE @ god 3 TN
# TS B JeAT FH M B |

Steam undergoes decomposition at high temperature as
per the reaction :

HATHIT AR I=a Y WR A9 P fdged 77 ypR
&I &

— 1
H.O(g) = Ha(g) + S 0O2(g) , AH® = 200 kJ mol-' AS®? =

40 kJ mol™,

The temperature at which equilibrium constant is unity is :
T, 9 TR Ar-fdis 33T 8T, 98 R

(A) 3000 Kelvin

(B) 5000 Kelvin

(C) 5333 Kelvin

(D) 5 Kelvin

Which of the following is not an ambidentate ligand ?

9 7 | 1 & INIEYS (ambidentate) forivs 781 § 2

A) CN-
B) SCN-
C) NHs
)

(
(
(
(D) NO-~

Resonance

Educating for better tomorrow

Our Hyderabad Centres :
Madhapur | Kukatpally | Tarnaka | West Maredpally | Dundigal | Medchal
Reach us : +91-9121219858 / www.resonancehyderabad.com




82.

83.

84.

85.

86.

87.

—— Hyderabad Centre —
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The standard electrode potentials (reduction) of Pt/Fe?* |
Fe®* and Pt/Sn**, Sn?* are + 0.77 V and 0.15 V respectively
at 25° C. The standard EMF of the reaction Sn* + 2Fe®
—— Sn* + 2Fe*is

25°C R Pt/Fe?*, Fe® g PY/Sn*, Sn?* & AM® soidcls fayd

(3r=rg=) ®Ee +0.77 V3 0.15 V 8 | rfafsear

Sn** + 2Fe?* — 5 Sn?* 4+ 2Fe® &1 AF® A.a1dd 2 -
(A) - 0.62 V (B)-0.92V

(C)+0.31V (D) +0.85V

In vander Waal's equation of state of the gas law, the
constant ‘b’ is a measure of :

(A) Intermolecular collisions per unit volume

(B) Intermolecular attractions

(C) Volume occupied by the molecules

(D) Intermolecular repulsions

qrex aId Bl FAT FHIGRY H FRAe b [HHs A

2|

(A) UTY SHBTE ATTH B Fqifvdd <Fh
(B) 3r=<difoaes Smapyor

(C) 31u[3il RIT ERT T IARITH

(D) eraafigs ufqedor

The complex [Pt(NHs)4]** has ..... structure :
(A) square planar (B) tetrahedral
(C) pyramidal (D) pentagonal

ARA [PUNHa)g]?* oo FLEAT Y& B
(A) TR FHAA (B) IgHADIT
(C) farifasa (D) TSt

Among PbO,, H,O, , SrO, and BaO; which does not contain
peroxide ion is :

PbO;, H:0: , SrO, @ BaO, # ¥ $IF WRidSS A9 8l
IGAT §

(A)H:0, (B)SrO. (C)PbO, (D) KO;

Condensation product of caprolactum is :

(A) nylon-6 (B) nylon-6, 6

(C) nylon-60 (D) nylon-6, 10
PMAFCH T TG F DA IS W BT B -
(A) TIAT-6 (B) IT+1-6, 6

(C) AI& -60 (D) ATge-6, 10

Borax on heating strongly above its melting point melts to a
liquid, which then solidifies to a transparent mass
commonly known as borax-bead. The transparent glassy
mass consists of :

(A) sodium pyroborate

(B) boric anhydride

(C) sodium meta-borate

(D) boric anhydride and sodium metaborate

IR 39D TAND ¥ SR Jged WY A T A TR G |

gRafdd 81 9Iar 2, o 6 ue uReel g9 & w9 4 o™
¥ geodl B | U8 GHUD: NG HAB] B WU § G ST
2, IReYl &fg S99 g9E o &1 941 311 B-

88.

89.

90.

91.

92.

93.

Arrange the following compounds in the increasing order of
F—Xe—F bond angle :

frfaaa dffai &1 F -Xe- F 9741 &0 & §¢d g %A A
FaRerd B |

XeF,, XeF,, XeFs™

(A) XeF; < XeF4 < XeFs(B) XeFs < XeF4 < XeF»

(C) XeF, < XeFs < XeF4 (D) XeF, = XeF4 = XeFs~

Select the correct statements

(A) Oxides of boron (B,O3) and silicon (SiO,) are acidic in
nature.

(B) Oxides of aluminium (Al,O3) and gallium (Ga,Os) are
amphoteric in nature.

(C) Oxides of germanium (GeO,) and tin (SnO,) are acidic
in nature.

(D) both (A) and (B)

HE HUAT BT =TI BIOI |

(A) IR (B.0s) T2 fiferdid (Si0,) & difdargs iy
THfd & B B

(B) TFHTT  (AlLOs) TAT @ (GaQs) @ JATFASS
IuerEt gl @ 8 2

(C) STHTIM (GeQ,) @l e (Sn0y) & JifAES ey
UEf[ S B B

(D) (A) Term (B) a1

Which of the following is Glycerol or Glycerine?

= § 9 s ffawia a1 fiaal= 87
A) CH,—CH,—CH; (8) CH,—CH —~CH,
H H H

(c) CH,—CH-CH,

OH
(D)CHZ—(%—CH3
H OH OH OH

Which of the following oxides is acidic in nature?
= | B sifedrss ol uHfa &1 8 ?
(A) B2Og (B) Al.Os

(C) Ga205 (D) In203

Which of the following species should be aromatic by the
Huckel rule ?

ghd A @ 3ER 7 § | 3 Aife wEfes 8
ey |

(D) All of these STRIaT w41

Total number of sterecisomers of compound is :

= A & o fas faw |eEedr 86 °?

CH, —CH-CH-CH,

]
OH Br
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Which of the following will not undergo aldol condensation
reaction ?

(A) CHsCHO (B) CHsCH.CHO

(C) CD;CHO (D) PhCHO

1 & & o Afe vt Gow sififisar & a1 & °
(A) CHsCHO (B) CHsCH.CHO

(C) CD;CHO (D) PhCHO

When 1, 1, 2, 2-tetrabromopropane is heated with zinc
powder in alcohol, which of the following is formed :

(A) propyne (B) propene

(C) propane (D) propadiene

T 1, 1, 2, 2SS BT Zn ot & WY Yobleied §
™ & @ ', O 9T 8

(A) graTEa (B) urd=

(C) WU+ (RIRISEES]

One mole of a symmetrical alkene on ozonolysis gives two
moles of an aldehyde having a molecular mass of 44 u. The
alkene is :

(A) propane (B) 1-butene

(C) 2-butene (D) ethene

U AT Yo & T HIe Bl NG AYESH B R

1% YfesEse @ Q1 A U B SR 59 UfecErss @
foad SAE 44 u B | Vobd © -

(A) 9= (B) -5
(C) 2-%gEH (D) Wi
Monomer of celluose is

(A) Fructose (B) Maltose
(C) Sucrose (D) Glucose
A BT ThHeld & |

(A) e (B) ATeerd
(C) g (D) 1

Correct IUPAC nomenclature of given compound is :

: _Br

Cl
(A) 1-Bromo-3-chlorocyclohex-4-ene.
(B) 3-Bromo-5-chlorocyclohex-1-ene.
(C) 4-Bromo-6-chlorocyclohex-1-ene.
(D) 5-Bromo-3-chlorocyclohex-1-ene.

I W e o1 W IUPACHH B

: _Br

Cl
A) 1-S91-3-FAR TS FA TR R -4-§ 7
B) 3-811-5-FaR IS Feiledd-1-59
C) 4-8MH1-6-FR A FARad-1-8+1
)

(
(
(
(D) 5-8HI-3-FARIAS Il e Rd-1-89

ko, kK
ootk ol
Dol itk
99. The product of following reaction is :
CH4sCHy—CH,Cl — 81288, (py
AICl,
(A) Toluene
(B) o-xylene
(C) propylbenzene
(D) cumene (isopropylbenzene)
1 srfafshan &1 Sare 2 ¢
CHaCH—CH,Cl —22N28e 5 (p)
AICI,
(A) STeEe
(B) o-uirgel=
(C) MfuTa=i
(D) FgH (e UeTd i)
100. Identify correct relation between following compounds :
CH=0 H
H—+—NH, _q NH,——CH=0
HO —+—Me Me ———OH
CH, CH,
(A) Enantiomers (B) Diastereomers
(C) Identical (D) Position isomers
I W A 9 a9 w9 gasd |
CH=0 H
H——NH, oo NH,—t—CH=0
HO ——Me Me ———OH
CH, CH,
(A) ufcferredl FaTaad! (B) faaRke demaadr
(C) vy (D) Rerfar FoTwdT
ANSWER KEY TO SAMPLE TEST PAPER-3
1. (C) 2. (B) 3. (A) 4. (B) 5 (A
6. (A) 7. (C) 8 (A) 9. (B) 10. (A)
11. (C) 12. (C) 13. (D) 14. (B) 15. (D)
16. (B) 17. (D) 18. (C) 19. (A) 20. (A)
21. (A) 22. (A) 23. (B) 24. (C) 25. (A)
26. (B) 27. (B) 28. (B) 29. (B) 30. (A)
31. (C) 32. (C) 33 (C) 34 (A) 35 (D)
36. (A) 37. (B) 38 (C) 39. (D) 40. (A)
41. (B) 42. (A) 43. (A) 44. (A) 45. (C)
46. (D) 47. (A) 48. (C) 49. (C) 50. (B)
51. (D) 52. (B) 53. (D) 54. (C) 55. (C)
56. (C) 57. (C) 58. (C) 59. (D) 60. (B)
61. (C) 62. (D) 63. (B) 64 (D) 65. (C)
66. (C) 67. (C) 68. (B) 69. (B) 70. (D)
71. (A) 72. (D) 73. (B) 74. (D) 75. (B)
76. (D) 77. (C) 78. (D) 79. (D) 80. (D)
81. (C) 82. (A) 83 (C) 8. (A) 85 (O
86. (A) 87. (D) 88 (B) 89. (D) 90. (C)
91. (A) 92. (D) 93. (B) 94. (D) 95. (A)
96. (C) 97. (D) 98. (D) 99. (D) 100. (C)
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P T
5 7
1+ —
2
t4 - 100:3 57 25 X3
greatest coefficient = °C; 57 2° Ans. (A)

*, %k ok, ok %k
e kA I
03 SAMPLE TEST PAPER \ ***;*
HINTS & SOLUTIONS TO SAMPLE TEST PAPER-3 7. 2C, 4+20C,_, = 2+1C, = (2n+1)!
nl(n+1)!
2v° 2n +2)!
2ae = —— = (2n+2)(2n+1)! =1
a 2(n+1) n I(n+1)! 2 (n+ D (n+1)!
7 (9 n In+9) (n+1)(n+1)
b2 _Tlen+2
= a’e=b? = e:—2 = e=1-¢2 —5 Cn+1
a
2 o=
ere-1=0 8. X2+y2+2x+4y+1=0
-1+ J5 Centre (#7%) = (-1, -2)
2 Radius (B3rsan) = v1+4 -
— ve rejected '
T
_"[5_1_ 2 OA:2005§:2.E:
2 (5+1)
, " 10. S'P+SP=2a
2x°+ 9 |x| -
— 2x2+9x|-5=0 — 2Ix2+10[x| - [x|-5=0 a- V2+1
1 2ae=SS'=2 Le=.42 1
= 2IX| (x| +5)-1(|x| +5) =0 = |x]= =5 or E
|| = — 5 is impossible 1 13. 4 digit number [3]4 [3]2]=72; 5 digit hnumber = 120
if |x = — = |x| =+ — two solutions Total way = 192 o _
2 2 4 3P B G [3]2 [3]2]=72; 531D B G&T = 120
A Wb = 192
log, (log, @)
=2l "I Y _ |oga(logsa). 10G54, 1) P 61 6.5.4
log, (log, b) 15. Total ways & @& = 6C5.3! = 6.292% 5_120
| 31
= — loga(logab). 10g,4. 1) O , 313! ®
= —logab 16. Let eccentricity of hyperbola X__ Y _Aise
5cos® o,
1 Then 5cos?a = 5(e? - 1)
N =logs 79. logws 3 . logs — cos?o = e2—1
8 e? = cos?a + 1
= logs 79. log ,3.logs2732 Let eccentricity of ellipse x?seca + y?>=5is e’.
2 2
1 then 500J:1—e’2 = e'?2=1-cos’a
=logs 79 log> 3 (- 3) logs2
-3 . JBe' _ or_ge
—logs 79 . 10gs 3 . logs2 = logs79 Here g|vzen that e = , = e?=3e
Now 25 <79 <125 :>COS;1+1=3(1—cos)
— 10gs25 < l0gs75 < logs125 = 3 = 4cos*a =2
a=2,b=3 costa=1 = cosa=_1 = a="
2 <2 4
x3(x —1)%(x +4) o
(X N 1)(X _3) = 18. Letfocusis (a, 0)
X(X+ 4) /
—_— and x=1
(x+1)(x-3) ‘ (2,0)
= -4 -1 0 3 and x =1
= Xe (-, -4 u=1,0]uUB ») ul} o 0J2ra=2:>a=4
Term of greatest coeffiecient means numerically greatest
focus = (4, 0)
term when x = 1
22. Clearly(x,x)eR V xeW

= Ris reflexive

Let (x,y) € R, then (y,x) e R

[+ x,y have at least one letter in common]
= R is symmetric.

But R is not transitive

Weed: (X, X) e R ¥V xeW
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03 SAMPLE TEST PAPER Ko kX
*
= 3% R¥g Bl 1 B
A y) € R A (v, X) € R 33. °°t9=§=5
[ xThyH &9 4 $9 U 3R IHIMS 8 > J3)2 + (1)
—  REPE & A ETE T H= VPP +B? o o VVSP+F Ja s
B 1
23. p+g=PpP = 20+9=0 .o, (1) SQCOSO:ﬁ:E
pa=q = q(p-1)=0
g =0 ot [Ahip=d andsinﬂ:Ezﬁ
When q=0,thenp=0 H )
e q=0% @ p=0 1
When p =1, then q=-2 2 1-— 3
\_T|—5[p=1%,&_'ﬁq=0 80,1 CO'SZO= 4= A =§.
2-sin®0 ,_3 % 5
24. Here each term is non-negative, thus each must be equal 4

to zero simultaneously,

X—4/=0 & (x+2?2=08& ‘AX2+3X+2=0 34. cos a cosP —sina sinp = 1

ie. cos (a+fp) =1
= X=x2 & >|<:.—2. & x==—1,-2 so+P=2nn
- Colmon-Solution 15 %= =2 1+cotatan (2nm—a) =1+ cota (—tan a) =0
TEf TS U SFUTHS IMd: 31 TS U8 LI & N6

B | X—5 _ _
= 36. If x>5 >2 1> 2 not possible ¥1a &l
IX2—4]=0 & (X+22=0& X2 +3x+2 =0 Xx—5
= X=%2 & x=-2 & x=—1,-2 x<5 -1>2 not true I &I
I SIS & x =— 2 BRI | x#5
25. -2x2+6x-9 13
=—(2x2—6x+9) <0, Vx 38. L (—1}
{+D=86-72<0) 2
thus LH.S.>0 ¥Vxand RH.S. <0 Vv x 1-92 2
no solution slope at AL = ———— = ——
13 5 9
26. 1,a,,as........ F- T are in A.P. (Common diff. = d) ?_
1,by,bs......... bp oo are in G.P. (Common ratio =r) AR 2)
a9=1+8d,bg=1.r8 ’
9
Now 5 [2.1 + 8d] = 369
9(1 + 4d) = 369 = 1+4d =41
4d =40 = d=10 B(6.—1) o C(7,3)
= =3 r:\/§ ,
b;=1.r°=3%=27 slope of the line perpendicular to the line AL is E

27. (AuB)={1,2,3,4,5, 6}
C={1,2,3,491]

The equation of the required lineis y + 4 =— (x — 2)
(AUB)Y~C' ={1,2,3,4} 2

9x—-2y—-26=0
20. Side 1,1, V2 : :
] 242 39, Now ~1+Sina_ J1-sina
M= = 2 2
2— \/E 2 =J[cos%+sin%} - \/(cos%—sin%]
fy= i . r_1: \;@+1 o “
J2 I = lcos = +sin=| - |cos < - sin<
2 2 2 2
4sin9° sin21° sin39° sin51° sin69° sin81°
32. - o a . a .o
sin54° =— (cosE+sin§J + (COSE—SIHE] =—2sin >
_ 4sin9°cos9° . sin39°cos39°sin21°cos21°
sin54° ] [ 3_Tt
_ sin18° . sin78°sin42° snee s =g
2sin54°
sin18° (cos36°-cos120°) 1
4 sin54° 8
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40.

41.

42,

43.

44.

47.

48.

49.

50.

51.
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sin 2X + cos 4x =2

= sin2x=1and (3R) cos 4x = 1 52.

_m on
272
51 oI 3
- XZO!_!TE!_

r
4’ 4" 2 2

= 2 and (3fR) 4x = 0, 2p, 4p , 6p

X =

No. common solution (P SHAN PHIT 7)) 53,

so number of solution is 0 (37TT: Eal @I T I)

a
sn=0+5(2n—1) 54.

S 0 a[z 3]
n-1=0+ —[2n —
1 2

E(2n—1)—35(2n—3)
2 2

(2n-1)=6n-9

4n =8 = n=2sec

Friction between the blocks is static (&l ® #ed =Y
w©fas 2 1)

=2 m/s
B
> fs
fs=20N
Components of acceleration of particle parallel and 55

perpendicular to the inclined plane is non zero. Hence
velocity of particle is varying with time along and
perpendicular to inclined surface.

T A B T T TR T P @@ B HCE I =8
¥, 31d: BT BT I T D A1 39 <1 fewmeh ¥ ufkafdd
BT |
When speed U that 9 a1 UB 57.
Peu = IR
(V.10.1) 100V*
oV-= V= =V=4m/s
a=m?X
o= V[E rad/sec
av 60.
~ dx
On spreading the negative charge on the surface of sphere,
field intensity will remain zero but potential will decrease.
el & |Ag R RUTHAS A9 $o W, [aga &3
et 3= R e fawg wem
cv?
W =
5 61.
ve=2U_2x0.16  —  y._400 Volt
C 2x10°
Vo VG, +V,C,
C,+C, 62.
400 — 100x10+0
C,+GC,
C1 + Cz =25 MF 63.
C,=25-10 =15 uF

%, % &,k %
* *
A Sk Xk
K ark
C = 4nggR
R = =9x102x 102=9 x 10°m
47'580

Diameter g =2R=2x9 x 10°% =18 x 10 m

- 2 +MR2= ZMR?
5 5

The direction of L is perpendicular to the line joining the bob
to point C. Since this line keeps changing its orientation in
space, direction of L keeps changing however as o is
constant, magnitude of L remain constant.

L3I fa=m, 915 8iR 85 C 31 M arell Y@ & oed 2|
e T8 v & srere ¥ =g uRafda @iar 21 36 o
&1 7 fd 8 g Wt Lo faem uRafda 8| den L &
aRmr faa 8em |

Aliter : The torque about point is perpendicular to the
angular momentum vector about point C. Hence it can only
change the direction of L, and not its magnitude.

fa=g e gargul o5 C & Aue HIUNg Hd & THaq
B o g8 bad L @l fRQEm &1 uRakia s g6
URHETY B e |

dl 4A,-A, (3Aoj

T - —
dt 4 4

y=12x _3 X2 =12 x 1-X
4 16

= Range = 16 m Ans.
1

S, =—a(10)’

1= 10)

S, +8, :%a(ZO)Z =S, = 3x%a(10)2

.Sy

S,

20V € 20-¢ r B
[

o L= 'VVV\IZV

Potential at C point may be greater than potential at point B.
Therefore current flow in resistance may be from B to A.

g C R fawa fag B R fwa & <1 81 §ahelt 2 | gfery
gfoRie § aRT B9 A yarfd & @t B

PE may increase may decrease depending on sign of
charges.

PEdc ! ¥ahal 2 3R T il Il 8 ol & i W)
fonfy @var 21

B = HoltNi
= 107 x 47 x 4000 x 1000 x 5
= 8T
= 2512T Ans. (D)
e=B.(Vx 1)
= (3i +4]+5K).[1i x5]]
€ = 25 volt.
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65.

66.

67.

68.

69.

70.

71.

72.

73.

74.
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p does not depend on normal reaction.

p e afaferar a1 o= R 98 Fvar B

25 =5 x 10 x cos0 s0 0 =60°

Einstein's formula g9 &1 93
kmax1 = eV1 + (])

if frequency is doubled, If JAGRT FTH H WY
Kmax2=€Va + ¢ > 2 Knax 1

il
P

Since the momenta of the two particles are equal, % are
same.

e T BON BT G A 8 I 37 ). U1 A B |

A=

Nuclear force is charge independent

AP T ATY A WA= I|d B AATT Ay W AU
T B |

nop+e+V

Da
W= —
since gfdb v = fi
since vacuum is made, A increased fringe width increases

gfe frata SuRerd 2, L gear 2 fhe ASE ged 2|

Wyea _ 0.2x60 _5
W 0.8x18 6

water

Wapar _ 0.2x60 _5
W, 08x18 6

Activation energy is required for chemical adsorption.

Irarafae srftrenyor & fore wafhaw $uif & sravgedar gxdl
=

H H
3C—2e
2C-2e

Since system is conducting frictionless
Hence Ta=Ts
and PA = PB
Since volume is different hence

N = SnA
e frer arcs dur givRfRd B |
Ad: Ta=Ts
d Pa=Pg
gfe maad = ® o

Ng = 3Na

75.

79.

80.

81.

82.

83.

84.

85.

*, % Kk, k&
e 5k F A
e Sk *

For tetrahedral voids (dgehadra Rfdmar & fo)

I -0.225

R

For octahedral voids (Tewaam Rfed & fom)

r-0414
R

There is more interelectronic repulsion in 2p-subshell of
fluorine than chlorine (3p). So extra electron will be added
easily in 3p-subshell of chlorine as compared to 2p-subshell
of fluorine.

FARE B 2p-SUBRT H TR BT (3p) SUBIY B oA
F e IR gelagie ufdwyer 8T 8 | safoy sifaRe
g AR W TR @ 3p-SUBIY A, FANN B 2p-
IYPTY B AT F G FHaAT 2 |

AGE = AH2 - TAS? = = RT In Keq = 0 [Keq = 1]

0 3
AW 200x10°

AS®  40x10°

Ligands which can ligate through either of two different
atoms present in it are called ambidentate ligands.
Examples of such ligands are the CN~, NO,~ and SCN"~
ions. NHs is not an ambidentate ligand

U forive & A A IuRerd a1 fafd=1 Al 4 |
foedl & 1 g1 I wdd &, 9= IugeHl forvs Fed B |
39 TBR B forfivsl @& I8 CN-, NO,~ 9elm SCN™ o
21 CO U SuueHi forvs =2 2|

0
Ecell = Esn4+ /Sn2+ + EO =0.15—0.77.

Fe2* /Fe®*

b = 4N x vi.e., total volume occupied by molecules of one
mole of gas in motion.
b=4Nxvie, td g f& afeaq sawen § e a9 &

ST gRT BRI 1 Hel A |

5d® configuration have higher CFSE and the complex is
thus square planar and diamagnetic.

5d 6s 6p
P2+, [Xe]4f' 5d8
RS [unIn ] [ [T 1]

[PUNHa)F 4] [1b[1V] %

dsp? hybrid orbitals
5d® fd=Ir STa CFSE T@dl & a1 6@ TMaR w9ad

e ufigEag §1

P2+, [Xe]4f™* 5d° > LI
| el [ [T 1]
e [ ]E] [E] [EE] ]
dsp? BT F&S

PbO; contains O ion ( Pb* O%) .
PbO,, O 394 T&@dl & ( Pb* O%)
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87.

88.

89.

90.

93.

96.

98.

NagB407 1 OHEO 4A) NazB407 # 2NaBOQ + BgOs

XeFs~ — 72¢
XeF4 — 902
XeF, — 180°

S, and S, are correct statements.
S:: GeO, is acidic while SnO, is amphoteric in nature.
S, d S, TE BT & |

S3: GeO, 3 2 i SnO, I UHA HT 2|

Fact & its [IUPAC is : Propan-1,2,3-triol
Ty T $9dT IUPAC M — WUH—1,2,3—¢TE3iTd 2 |

Unsymmetrical compound with 2 chiral centres has 22 = 4
stereoisomers.

At Aiffie S 6 2 fovd @ v@ar g8, 22 = 4 f3fam
HHEgd B 2

CnH2nO = 44
CnHon = 44 — 16
CnHapn = 28
n=2

0,/2Zn
CH;~CH=CH-CH; ————> CHs-CH=0

6

y 5 _Br
2 4
3

Cl
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